
Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

1 DISCONTINUED -backboard _ _ 5/14/2020

1-900PL PRINTED LID LABELS _ _ 9/26/2023

1-916INSERT DISCONTINUED -PLASTIC INSER _ _ 6/17/2020

1-920INSERT DISCONTINUED - PLASTIC INSE _ _ 2/19/2019

1-924INSERT DISCONTINUED - PLASTIC INSE _ _ 3/4/2019

1-932INSERT DISCONTINUED - 32 COMPART I _ _ 6/30/2021

1-HTWD DISCONTINUED ONTINUED
HOSE _ _ 3/30/2021

1-KS DISCONTINUED - KEY STOCK
RA _ _ 6/30/2021

1-TR DISCONTINUED - THREADED RO _ _ 9/21/2022

10-HCR 10 LOOP HOSE CLAMP RACK _ _ 12/19/2022

10008 HOLLOW WALL ANCHORS 1/8
LON _ _ 1/3/2022

10010 HOLLOW WALL ANCHORS 3/16
LO _ _ 6/27/2023

10018 TOGGLE BOLTS 1/4-20 X 4 _ _ 1/2/2023

1003 DISCONTINUED - FLEXIBLE EPO _ _ 12/20/2013

1004 DISCONTINUED - HARD
SETTING _ _ 9/21/2022

10047 DISCONTINUED - EXTRUDED U
N _ _ 1/28/2019

1005 AUVECO-FLEX EPOXY REPAIR KI _ _ 6/15/2022

10059 CABLE CLIPS 9/16 - 3/4 _ _ 10/4/2021

1006 AUVECO RIGID-SET EPOXY
REPA _ _ 7/12/2023

10072 DISCONTINUED .-TUBULAR NUT _ _ 10/29/2010

10078 DISCONTINUED - 1/2-13 X 1 3 _ _ 6/20/2014

10079 DISCONTINUED - 1/2-13 X 1 3 _ _ 2/6/2015

1008 EPOXY STICKS - 1 CASE = 24 _ _ 6/16/2021

10080 GRILLE FASTENER - CHRYSLER _ _ 10/4/2021

10083 DISCONTINUED - 1/2-13 X 1 3 _ _ 11/10/2014

10116 DISCONTINUED - RETAINING RI _ _ 6/29/2021

10178 DISCONTINUED - #8 X 1 1/4 P _ _ 6/29/2021

10186 DISCONTINUED - TIRE VALVES _ _ 6/29/2021

10188 DISCONTINUED - TIRE VALVES _ _ 4/22/2015

10197 DISCONTINUED - TIRE VALVES _ _ 6/29/2021

10198 DISCONTINUED - TIRE VALVES _ _ 6/29/2021

10204 DISCONTINUED - TIRE VALVES _ _ 2/10/2015

10224 DISCONTINUED -HEADLIGHT
ADJ _ _ 12/10/2008

10285 DISCONTINUED - NUTSERT 5/1 _ _ 6/29/2021

10286 DISCONTINUED ONTINUED
NUTS _ _ 6/29/2021

10296 DISCONTINUED - 3/8-16 X 1 I _ _ 10/6/2014

10322 MOULDING CLIP - VW _ _ 4/6/2021

10339 DISCONTINUED -AVEX BLIND RI _ _ 10/22/2010

10347 DISCONTINUED -BLIND RIVET 10345 REPLACEMENT FOR DISC 12/10/2008



ITEM

10348 DISCONTINUED - AVEX BLIND R _ _ 8/10/2017

10349 DISCONTINUED - AVEX BLIND R _ _ 6/1/2016

10350 DISCONTINUED - AVEX BLIND R _ _ 6/29/2021

10351 DISCONTINUED - AVEX BLIND _ _ 6/29/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

10352 DISCONTINUED - AVEX BLIND _ _ 6/29/2021

10354 DISCONTINUED - AVEX BLIND R _ _ 12/4/2015

10355 DISCONTINUED - AVEX BLIND R _ _ 12/1/2015

10356 DISCONTINUED - AVEX BLIND R _ _ 12/1/2015

10369 DISCONTINUED -INSTRUMENT
PA _ _ 6/12/2008

10388 DISCONTINUED - INTERNAL HAI _ _ 3/12/2013

10389 DISCONTINUED -INTERNAL
HAIR _ _ 2/29/2012

104 DISCONTINUED - BRASS FITTIN _ _ 11/6/2013

10401 DISCONTINUED - U NUT #8 SCR _ _ 8/5/2015

10432 DISCONTINUED - DIN 85 - 5MM _ _ 11/14/2011

10436 DIN 85 - 6MM X 10MM MACHINE _ _ 1/2/2023

10439 DISCONTINUED - DIN 85-6MM X _ _ 6/29/2021

10442 DISCONTINUED - DIN 85 - 6MM _ _ 8/5/2014

10463 DISCONTINUED - DIN 84 - 6MM _ _ 7/24/2014

10464 DIN 84 - 6MM X 20MM MACHINE _ _ 1/2/2023

10466 DISCONTINUED - DIN 84 - 6MM _ _ 3/2/2016

10476 DISCONTINUED - DIN 84 - 10M _ _ 6/29/2021

10480 DISCONTINUED - 4-.70 X 8MM _ _ 6/29/2021

10488 DIN 963 - 6MM X 25MM MACHIN _ _ 8/2/2021

10497 DISCONTINUED - DIN 963 - 10 _ _ 6/29/2021

10498 DISCONTINUED - DIN 963 - 10 _ _ 6/29/2021

10531 DISCONTINUED - 8-1.25 X 65M _ _ 8/5/2015

10554 DISCONTINUED - 2MM X 20MM
A _ _ 6/29/2021

10555 DISCONTINUED -2MM X 22MM
DI 10556 REPLACEMENT FOR DISC

ITEM 3/7/2008

10562 DISCONTINUED - 4MM X 32MM
A _ _ 6/29/2021

10563 DISCONTINUED - 4MM X 35MM
A _ _ 6/29/2021

10565 DISCONTINUED - 5MM X 32MM
A _ _ 8/17/2017

10594 DISCONTINUED -7MM DIN 137B _ _ 12/23/2010

10597 DISCONTINUED -12MM DIN
137B _ _ 8/13/2010

10625 DISCONTINUED - REVEAL
MOULD _ _ 6/20/2014

10669 DISCONTINUED - THREAD
CUTTI _ _ 12/17/2012

10721 DISCONTINUED - HIGH TEMP
NO _ _ 2/10/2015

10727 DISCONTINUED -HEADLIGHT _ _ 6/1/2011



SCR

10731 TEE NUTS 5/16-18 X 3/8 6 PR _ _ 1/31/2022

10732 TEE NUTS 3/8-18 X 7/16 6 PR _ _ 2/10/2024

10837 SPEED CONTROL ROD PIN - FOR _ _ 11/2/2021

10843 DISCONTINUED - FRONT DOOR _ _ 1/23/2020

10847 DISCONTINUED -5-.8 X 16MM H 10848 REPLACEMENT FOR DISC
ITEM 9/13/2022

10847 DISCONTINUED -5-.8 X 16MM H 10846 REPLACEMENT FOR DISC
ITEM 9/13/2022

10853 6-1.0 X 25MM HEX SOCKET CAP _ _ 5/4/2023

10860 DISCONTINUED - 8-1.25 X 40M _ _ 7/27/2012

10863 DISCONTINUED - 10-1.5 X 30 _ _ 6/29/2021

10867 DISCONTINUED - 12-1.75 X 35 _ _ 7/6/2015

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

10885 8-1.25 X 30MM HEX SOCKET CA _ _ 6/16/2021

10898 5-.8 X 10MM HEX SOCKET CAP _ _ 2/1/2023

1091 DISCONTINUED - #10 X 3/4 SL _ _ 7/27/2012

10970 8-1.25 X 20MM FLAT SOCKET C _ _ 6/8/2022

110 BRASS FITTING COMPRESSION
N _ _ 8/1/2022

11004 DISCONTINUED -5-.8 X 8MM SO _ _ 10/22/2010

11006 DISCONTINUED -5-.8 X 10MM S _ _ 6/29/2021

11022 DISCONTINUED - 8-1.25 X 16M _ _ 6/29/2021

11066 DISCONTINUED -WINDOW
REVEA _ _ 4/15/2019

11085 DISCONTINUED - #10 X 1/2 PH _ _ 12/2/2021

11091 #10 X 1-1/4 PHIL OVAL #8 HD _ _ 10/4/2022

11093 DISCONTINUED - #10 X 1-1/2 _ _ 7/24/2014

11138 MOULDING CLIP -GM _ _ 11/2/2023

1117 DISCONTINUED .-TRIM CLIP GE _ _ 9/21/2022

11180 #10-24 X 3/8 STEEL ACORN CA _ _ 4/25/2022

11185 DISCONTINUED - 1/2-13 X 3/4 _ _ 1/14/2013

11188 DISCONTINUED -SHIMS
UNIVERS 11187 REPLACEMENT FOR DISC

ITEM 10/8/2008

11189 DISCONTINUED -SHIMS
UNIVERS _ _ 5/22/2008

11206 DISCONTINUED -1/4 X 3/4 NO _ _ 5/12/2010

11207 DISCONTINUED -DIS1/4 X 1 NO _ _ 12/4/2008

11213 DISCONTINUED - TUBE & HOSE _ _ 3/12/2013

11215 DISCONTINUED - TUBE & HOSE _ _ 2/23/2012

11216 DISCONTINUED -TUBE & HOSE
A _ _ 10/8/2010

11217 DISCONTINUED - ELBOWS
HOSE _ _ 2/10/2015

11220 DISCONTINUED - ELBOWS
HOSE _ _ 1/23/2020

11224 ELBOWS HOSE FITTINGS 3/8 x _ _ 11/2/2023

11226 HOSE FITTINGS TEES 1/4 PT 1 _ _ 5/1/2023

11252 DISCONTINUED - HEADLIGHT _ _ 6/6/2019



AD

11253 DISCONTINUED - HEADLIGHT
AD _ _ 7/13/2017

11256 DISCONTINUED - 8-1.00 X 20M _ _ 6/29/2021

11257 8-1.00 X 25MM METRIC HEX HD _ _ 3/1/2023

11258 DISCONTINUED - 8-1.00 X 35M _ _ 6/29/2021

11260 DISCONTINUED -10-1.00 X 20M _ _ 12/23/2010

11293 TUBULAR NUT W/ SEALER FOR 1 _ _ 2/12/2024

113 BRASS FITTING COMPRESSION
N _ _ 8/1/2023

11308 DISCONTINUED - NYLON NUT, # _ _ 1/8/2016

1137 DISCONTINUED - #8 X 1 SLTD _ _ 7/6/2021

11371 #12-28 X 1-1/2 HEADLIGHT AD _ _ 12/1/2021

11392 #4 AWG SAE BATTERY CABLE IN _ _ 7/1/2023

11407 DISCONTINUED -TRIM CLIP FAS _ _ 11/2/2010

11411 DISCONTINUED - TRIM CLIP FA _ _ 1/14/2013

11417 DISCONTINUED -DOOR LOCK
ROD _ _ 11/12/2009

11419L2 SUPERSEDED BY 11419 (LA)4 _ _ 1/23/2017

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

11426 DISCONTINUED - NYLON BELT
M _ _ 11/10/2014

1144 DISCONTINUED - #6 X 5/8 SLT _ _ 6/24/2021

11463 DISCONTINUED -BATTERY
CABLE _ _ 3/7/2008

11465 DISCONTINUED -BATTERY
CABLE _ _ 5/14/2008

11468 DISCONTINUED .-BATTERY
CABL _ _ 5/22/2008

1147 DISCONTINUED - #8 X 3/4" S _ _ 7/22/2016

11481 DISCONTINUED -ROOF
TRANSVER _ _ 1/26/2007

11485 DISCONTINUED ONTINUED
ROOF _ _ 1/6/2020

11489 DISCONTINUED -32MM
INTERNA _ _ 6/29/2021

11490 35MM INTERNAL RETAINING
RIN _ _ 6/1/2023

11492 DISCONTINUED -42MM
INTERNA _ _ 6/29/2021

11493 DISCONTINUED -47MM
INTERNAL _ _ 10/29/2010

11496 DISCONTINUED - 72MM
INTERNA _ _ 8/30/2016

11501 12MM EXTERNAL RETAINING
RIN _ _ 7/1/2023

11502 DISCONTINUED - 15MM
EXTERNA _ _ 7/30/2018

11504 DISCONTINUED - 20MM
EXTERNA _ _ 6/29/2021

11513 DISCONTINUED - 1.4MM E TYP _ _ 6/29/2021

11522 DISCONTINUED -9.0MM E TYPE _ _ 10/29/2010

11524 DISCONTINUED - 11.0MM E TYP _ _ 6/3/2013



11525 DISCONTINUED -13.0MM E TYPE _ _ 10/29/2010

11526 DISCONTINUED -16.0MM E TYPE _ _ 10/29/2010

116 DISCONTINUED - BRASS FITTIN _ _ 6/24/2021

11600 DISCONTINUED -FEMALE SNAP
P _ _ 12/11/2008

11601 DISCONTINUED - FEMALE SNAP _ _ 11/18/2014

11603 DISCONTINUED - MALE SNAP PL _ _ 11/18/2014

11611 DISCONTINUED -WINDOW
REVEAL _ _ 11/12/2009

11642 DISCONTINUED -M6.3-1.0 FREE _ _ 9/21/2022

11662 DISCONTINUED - 1/4-28 X 1-3 _ _ 9/21/2022

11701 DISCONTINUED - TRIM PANEL R _ _ 7/27/2012

11702 WHEEL ORNAMENT DRIVE RIVET _ _ 1/31/2022

11715 DISCONTINUED - 1/2-20 WHEEL _ _ 6/9/2015

11720 DISCONTINUED - #8/#10 GRILL _ _ 1/23/2017

11724 DISCONTINUED -6 GA FLARED B _ _ 3/7/2008

11727 DISCONTINUED .-1 GA FLARED _ _ 12/23/2010

11728 DISCONTINUED -1/0 GA FLARED _ _ 1/30/2009

11731 DISCONTINUED -4/0 GA FLARED _ _ 6/1/2011

11744 DISCONTINUED ONTINUED 5/8- _ _ 6/29/2021

11802 DISCONTINUED -BELT MOULDIN _ _ 10/14/2011

11816 DISCONTINUED - QUARTER
BELT _ _ 11/16/2017

11832 DISCONTINUED -HEADLAMP
SPAC _ _ 6/6/2006

11836 DISCONTINUED - SCREW
GROMME _ _ 11/16/2017

11848 DISCONTINUED - #12-28 X 2-1 _ _ 9/21/2022

11865 DISCONTINUED ONTINUED
FRON _ _ 4/30/2018

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

11869 DISCONTINUED - #12-28 X 1-3 _ _ 2/5/2024

11870 DISCONTINUED - #12-28 X 1-3 _ _ 1/21/2015

11893 DISCONTINUED -EXPANSION
PLU _ _ 6/1/2011

11895 DISCONTINUED - EXPANSION P _ _ 6/29/2021

11899 EXPANSION PLUG 35MM
CONCAVE _ _ 1/31/2022

11907 DISCONTINUED - #8 X 1-1/4 I _ _ 12/20/2013

11937 DISCONTINUED - 4.2-1.41 X 2 _ _ 5/29/2018

11938 DISCONTINUED - 4.2-1.41 X 2 _ _ 6/9/2015

11939 DISCONTINUED -4.2-1.41 X 30 _ _ 1/11/2011

11940 DISCONTINUED -` _ _ 9/21/2022

11941 DISCONTINUED
-DISCONTINUED _ _ 5/22/2008

11943 DISCONTINUED
-DISCONTINUED _ _ 10/15/2008

11944 DISCONTINUED -4.2-1.41 X 20 _ _ 2/5/2024

11945 DISCONTINUED - 4.2-1.41 X 3 _ _ 9/21/2022



11947 DISCONTINUED -GM PACK-CON _ _ 4/23/2015

11963 DISCONTINUED - 13 IN 120 L _ _ 6/29/2021

11993 10 X 50 X 10 X 12 X 62MM ME _ _ 1/31/2022

12016 DISCONTINUED - #8 X 1 TORX _ _ 3/12/2013

12048 DISCONTINUED - DAMPER
CONTR _ _ 8/5/2015

12050 DISCONTINUED - DAMPER CRAN _ _ 6/29/2021

12052 DISCONTINUED -DAMPER
CRANK _ _ 5/23/2008

12053 DISCONTINUED
-DISCONTINUED _ _ 5/22/2008

12083 DISCONTINUED - MONOBOLT
3/1 _ _ 7/19/2016

12087 DISCONTINUED - RIVET SETTIN 11817 REPLACEMENT FOR DISC
ITEM 2/25/2013

12091 DISCONTINUED - MONOBOLT
3/1 _ _ 11/9/2015

12098 DISCONTINUED - 1/4-20 X 2 T 21717 REPLACEMENT FOR DISC
ITEM 8/28/2013

12099 DISCONTINUED -1/4-20 X 2 1/ _ _ 12/23/2010

12110 DISCONTINUED - 4-.7 HEX PAL _ _ 6/29/2017

12133 DISCONTINUED -NYLON
RETAINE _ _ 7/26/2011

12136 DISCONTINUED -HEADLIGHT
PAN _ _ 11/27/2012

12142 DISCONTINUED - METRIC
SCREW _ _ 6/3/2013

12143 DISCONTINUED - METRIC
SCREW _ _ 5/5/2015

12145 DISCONTINUED - SOLDERLESS
T _ _ 1/21/2015

12166 DISCONTINUED -BOLT SNAP
MAL _ _ 8/26/2019

12168 DISCONTINUED -BOLT SNAP
MAL _ _ 12/23/2010

12169 DISCONTINUED - BOLT SNAP M _ _ 2/2/2017

12187 DISCONTINUED - SCREW PIN
AN _ _ 6/29/2021

12192 DISCONTINUED - WIRE ROPE
TH _ _ 2/2/2017

12196 DISCONTINUED - WIRE ROPE
TH _ _ 5/2/2012

12208 DISCONTINUED -CONNECTING
LI _ _ 12/23/2010

12228 DISCONTINUED - HEADLIGHT A _ _ 1/23/2020

12251 DISCONTINUED - THREAD
CUTTI _ _ 4/3/2014

12254 WASHER LOCK NUT M5-.8 14MM _ _ 12/1/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

12261 DISCONTINUED - THREAD
CUTTI _ _ 3/28/2013

12300 DISCONTINUED - DAMPER
CONTR _ _ 6/29/2021

12304 DISCONTINUED - DAMPER
CONTR _ _ 8/5/2015

DISCONTINUED - DAMPER



12307 CONTR _ _ 6/29/2021

12316 DISCONTINUED - GMC & CHEV T _ _ 5/4/2020

12318 DISCONTINUED - 6.3-1.81 X 1 _ _ 7/27/2012

12329 DISCONTINUED - 10-1.5 X 25M _ _ 9/21/2022

12338 DISCONTINUED - 6-1.0 X 25MM _ _ 5/2/2017

12341 DISCONTINUED -6-1.0 X 14MM _ _ 5/12/2020

12345 DISCONTINUED - 6-1.0 X 30MM _ _ 4/16/2015

12352 DISCONTINUED -6.3-1.81 X 25 12339 Discontinued 2/9/2011

12362 DISCONTINUED -LOW PROFILE _ _ 10/14/2011

12365 DISCONTINUED - SELF PIERCIN _ _ 6/29/2021

12381 3/8-24 THREAD REPAIR INSERT _ _ 2/1/2023

12405 THREAD REPAIR KIT - USS _ _ 1/25/2023

12406 THREAD REPAIR KIT - SAE _ _ 2/1/2023

12407 THREAD REPAIR KIT - METRIC _ _ 5/1/2023

12448 PLASTIC PRIMARY WIRE BLUE 1 _ _ 1/2/2023

12492 DISCONTINUED - ROD END BAL _ _ 6/29/2021

12524 OUTER STANDARD CAP NUT
LEFT _ _ 2/1/2023

12559 DISCONTINUED - FORD
MOULDIN _ _ 9/21/2022

12564 DISCONTINUED -ALTERNATOR
CO _ _ 12/23/2010

12568 DISCONTINUED - WIRE
ROUTING _ _ 1/8/2016

12580 DISCONTINUED - HONDA
WINDSH _ _ 3/14/2017

12583 NISSAN MOULDING CLIP FOR ST _ _ 9/1/2021

12587 DISCONTINUED - TOYOTA
WINDS _ _ 10/22/2012

12589 DISCONTINUED - MAZDA
WINDSH _ _ 3/13/2017

12591 DISCONTINUED - MAZDA
WINDSH _ _ 2/19/2019

12606 LOWER FINISH PANEL CLIP _ _ 12/1/2021

12609 DISCONTINUED - HEADLIGHT
AD _ _ 10/2/2015

12613 DISCONTINUED -GM MOULDING
F _ _ 8/13/2010

12621 DISCONTINUED -GM MOULDING _ _ 5/13/2022

12629 UNIVERSAL FUSIBLE LINK - 14 _ _ 10/2/2022

12639 DISCONTINUED - BODY SIDE
MO _ _ 1/21/2015

12651 DISCONTINUED -SPECIAL RIVET 18811 REPLACEMENT FOR DISC
ITEM 4/11/2013

12659 DISCONTINUED -BUMPER BOLT
M _ _ 3/10/2011

1266 10 X 1 3/4 SLTD PAN HD. T.S _ _ 10/17/2023

12660 DISCONTINUED -METRIC
BUMPER _ _ 3/7/2013

12670 DISCONTINUED - TRIM PANEL R _ _ 12/7/2012

12688 11/16 HOSE CLAMP _ _ 9/21/2022

12692 DISCONTINUED -METRIC IND. H _ _ 12/23/2010



12702 DISCONTINUED - PREVAILING T _ _ 6/3/2013

12706 DISCONTINUED - PREV. TORQ L _ _ 6/29/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

12722 DISCONTINUED - SLOTTED FINI _ _ 6/29/2021

12728 DISCONTINUED - COIL WIRE RE _ _ 9/11/2017

12743 DISCONTINUED - METRIC
HEX.W _ _ 3/6/2015

12751 DISCONTINUED -FLASHER
PIGTA _ _ 12/10/2008

12753 DISCONTINUED - TORX KEY SET _ _ 5/4/2020

12767 DISCONTINUED
-DISCONTINUED _ _ 5/22/2008

12769 DISCONTINUED -CRIMPABLE
BAT _ _ 12/4/2008

12770 DISCONTINUED -CRIMPABLE
BAT _ _ 1/30/2009

12794 DISCONTINUED - ROOF SIDE
MO _ _ 6/20/2018

128 BRASS MALE CONNECTOR 1/2
TU _ _ 7/1/2022

12805 DISCONTINUED - PHILLIPS FLA _ _ 6/29/2021

12821 DISCONTINUED - PHILLIPS PAN _ _ 6/29/2021

12828 DISCONTINUED -ROCKER PANEL _ _ 6/1/2011

12831 DISCONTINUED - HOLLOW
WALL _ _ 6/29/2021

12832 HOLLOW WALL ANCHOR 1/4
LONG _ _ 8/16/2021

12833 DISCONTINUED - HOLLOW
WALL _ _ 1/23/2020

12851 PLASTIC SCREW ANCHORS # 8- _ _ 11/2/2021

12852 PLASTIC SCREW ANCHORS
1/4-5 _ _ 12/1/2022

12859 HAMMER DRIVE ANCHORS 1/4 X _ _ 9/1/2022

12861 HAMMER DRIVE ANCHORS 1/4 X _ _ 9/1/2022

12862 DISCONTINUED - HAMMER
DRIVE _ _ 6/29/2021

12870 NYLON ANCHORS MUSHROOM
HEAD _ _ 12/1/2022

12875 DISCONTINUED - HEX NUT
MASO _ _ 1/8/2016

12890 HOLLOW WALL ANCHOR-DRIVE
TY _ _ 1/3/2022

12895 DISCONTINUED - PHILLIPS OV _ _ 6/29/2021

12928 DISCONTINUED
-DISCONTINUED _ _ 11/5/2008

12941 DISCONTINUED - NYLON TEE
CO _ _ 4/3/2014

12993 REAR WINDOW MOULDING
RETAIN _ _ 3/2/2021

12998 DISCONTINUED - METRIC JACK _ _ 6/29/2021

13-02BMM WASHERS/MISC _ _ 3/28/2019

13000 DISCONTINUED - WELL NUT M6- _ _ 8/6/2015

13001 DISCONTINUED - WELL NUT M6- _ _ 8/6/2015

WINDOW CRANK HANDLE



13031 BLACK N _ _ 11/2/2021

13032 DISCONTINUED .-WINDOW
CRANK _ _ 12/23/2010

13036 DISCONTINUED - WINDOW
CRANK _ _ 11/10/2014

13072 DISCONTINUED - DRILL BIT #7 _ _ 1/8/2016

13095 DRILL BIT #30 AJB BLACK _ _ 8/1/2022

13144 DISCONTINUED - MOULDING IN _ _ 6/29/2021

13145 DISCONTINUED - PANEL
FASTEN _ _ 7/27/2012

13150 DISCONTINUED - TUBULAR NUT _ _ 9/21/2022

13163 DISCONTINUED - MOULDING
CLI _ _ 5/2/2012

13167 DISCONTINUED - MOULDING
INS _ _ 2/19/2019

13171 DISCONTINUED - MOULDING
CLI _ _ 5/2/2012

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

13172 DISCONTINUED - MOULDING
CLI _ _ 12/9/2016

13174 DISCONTINUED - MOULDING CL _ _ 6/29/2021

13175 DISCONTINUED - MOULDING
CLI _ _ 7/27/2012

13176 DISCONTINUED - VW
MOULDING _ _ 10/3/2013

13189 AUDI MOULDING CLIP _ _ 1/3/2022

13191 DISCONTINUED - MOULDING
RET _ _ 1/22/2019

13195 DISCONTINUED - VOLVO
MOULDI _ _ 6/29/2017

13202 DISCONTINUED - VW & AUDI RE _ _ 7/27/2012

13207 DISCONTINUED - BODY
RETAINE _ _ 11/16/2017

13217 DISCONTINUED - U NUT 4.2MM _ _ 8/5/2014

13221 DISCONTINUED -U NUT 2.9MM _ _ 5/16/2019

13227 TUBULAR NUT (NYLON) FOR
3MM _ _ 11/30/2021

13229 DISCONTINUED - VW
MOULDING _ _ 11/16/2017

13249 8-32 ACORN NUT 18-8 STAINLE _ _ 8/2/2021

13250 DISCONTINUED - 10-24 ACORN _ _ 6/29/2021

13251 10-32 ACORN NUT 18-8 STAINL _ _ 7/1/2023

13253 5/16-18 ACORN NUT 18-8 STAI _ _ 9/1/2021

13259 DISCONTINUED - 5/16-18 WING _ _ 5/2/2012

13292 12 X 1-3/4 PHIL OVAL HD. TA _ _ 1/2/2023

13302 8-32 X 1-1/4 SLTD RD.HD. MA _ _ 11/2/2023

13305 DISCONTINUED - 10-24 X 3/4 _ _ 6/29/2021

13308 10-24 X 1-1/2 SLTD RD.HD.MA _ _ 11/2/2023

13310 DISCONTINUED - 10-32 X 1/2 _ _ 6/29/2021

13314 10-32 X 1-1/2 SLTD RD.HD.MA _ _ 1/2/2023

13316 1/4-20 X 3/4 STLD RD.HD.MAC _ _ 4/4/2023



13318 DISCONTINUED -1/4-20X1-1/4 _ _ 10/14/2011

13319 DISCONTINUED - 1/4-20X1-1/2 _ _ 7/27/2012

13320 DISCONTINUED - 1/4-20X1-3/4 _ _ 7/24/2014

13360 5/16-18 X 2-1/4 HEX HD. CAP _ _ 12/1/2022

13363 3/8-16 X 3/4 HEX HD. CAP SC _ _ 5/1/2023

13373 1/2-13 X 1 HEX HD CAP SCREW _ _ 7/1/2023

13375 1/2-13 X 1 1/2 HEX HD CAP S _ _ 6/2/2022

13385 DISCONTINUED - 5/8-11 X 1 3 _ _ 12/16/2011

13386 DISCONTINUED .-5/8-11 X 2 H _ _ 12/23/2010

13391 3/8-16 X 3 HEX HD CAP SCREW _ _ 10/2/2023

134 BRASS FEMALE CONNECTOR 1/8 _ _ 1/2/2023

13410 DISCONTINUED - 1/16 X 1 CO _ _ 6/29/2021

13415 DISCONTINUED - 3/32 X 1-1/ _ _ 6/29/2021

13417 3/32 X 2 COTTER PIN 18-8 ST _ _ 3/1/2023

13426 1/8 X 2 1/2 COTTER PIN 18-8 _ _ 3/1/2023

13429 DISCONTINUED - 5/32 X 1 1/4 _ _ 6/29/2021

1343 DISCONTINUED -12 X 1/2 SLO _ _ 2/4/2013

13430 DISCONTINUED - 5/32 X 1 1/2 _ _ 6/29/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

13437 DISCONTINUED -DOOR JAMB
SWI _ _ 12/11/2008

13443 DISCONTINUED -2 GANG FUSE
B 13445 REPLACEMENT FOR DISC

ITEM 2/29/2012

13449 TERMINAL JUNCTION BLOCK - 1 _ _ 1/3/2022

13456 GM CARPET RETAINER _ _ 9/1/2021

13458 GM DOOR MOULDING CLIP _ _ 11/2/2021

1346 12 X 1 SLOTTED PAN HEAD TAP _ _ 11/2/2021

13465 DISCONTINUED - AIR CLEANER _ _ 6/29/2021

13469 UPPER HOOD RETAINER 3/4
HEA _ _ 11/2/2022

1347 DISCONTINUED - 14 X 1/2 SL _ _ 6/24/2021

13472 DISCONTINUED - AIR CLEANER _ _ 12/10/2018

13479 DISCONTINUED -ALUMINUM
THIN 11316 Discontinued 2/9/2011

13480 ALUMINUM THIN SHEET
NUTSERT _ _ 8/2/2021

13481 ALUMINUM THIN SHEET
NUTSERT _ _ 8/2/2021

135 BRASS FEMALE CONNECTOR
3/16 _ _ 9/1/2021

13520 DISCONTINUED - INDICATOR LA 22602 REPLACEMENT FOR DISC
ITEM 11/14/2018

13521 DISCONTINUED - INDICATOR LA 22600 REPLACEMENT FOR DISC
ITEM 11/14/2018

13522 DISCONTINUED - INDICATOR LA 22601 REPLACEMENT FOR DISC
ITEM 11/14/2018

13533 DISCONTINUED ONTINUED
REAR _ _ 8/25/2017

13535 DISCONTINUED - PIGTAIL SOCK _ _ 11/6/2018

13570 DISCONTINUED - WINDOW _ _ 6/3/2013



REVEA

13572 ALL PURPOSE AWL _ _ 9/1/2022

13578 TRIMMER COMBINATION KNIFE _ _ 5/9/2022

13579 HEAVY DUTY AWL - 3 1/2 BLAD _ _ 7/7/2021

136 DISCONTINUED - BRASS
FEMALE _ _ 5/5/2015

13628 DISCONTINUED - 3-WAY
BATTER _ _ 11/16/2017

13640 DISCONTINUED - HEAVY DUTY 6 _ _ 5/3/2016

13643 UNIVERSAL TRAILER CONN.
MOU _ _ 11/2/2021

13647 RADIATOR GRILLE NUT #8 SCRE _ _ 8/1/2022

13687 SPECIAL WASHER HEAD T.S. TY _ _ 11/2/2021

13695 X WASHER 3/16 _ _ 10/2/2022

13699 X WASHER 5/16 _ _ 11/11/2022

137 BRASS FEMALE CONNECTOR
5/16 _ _ 9/1/2021

13701 X WASHER 3/8 _ _ 5/1/2023

13704 DISCONTINUED - M8-125 X 20M _ _ 1/11/2019

13715 HEX WASHER HEAD MACHINE
SCR _ _ 10/2/2023

13736 DISCONTINUED - ACORN HEX
WA _ _ 12/1/2015

13769 DISCONTINUED - KLAMP TITE _ _ 6/29/2021

13781 DISCONTINUED - BLIND TACK.R _ _ 1/8/2016

13782 DISCONTINUED - BLIND TACK.R _ _ 1/8/2016

13784 DISCONTINUED -BLIND TACK.R _ _ 10/14/2011

13793 DISCONTINUED - BLIND TACK.R _ _ 2/10/2015

13794 DISCONTINUED - BLIND TACK.R _ _ 5/2/2012

13797 DISCONTINUED - BLIND TACK.R _ _ 1/14/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

13805 PLYWOOD RIVET LGE FLANGE
HD _ _ 10/2/2023

13806 DISCONTINUED
-DISCONTINUED _ _ 10/8/2008

13807 PLYWOOD RIVET LGE FLANGE
HD _ _ 5/1/2023

13808 DISCONTINUED ONTINUED
NOSE _ _ 4/17/2020

13827 DISCONTINUED - NYLON
SPEAKE _ _ 7/6/2015

13828 ROCKER PANEL MOULDING CLIP _ _ 12/1/2021

13832 DISCONTINUED ONTINUED POP- _ _ 8/18/2019

13834 DISCONTINUED - POP-ON SCRE _ _ 6/29/2021

13839 DISCONTINUED - POP-ON SCRE _ _ 1/23/2020

13845 DISCONTINUED - BODY SIDE & _ _ 8/10/2017

13847 DECK LID MOULDING CLIP _ _ 11/2/2022

13850 1/0 BATTERY CABLE 25 FEET _ _ 8/1/2022

13858 NYLON WIRE CLIP _ _ 12/1/2021

13862 DISCONTINUED - NYLON HOLE _ _ 10/2/2015



P

13863 NYLON HOLE PLUG 3/16 BLACK _ _ 3/1/2023

13866 NYLON HOLE PLUG 5/16
NATURA _ _ 3/1/2023

13868 DISCONTINUED - NYLON HOLE
P _ _ 4/2/2015

13871 DISCONTINUED - NYLON HOLE _ _ 6/29/2021

13880 NYLON HOLE PLUG 3/4
NATURAL _ _ 12/1/2022

13883 NYLON HOLE PLUG 13/16 BLACK _ _ 11/2/2023

13924 DISCONTINUED - ROCKER
PANEL _ _ 7/24/2014

13925 DISCONTINUED - REAR WHEEL
M _ _ 8/14/2018

13931 NISSAN NYLON NUT SCREW
GROM _ _ 10/4/2021

13935 DISCONTINUED - NYLON
LICENS _ _ 7/13/2017

13940 DISCONTINUED -NYLON CABLE
C _ _ 8/13/2010

13941 DISCONTINUED - NYLON CABLE _ _ 6/29/2021

13962 DISCONTINUED - TUBULAR NUT _ _ 2/20/2014

13964 TUBULAR NUT (NYLON) FOR 1/8 _ _ 11/30/2021

13992 DISCONTINUED ONTINUED
X-MA _ _ 10/26/2020

14003 DISCONTINUED -NYLON NUT
PAR _ _ 8/13/2010

14013 DISCONTINUED - AIR VENT SCR _ _ 2/19/2018

14014 AIR VENT NYLON NUT _ _ 12/1/2022

14028 DISCONTINUED -GM BUMPER
END _ _ 1/5/2011

14033 FRONT/SIDE FENDER
MOULDING _ _ 10/4/2021

14042 DISCONTINUED -NYLON
RETAINE 20316 REPLACEMENT FOR DISC

ITEM 12/11/2008

14046 DISCONTINUED - SS TORX PAN _ _ 9/21/2022

14047 DISCONTINUED - SS TORX
OVAL _ _ 8/5/2014

14049 DISCONTINUED - SS TORX PAN _ _ 5/16/2014

14051 DISCONTINUED - SS TORX PAN _ _ 3/12/2013

14052 DISCONTINUED -SS TORX PAN
H _ _ 10/8/2010

14053 DISCONTINUED - SS TORX
OVAL _ _ 6/29/2021

14058 DISCONTINUED - EXTENSION
SP _ _ 4/2/2015

14059 DISCONTINUED ONTINUED
EXTE _ _ 12/19/2019

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

14061 DISCONTINUED - EXTENSION
SP _ _ 3/28/2013

14062 DISCONTINUED -EXTENSION
SPR _ _ 5/12/2010

14064 DISCONTINUED - EXTENSION S _ _ 1/23/2020

DISCONTINUED - EXTENSION



14066 SP _ _ 2/19/2019

14067 DISCONTINUED - EXTENSION S _ _ 1/23/2020

14069 DISCONTINUED - EXTENSION
SP _ _ 12/16/2011

14074 EXTENSION SPRING 1.125 LENG _ _ 6/19/2023

14099 UNIVERSAL SPRING 1-13/16 LE _ _ 10/4/2021

14113 GROOVELESS RETAINER RING
3/ _ _ 9/1/2021

14131 BACK-UP/CORNER LIGHTS
PIGTA _ _ 6/7/2021

14132 DISCONTINUED - TAIL/STOP L _ _ 6/29/2021

14137 DISCONTINUED - MOULDING
CLI _ _ 7/6/2015

14145 HEADLIGHT GLASS NUT _ _ 12/1/2021

14155 DISCONTINUED - PLASTIC RIVE _ _ 6/16/2021

14156 DISCONTINUED - JACKNUT FRIC 22342 REPLACEMENT FOR DISC
ITEM 9/11/2017

14157 DISCONTINUED - JACKNUT INST 22402 REPLACEMENT FOR DISC
ITEM 8/8/2017

14158 DISCONTINUED - JACKNUT INST 22404 REPLACEMENT FOR DISC
ITEM 8/8/2017

14159 DISCONTINUED - JACKNUT INST 22405 REPLACEMENT FOR DISC
ITEM 8/8/2017

14160 DISCONTINUED - JACKNUT INST 22406 REPLACEMENT FOR DISC
ITEM 8/8/2017

14161 DISCONTINUED - JACKNUT INST 22407 REPLACEMENT FOR DISC
ITEM 8/8/2017

14162 DISCONTINUED - JACKNUT INST 22408 REPLACEMENT FOR DISC
ITEM 8/8/2017

14185 DISCONTINUED - THREAD
CUTTI _ _ 5/24/2018

14194 WINDOW REGULATOR HANDLE _ _ 7/7/2021

14205 2# MECH WIRE 18GA-DISC _ _ 1/31/2024

14205CR 2# 18 GA MECHANICS WIRE _ _ 1/16/2024

14206 2# 16 GA MECHANICS WIRE _ _ 1/31/2024

14209 VOLVO WINDSHIELD CLIP-
GREE _ _ 9/1/2021

14210 WINDSHIELD CLIP - WHITE _ _ 12/1/2021

14211 WINDSHIELD CLIP - BLACK _ _ 11/2/2021

14212 WINDSHIELD CLIP - GRAY _ _ 11/2/2021

14213 DISCONTINUED - BODY SIDE
MO _ _ 8/10/2017

14215 DISCONTINUED - BODY SIDE
MO _ _ 11/16/2017

14219 DISCONTINUED - SPEAKER
COVE _ _ 7/24/2014

14220 GRILLE RETAINING GROMMET
#8 _ _ 6/4/2021

14229 DISCONTINUED -WHEEL BOLT
7/ _ _ 10/13/2005

14238 DISCONTINUED -WHEEL BOLT
1/ _ _ 9/21/2022

14243 DISCONTINUED - WHEEL BOLT
1 _ _ 6/29/2021

14257 DISCONTINUED -U NUT 14276 REPLACEMENT FOR DISC
ITEM 6/21/2007



14264 DISCONTINUED ONTINUED
TOYO _ _ 4/17/2020

14278 DISCONTINUED - TOYOTA
WINDS _ _ 4/3/2017

14280 DISCONTINUED - HONDA
SCREW _ _ 1/8/2016

14290 DISCONTINUED - HONDA
NIFLOC _ _ 2/19/2018

14293 DISCONTINUED - HONDA
NIFLOC _ _ 11/16/2017

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

14296 DISCONTINUED - HONDA
SCREW _ _ 2/3/2016

1432 DISCONTINUED ONTINUED
SLOT _ _ 6/24/2021

14321 DISCONTINUED - HONDA
TUBE/C _ _ 1/14/2013

14331 DISCONTINUED - NISSAN
SCREW _ _ 6/29/2017

14333 DISCONTINUED - NISSAN
MOULD _ _ 3/13/2017

14346 DISCONTINUED - NISSAN INTER _ _ 3/13/2017

14362 DISCONTINUED -MAZDA SCREW
G _ _ 10/22/2010

14364 MAZDA SCREW GROMMET 13MM
HD _ _ 12/1/2021

14389 DISCONTINUED - LINERLESS S _ _ 2/3/2020

14391 METRIC PAN HEAD MACHINE
SCR _ _ 1/2/2023

14394 DISCONTINUED - METRIC
SLOTT _ _ 6/29/2021

14397 DISCONTINUED - METRIC FILLI _ _ 7/24/2014

14398 DIN 84 FILLISTER HEAD MACH _ _ 1/2/2023

14465 DISCONTINUED -3/0 TOP STUD _ _ 1/30/2009

14466 DISCONTINUED -4/0 .559 I.D. _ _ 11/12/2009

14493 5/8-18 X 1-1/2 SAE FLANGE B _ _ 1/2/2023

14496 5/8-18 X 2-1/4 SAE FLANGE B _ _ 8/1/2022

1452 SLOTTED PAN HEAD TAP SCREW _ _ 1/2/2023

1454 SLOTTED PAN HEAD TAP SCREW _ _ 1/2/2023

14550L2 SUPERSEDED BY 14550 (LA)D _ _ 1/23/2017

14568 DISCONTINUED - CABLE TIE T _ _ 6/29/2021

14572 DISCONTINUED - SS TORX PAN _ _ 7/27/2012

14576 PLASTIC RAZOR BLADE _ _ 3/1/2023

14577 DISCONTINUED - MONOBOLT
TOO _ _ 1/8/2016

14586 7-1.0 X 12MM DIN 933 CAP SC _ _ 4/1/2022

14593 DISCONTINUED - 14-2.0 X 60M _ _ 6/20/2014

14598 DISCONTINUED ONTINUED 16-2 _ _ 6/29/2021

1460 SLOTTED PAN HEAD TAP SCREW _ _ 11/2/2021

14602 20-2.5 X 60MM DIN 933 CAP S _ _ 11/2/2021

14614 DISCONTINUED -M14-1.5 X 60M _ _ 8/13/2010

14616 M16-1.5 X 30MM CAP SCREW PL _ _ 11/2/2023



14618 DISCONTINUED - M16-1.5 X 50 _ _ 10/2/2015

14635 DISCONTINUED -14MM DIN 127 _ _ 6/1/2011

14637 DISCONTINUED ONTINUED
DISC _ _ 6/29/2021

14685 HONDA WINDSHIELD MLDG
CLIP _ _ 11/2/2021

14700 WINDSHIELD MLDG CLIP 35MM
L _ _ 12/1/2021

14701 WINDSHIELD MLDG CLIP 34MM
L _ _ 12/1/2021

14703 DISCONTINUED ONTINUED
WIND _ _ 3/9/2017

14705 DISCONTINUED ONTINUED
QUAR _ _ 3/9/2017

14714 DISCONTINUED - MAZDA
TUBE/C _ _ 5/2/2012

14717 DISCONTINUED -MAZDA
WINDSHI _ _ 2/9/2011

14719 MAZDA WINDSHIELD
MOULDING C _ _ 7/7/2021

14731 DISCONTINUED - TOYOTA
WINDS _ _ 11/16/2017

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

14740 DISCONTINUED - TOYOTA
SCREW _ _ 5/2/2012

14745 WINDSHIELD MOULDING CLIP
14 _ _ 12/1/2021

14747 WINDSHIELD MOULDING CLIP
18 _ _ 1/3/2022

14749 TOYOTA WINDSHIELD MLDG
CLIP _ _ 9/1/2021

14750WCA SUPERSEDED BY 14750 TOYOT _ _ 6/22/2021

14758 TAURUS/SABLE ROOF LINER
MOU _ _ 8/2/2021

14764 DISCONTINUED - VINYL
GROMME _ _ 3/2/2016

14765 DISCONTINUED - VINYL GROMM _ _ 1/23/2020

14767 DISCONTINUED - VINYL
GROMME _ _ 10/2/2015

14768 DISCONTINUED - FORD COWL
PA _ _ 2/23/2012

14769 BOLT & NUT GAUGE FOR USS & _ _ 4/4/2023

14771 DISCONTINUED - SCREW
THREAD _ _ 4/3/2014

14773 DISCONTINUED -
MISCELLANEOU _ _ 6/29/2021

14795 DISCONTINUED - JIS CAP SCRE _ _ 6/29/2021

14800 DISCONTINUED - CHRYSLER
HEA _ _ 11/10/2014

14806 DISCONTINUED - CLEAR
TUBING _ _ 6/29/2021

14819 DISCONTINUED - BUMPER
STRIP _ _ 11/16/2017

14821 DISCONTINUED - HEADLIGHT
MO _ _ 11/16/2017

14828 DISCONTINUED - 3/8-16 X 2-1 _ _ 1/14/2013

14835 DISCONTINUED - SNAP FASTEN _ _ 6/29/2021



14852 3/8 X.056 BELLEVILLE WASHER _ _ 12/1/2021

14854 DISCONTINUED - 1/2 X.050 B _ _ 5/20/2020

14865 DISCONTINUED - 6MM COPPER
W _ _ 1/14/2013

14882 DISCONTINUED - ELECTRONIC
C _ _ 6/20/2014

14891 DISCONTINUED -OEM
TERMINAL, _ _ 8/20/2008

14895 DISCONTINUED - FORD VENT G _ _ 1/23/2020

14899 DISCONTINUED - ELECTRICAL C _ _ 6/29/2021

14901 1/16 X 1-1/4 COTTER PIN ZIN _ _ 3/1/2023

14902 DISCONTINUED - 1/16 X 2 COT _ _ 6/29/2021

14904 DISCONTINUED - 1/8 X 3/4 H _ _ 6/29/2021

14906 DISCONTINUED - 5/32 X 1-3/4 _ _ 6/29/2021

14909 3/16 X 1 COTTER PIN ZINC _ _ 8/1/2023

14910 DISCONTINUED - 3/16 X 1 1/4 _ _ 6/29/2021

14916 T-55 TORX POWER DRIVE BIT _ _ 2/1/2023

14924 DISCONTINUED - GM DOOR
LOCK _ _ 2/10/2015

14926 28 GA. PERFORATED HANGER
ST _ _ 12/1/2021

14927 24 GA. PERFORATED HANGER
ST _ _ 3/11/2022

14946 GM MOULDING CLIP 1-3/16 LEN _ _ 11/2/2021

14950 DISCONTINUED - SS TORX
OVAL _ _ 6/1/2017

14952 DISCONTINUED - SS TORX PAN _ _ 5/3/2016

14963 DISCONTINUED - LT. PALOMINO _ _ 11/9/2015

14979 DISCONTINUED -DASHBOARD
NUT _ _ 8/18/2006

15004 DISCONTINUED - TRUCK INNER _ _ 6/29/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

15009 TRUCK INNER NUT-RH GR.8 ALU _ _ 11/2/2023

15016 DISCONTINUED - RIM STUD GR. _ _ 2/6/2015

15017 DISCONTINUED - RIM STUD GR _ _ 1/23/2020

15031 DISCONTINUED -STANDARD
LUGN _ _ 11/12/2009

15039 CORROSION PROTECTANT _ _ 8/1/2022

15047 DISCONTINUED - CIRCUIT BREA _ _ 3/2/2016

15049 CIRCUIT BREAKER-40 AMPS _ _ 9/7/2021

15053 DISCONTINUED - GREASE FITTI _ _ 8/5/2015

15070 DISCONTINUED - GREASE FITTI _ _ 8/5/2015

15073 GREASE FITTING 1/4 DRIVE FI _ _ 6/16/2021

15078 GREASE FITTING 5/16-24 STRA _ _ 6/16/2021

15079 GREASE FITTING 5/16-24 STRA _ _ 6/4/2021

15099 GREASE FITTING 10MM-1.0 45 _ _ 6/16/2021

15105 DISCONTINUED -GREASE
FITTIN 9259 REPLACEMENT FOR DISC

ITEM 6/13/2003

15149 DISCONTINUED -BLACK NYLON _ _ 10/11/2011



C

15155 DISCONTINUED -5MM NYLON
COA _ _ 6/6/2006

15184 DISCONTINUED - SIDE
TERMINA _ _ 7/27/2012

15195 DISCONTINUED - CABLE TIE W/ _ _ 6/29/2021

15263 10 GAUGE YELLOW 100 FT PVC _ _ 1/2/2023

15301 DISCONTINUED - CLIP ZIP TOO _ _ 7/30/2018

15310 DISCONTINUED - M8-1.25 X 30 _ _ 5/9/2018

15316 HEX FLANGE LOCKNUT M6-1.0 1 _ _ 10/2/2023

15317 DISCONTINUED - HEX FLANGE L _ _ 6/29/2021

15318 DISCONTINUED ONTINUED HEX _ _ 6/29/2021

15323 DISCONTINUED -M6-1.0 FREE S 15330 REPLACEMENT FOR DISC
ITEM 1/30/2009

15354 DISCONTINUED -1/4-20 X 1/2 _ _ 5/12/2010

15356 DISCONTINUED - 5/16-18 X 1 _ _ 6/29/2021

15356CR 5/16-18 X 1-3/4 HEX WASH HD _ _ 10/31/2023

15357 DISCONTINUED - 3/8-16X1 3/ _ _ 6/29/2021

15370 DISCONTINUED - 18 GAUGE 25' _ _ 8/5/2015

15371 DISCONTINUED - 16 GAUGE 25' _ _ 7/27/2012

15372 DISCONTINUED - 14 GAUGE 25' _ _ 6/29/2021

15403 DISCONTINUED - 1/4-20 X 1 _ _ 6/30/2021

15419 DISCONTINUED -GREASE FITTI _ _ 9/12/2011

15423 GREASE FITTING 1/8 PIPE 65 _ _ 6/16/2021

15431 GREASE FITTING M6-1.00 45 D _ _ 6/2/2023

15441 DISCONTINUED - GREASE FITTI _ _ 6/30/2021

15464 DISCONTINUED - GM REAR
DOOR _ _ 6/1/2016

15465 DISCONTINUED -GM REAR
DOOR _ _ 12/7/2010

15469 DISCONTINUED - WINDSHIELD
M _ _ 1/8/2016

15470 DISCONTINUED - NISSAN WIND _ _ 6/30/2021

15472 HONDA WINDSHIELD
MOULDING C _ _ 12/1/2021

15474 DISCONTINUED - HONDA GLASS _ _ 10/3/2016

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

15475 DISCONTINUED - WINDSHIELD _ _ 1/8/2016

15488 GM NYLON RIVET 1/4 HOLE DIA _ _ 6/16/2021

15495 DISCONTINUED -FORD & AMC
NY 21028 REPLACEMENT FOR DISC

ITEM 12/23/2010

15510 DISCONTINUED - HEX WASHER
H _ _ 7/6/2015

15515 CAP SCREW DIN 931 M10-1.50 _ _ 11/2/2023

15524 DISCONTINUED - FORD BRAKE
C _ _ 5/5/2015

15538 DISCONTINUED - 3/8 X 25' I _ _ 7/20/2020

15594 GR 5 HEX NUT 1-8 USS ZINC _ _ 1/2/2023

15600 DISCONTINUED - GR 5 HEX NUT _ _ 10/3/2016

DISCONTINUED -COMPRESSION



15604 B _ _ 5/14/2008

15610 DISCONTINUED -
COMPRESSION _ _ 6/30/2021

15611 COMPRESSION BATTERY CBL
TER _ _ 12/1/2021

15613 DISCONTINUED - FLAG CLAMP P _ _ 10/2/2015

15615 DISCONTINUED - FLAG CLAMP P _ _ 10/6/2014

15624 DISCONTINUED -
COMPRESSION _ _ 11/16/2017

15625 DISCONTINUED -
COMPRESSION _ _ 7/6/2021

15632 BATTERY TERMINAL
COMPRESSIO _ _ 9/1/2021

15634 DISCONTINUED - FORD
HEADLIG _ _ 3/14/2017

15666 HEADLIGHT ADJ. SCREW
ASSEMB _ _ 10/4/2021

15681 DISCONTINUED -WINDSHIELD
FI _ _ 5/14/2008

15714 DISCONTINUED - WASHER
LOCK _ _ 1/8/2014

15721 HEX HEAD SEMS M4.2-1.41 16M _ _ 1/31/2022

1573-01 OIL DRAIN PLUGS _ _ 3/28/2019

1573-99S OIL DRAIN PLUGS _ _ 3/28/2019

1574-98 OIL DRAIN PLUGS _ _ 3/28/2019

15750 DISCONTINUED - 15748 CUTTIN 21511 REPLACEMENT FOR DISC
ITEM 7/27/2012

15751 DISCONTINUED - 15748 CUTTIN 21511 Discontinued 12/16/2011

15757 DISCONTINUED - M6-1.0X27MM _ _ 6/9/2015

1577-38X OIL DRAIN PLUGS _ _ 3/28/2019

1577-40 OIL DRAIN PLUGS _ _ 3/28/2019

1577-44 OIL DRAIN PLUGS _ _ 3/28/2019

1578-15KV OIL DRAIN PLUGS _ _ 3/28/2019

1578-25KV OIL DRAIN PLUGS _ _ 3/28/2019

1578-45 OIL DRAIN PLUGS _ _ 3/28/2019

1578-53 OIL DRAIN PLUGS _ _ 3/28/2019

1578-54 OIL DRAIN PLUGS _ _ 3/28/2019

1578-55 OIL DRAIN PLUGS _ _ 3/28/2019

1580-08 OIL DRAIN PLUGS _ _ 3/28/2019

1580-17 OIL DRAIN PLUGS _ _ 3/28/2019

1580-22 OIL DRAIN PLUGS _ _ 3/28/2019

1580-27 OIL DRAIN PLUGS _ _ 3/28/2019

1580-38 OIL DRAIN PLUGS _ _ 3/28/2019

1580-39 OIL DRAIN PLUGS _ _ 6/6/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

15811 DISCONTINUED - LOCK NUT
M14 _ _ 6/30/2021

15813 WINDOW GLASS RETAINER _ _ 12/1/2021

15837 DISCONTINUED - SHAFT
COLLAR _ _ 6/24/2020



15840 DISCONTINUED - SHAFT
COLLAR _ _ 7/27/2012

15849 DISCONTINUED - PUSH-TYPE WI _ _ 1/3/2017

15854 CO-AX CABLE CLIP 3/16 - 9/3 _ _ 1/2/2023

15891 DISCONTINUED - PHIL.OVAL HD _ _ 11/19/2012

15892 DISCONTINUED - PHIL.OVAL HD _ _ 6/30/2021

15902 DISCONTINUED - SOCKET HEAD _ _ 6/30/2021

15905 SOCKET HEAD SET SCREW 7/16 _ _ 9/1/2021

15907 DISCONTINUED - SOCKET HEAD _ _ 10/2/2015

15910 DISCONTINUED - SOCKET HEAD _ _ 6/30/2021

15923 DISCONTINUED - 4 TERMINAL
W _ _ 5/2/2017

15925 DISCONTINUED -MICRO PACK
TE _ _ 12/23/2010

15934 DISCONTINUED - AUTO LINK FU _ _ 1/21/2015

15936 DISCONTINUED -PACK CON
TERM _ _ 12/23/2010

15959 DISCONTINUED - GM PACK-CON _ _ 6/1/2016

15961 DISCONTINUED - METRIC BUNA _ _ 9/11/2015

15962 HEX SEMS TAP SCREW M6.3-1. _ _ 2/17/2023

15968 FORD HEADLIGHT ADJ. SCRW
AS _ _ 3/2/2022

15969 DISCONTINUED -FORD
HEADLIGH _ _ 6/7/2012

15974 DISCONTINUED -
POLYETHYLENE _ _ 12/1/2015

15975 DISCONTINUED -
POLYETHYLENE _ _ 8/24/2016

15976 DISCONTINUED -
POLYETHYLENE _ _ 9/11/2015

15977 DISCONTINUED -
POLYETHYLENE _ _ 7/6/2015

15978 DISCONTINUED -
POLYETHYLENE _ _ 6/30/2021

15979 DISCONTINUED -
POLYETHYLENE _ _ 6/30/2021

15980 DISCONTINUED -
POLYETHYLENE _ _ 8/24/2016

15981 DISCONTINUED -POLYETHYLENE _ _ 1/5/2011

15984 DISCONTINUED -
SELF-ADHESIV _ _ 6/30/2021

16010 DISCONTINUED -#10 FLANGED _ _ 10/14/2011

16029 DISCONTINUED - SURGICAL
TWE _ _ 10/6/2014

16052 AIR SYSTEM CONNECTOR 1/4
HO _ _ 6/7/2021

16091 INSULATING BUSHINGS BLACK
3 _ _ 6/1/2023

16094 INSULATING BUSHINGS BLACK
1 _ _ 8/1/2023

16097 DISCONTINUED - INSULATING _ _ 6/30/2021

16107 DISCONTINUED - INSULATING B _ _ 6/30/2021

16108 INSULATING BUSHINGS WHITE
1 _ _ 11/2/2021

16115 PUSH-TYPE RETAINER 7MM X 15 _ _ 11/2/2021



16117 DISCONTINUED -MOULDING
CLIP _ _ 1/26/2007

16124 TUBULAR NUT (NYLON) FOR
5MM _ _ 5/8/2023

16134 THREAD CUTTING NUT
W/SEALER _ _ 6/7/2021

16136 M6-1.0 FREE SPINNING
WASHER _ _ 2/1/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

16137 DISCONTINUED - LOCKING NUT _ _ 3/12/2013

16143 DISCONTINUED -TUBULAR NUT
( _ _ 3/7/2008

16160 DISCONTINUED - HEAVY DUTY T _ _ 4/2/2015

16162 HEAVY DUTY THREAD REPAIR IN _ _ 1/2/2023

16166 DISCONTINUED - INDUSTRIAL F _ _ 1/27/2015

16168 INDUSTRIAL FLASHLIGHT - MAG _ _ 8/1/2022

16169 INDUSTRIAL FLASHLIGHT - KRY _ _ 12/1/2022

16178 DISCONTINUED ONTINUED LGE _ _ 6/30/2021

16191 DISCONTINUED - LGE FLNG THI _ _ 6/30/2021

162 DISCONTINUED - BRASS MALE _ _ 6/24/2021

16227 DISCONTINUED - STEEL JACK N _ _ 11/6/2013

16228 DISCONTINUED -STEEL JACK NU _ _ 5/12/2010

16230 DISCONTINUED - STEEL JACK N _ _ 11/9/2015

16234 DISCONTINUED - COATED JACK _ _ 8/5/2015

16235 DISCONTINUED - COATED JACK _ _ 8/5/2015

16246 DISCONTINUED - WELL NUT
#10 _ _ 2/5/2024

16247 DISCONTINUED - WELL NUT M5- _ _ 9/4/2012

16254 DISCONTINUED - WELL NUT M6- _ _ 2/5/2024

16256 RUBBER NUT M8-1.25 .725 LEN _ _ 3/1/2023

16275 ONE-HAND GREASE GUN _ _ 6/7/2021

16277 DISCONTINUED -
PROFESSIONAL _ _ 6/30/2021

16279 DISCONTINUED - FLEXIBLE GR _ _ 6/30/2021

16280 FLEXIBLE GREASE HOSE 18" LE _ _ 12/1/2022

16283 DISCONTINUED - BARREL PUMP _ _ 11/9/2015

16285 DISCONTINUED - BARREL PUMP _ _ 5/4/2020

16286 DISCONTINUED OIL CAN 6 OZ _ _ 4/30/2021

16288 OIL CAN 12 OZ CAPACITY 5" R _ _ 8/1/2022

16289 DISCONTINUED - OIL CAN 6 OZ _ _ 3/2/2016

16293 SUCTION GUN _ _ 4/4/2023

16294 DISCONTINUED - GAS PUMP
NOZ _ _ 1/22/2019

16296 DISCONTINUED ONTINUED GAS _ _ 6/16/2021

16297 DISCONTINUED - GAS PUMP
NOZ _ _ 6/30/2021

16298 DISCONTINUED - GAS PUMP
NOZ _ _ 9/18/2013

16299 DISCONTINUED ONTINUED GAS _ _ 4/12/2021



16303 GAS PUMP NOZZLE FAIL-SAFE B _ _ 11/2/2021

16307 DISCONTINUED
-DISCONTINUED _ _ 6/12/2008

16324 DISCONTINUED - AIR CONDITI _ _ 6/30/2021

16328 DISCONTINUED - AIR CONDITI _ _ 6/30/2021

16329 DISCONTINUED - AIR CONDITIO _ _ 10/2/2015

16331 AIR CONDITIONING O-RING
#11 _ _ 1/2/2023

16336 AIR CONDITIONING O-RING
#11 _ _ 7/7/2021

16337 DISCONTINUED -AIR CONDITIO _ _ 10/14/2011

16338 DISCONTINUED - AIR CONDITIO _ _ 1/8/2014

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

16345 DISCONTINUED - FORD MINI BL _ _ 3/28/2013

16346 DISCONTINUED -FORD MINI
BLO _ _ 2/9/2011

16350 DISCONTINUED -CHRYSLER
QUIC _ _ 11/12/2009

16361 DISCONTINUED - M8-1.25 X 25 _ _ 9/18/2013

16377 DISCONTINUED ONTINUED PHIL _ _ 6/30/2021

16379 DISCONTINUED - PHILLIPS OVA _ _ 6/30/2021

16382 PHILLIPS OVAL HEAD M.S. 10- _ _ 11/2/2023

16388 DISCONTINUED - PHILLIPS OVA _ _ 6/30/2021

16393 DISCONTINUED - CHRYSER DOO _ _ 6/30/2021

16394 GM DECK LID WEATHERSTRIP
15 16394B SUBSTITUTE BULK ITEM FOR

UNIT 6/1/2023

16396 DISCONTINUED - HEADLIGHT
VE _ _ 3/13/2017

16397 DISCONTINUED - HEADLIGHT
HO _ _ 3/14/2017

16406 DISCONTINUED - HEADLIGHT PI _ _ 3/6/2015

16425 DISCONTINUED - HIGH BEAM
90 _ _ 7/4/2023

16467 DISCONTINUED -RUBBER HEAD
T _ _ 3/10/2011

16472 DISCONTINUED -PREVAILING
TO _ _ 8/18/2006

16475 DISCONTINUED - BUMPER BOLT _ _ 10/22/2012

16483 DISCONTINUED - BUMPER
BOLT, _ _ 5/2/2012

16490 DISCONTINUED .-PHILLIPS PAN _ _ 12/15/2008

16491 DISCONTINUED - PHILLIPS PA _ _ 1/8/2016

165 DISCONTINUED - BRASS MALE E _ _ 8/24/2016

16513 DISCONTINUED - ELECTRICAL S _ _ 1/14/2013

16524 DISCONTINUED - SPONGE
RUBBE _ _ 4/3/2017

16528 DISCONTINUED -PHIL OVAL HD _ _ 9/12/2011

16530 DISCONTINUED -PHIL OVAL HD. _ _ 1/11/2011

16531 DISCONTINUED - PHIL FLAT TO _ _ 6/30/2021

16534 DISCONTINUED ONTINUED PHIL _ _ 4/17/2020

16535 DISCONTINUED -PHILLIPS OVAL _ _ 7/16/2007



16544 DISCONTINUED - BUMPER BOLT _ _ 3/1/2017

16552 DISCONTINUED -HEADLIGHT
ADJ _ _ 9/21/2022

16555 DISCONTINUED - MAZDA
HEADLI _ _ 8/10/2017

16558 DISCONTINUED - TOYOTA
HEADL _ _ 7/19/2016

16567 ALL-FIT ADJUSTABLE BUSHINGS _ _ 12/7/2023

16570 DISCONTINUED - 75 WATT
ROUG _ _ 6/30/2021

16571 DISCONTINUED - 75 WATT ROU _ _ 6/30/2021

16572 DISCONTINUED - 100 WATT
ROU _ _ 12/7/2012

16574 DISCONTINUED - 75 WATT
SUPE _ _ 5/2/2017

16575 100 WATT SUPER TOUGHCOAT
LI _ _ 12/1/2021

16583 DISCONTINUED - HEADLIGHT
TO _ _ 5/2/2012

16593 #10 BRASS COUNTERSUNK
WASHE _ _ 12/1/2021

16603 WIRE TYPE HOSE CLAMP 1 7/8 _ _ 8/1/2023

16605 DISCONTINUED - PUSHNUT
FAST _ _ 7/24/2014

16626 DISCONTINUED - METRIC O RI _ _ 6/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

16628 DISCONTINUED - METRIC O RIN _ _ 7/27/2012

16630 DISCONTINUED -METRIC O
RING _ _ 4/11/2011

16634 METRIC O RING 10MM I.D. 16M _ _ 12/1/2021

16635 DISCONTINUED - METRIC O RI _ _ 6/30/2021

16640 METRIC O RING 8.6MM I.D. 13 _ _ 1/31/2024

16641 DISCONTINUED -METRIC O RIN _ _ 10/14/2011

16647 METRIC O RING 2.2MM I.D. 5. _ _ 10/2/2022

16651 DISCONTINUED - METRIC O RIN _ _ 11/10/2014

16669 LICENSE PLATE HDWR BAG (2PC _ _ 2/1/2023

16675 INTERNAL LOCK WASHERS 1
ZIN _ _ 1/31/2022

16677 DISCONTINUED -EXTERNAL LOC _ _ 6/30/2021

16679 DISCONTINUED -EXTERNAL
LOCK _ _ 6/1/2011

16688 DISCONTINUED - RIVET GUN
NO _ _ 2/10/2015

16690 LICENSE PLATE HDWR BAG (4PC _ _ 12/2/2022

167 DISCONTINUED - BRASS MALE E _ _ 3/6/2015

16719 DISCONTINUED
-DISCONTINUED _ _ 10/8/2008

16729 DISCONTINUED - CHRYSLER
DOO _ _ 7/19/2016

16732 DISCONTINUED - AIR CONDITIO _ _ 5/4/2020

16735 DISCONTINUED - PHIL. OVAL H _ _ 12/7/2012

16737 DISCONTINUED - PHIL. OVAL H _ _ 12/20/2013

DISCONTINUED - STARTER



16739 BOLT _ _ 2/2/2017

16741 DISCONTINUED -STARTER BOLT _ _ 8/13/2010

16742 DISCONTINUED -STARTER BOLT _ _ 4/3/2009

16747CR EXT. RETAIN. RING ZINC SHAF _ _ 2/24/2023

16751 DISCONTINUED - HEX HD SEMS _ _ 6/30/2021

16753 DISCONTINUED - HEX HD SEMS _ _ 10/2/2015

16754 HEX HD SEMS WAVE WASHER
BOL _ _ 2/1/2023

16755 HEX HD SEMS WAVE WASHER
BOL _ _ 11/2/2022

16757 DISCONTINUED - WAVE
WASHER _ _ 4/3/2014

16758 DISCONTINUED - WAVE
WASHER _ _ 6/30/2021

16760 DISCONTINUED - WAVE
WASHER _ _ 1/3/2017

16761 WAVE WASHER BOLT & FLAT
WAS _ _ 2/1/2023

16763 METRIC FLAT WASHER 6MM
SCRE _ _ 7/21/2021

16765 DISCONTINUED
-DISCONTINUED 17395 REPLACEMENT FOR DISC

ITEM 7/22/2008

16771 DISCONTINUED - #10-32 FREE _ _ 6/30/2021

16772 DISCONTINUED - 1/4-20 FREE _ _ 7/6/2015

16787 DISCONTINUED -LGE. FLNG THI _ _ 11/16/2010

16793 DISCONTINUED - HEX FLANGE _ _ 9/21/2022

16794 HEX FLANGE BOLT
W/SERRATION _ _ 11/2/2021

16795 DISCONTINUED - HEX FLANGE _ _ 6/30/2021

16796 DISCONTINUED - HEX FLANGE B _ _ 11/17/2017

16797 DISCONTINUED - HEX FLANGE B _ _ 9/21/2022

16819 DISCONTINUED -TOYOTA
WINDSH _ _ 4/3/2009

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

16825 HONDA BACK GLASS MOULDING
C _ _ 12/1/2021

16856 DISCONTINUED - JACKNUT INST 22403 REPLACEMENT FOR DISC
ITEM 6/30/2021

16861 DISCONTINUED - HONDA
WINDSH _ _ 3/14/2017

16890 DOOR FLANGE
WTHERSTP-25FT-F 16890B SUBSTITUTE BULK ITEM FOR

UNIT 6/1/2023

16891 DOOR FLANGE
WTHRSTP-50FT-FO _ _ 6/1/2023

16892 DISCONTINUED - ROOF RAIL
WE _ _ 11/6/2018

16895 DISCONTINUED -MULTI-GRIP RI _ _ 3/10/2011

16925 MINIATURE BULB #1034 _ _ 1/24/2023

16935 DISCONTINUED -FUSIBLE LINK _ _ 11/12/2009

16939 DISCONTINUED - WINDOW
REGUL _ _ 3/4/2019

16957 DISCONTINUED - FIBRE DRAIN _ _ 5/2/2012

16965 A/C PRESSURE SWITCH _ _ 1/31/2022



HARNESS

16985 DISCONTINUED - RD HD
BUMPER _ _ 7/30/2018

16990 DISCONTINUED - STAVEX
LARGE _ _ 3/1/2017

17000 DISCONTINUED - HORIZONTAL
H _ _ 11/6/2018

17001 DISCONTINUED -ELECTRICAL TE _ _ 8/17/2010

17013 TEENUT STAINLESS STEEL 1/4- _ _ 4/4/2023

17024 INT-EXT COMBINATION LOCK
WA _ _ 11/2/2022

17025 DISCONTINUED - INT-EXT
COMB _ _ 1/13/2012

17031 DISCONTINUED - ALTERNATOR
B _ _ 6/30/2021

17050 DISCONTINUED - VINYL INSULA _ _ 8/12/2019

17051 DISCONTINUED - VINYL INSULA _ _ 4/15/2019

17053 DISCONTINUED - VINYL INSULA _ _ 8/12/2019

17064 CHRYSLER WOODGRAIN SIDE
MOU _ _ 8/1/2023

17069 DOOR LOCK ROD CLIP 4MM ROD _ _ 8/2/2021

17072 DISCONTINUED - GM FRONT DO _ _ 3/4/2020

17074 DISCONTINUED - GM
WINDSHIEL _ _ 4/2/2015

17078 DISCONTINUED
-DISCONTINUED _ _ 10/8/2008

17083 DISCONTINUED - TYPE 1A DRIV _ _ 5/2/2012

17089 DISCONTINUED - REAR PILLAR _ _ 11/17/2017

17093 DRILL OUT BROKEN BOLT
EXTRA _ _ 6/7/2021

17104 DISCONTINUED ONTINUED
HEAD _ _ 2/27/2015

17108 GM SIDE MARKER LIGHT PIGTAI _ _ 5/8/2023

1711 DISCONTINUED -PHILLIPS FLAT 2804 Discontinued 6/14/2011

17115 DISCONTINUED - RING
TERMINA _ _ 10/4/2018

17155 DISCONTINUED - STAIN.STEEL _ _ 6/29/2017

17156 DISCONTINUED - STAIN.STEEL _ _ 8/14/2018

17157 DISCONTINUED -GREASE
FITTIN _ _ 11/29/2005

17159 GM FRONT DOOR WINDOW
GUIDE _ _ 11/2/2022

17177 DISCONTINUED -ALUMINUM
RIVE _ _ 1/29/2015

17183 DISCONTINUED -VELCRO SPOOL _ _ 12/4/2008

17187 DISCONTINUED -STAINLESS
STE _ _ 5/13/2013

17197 DISCONTINUED - GM OIL PRESS _ _ 5/2/2012

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

17198 GM THROTTLE POSITION
SENSOR _ _ 8/1/2023

1720 CHRYSLER DOOR & QUARTER
TRI _ _ 6/16/2021

NYLON NUT 10MM WIDTH 10MM



17224 L _ _ 12/1/2021

17230 DISCONTINUED ONTINUED GM
S _ _ 2/6/2014

17233 DISCONTINUED - GM HEADLINI _ _ 6/30/2021

17240 DISCONTINUED - HEAVY DUTY T _ _ 7/19/2016

17245 DISCONTINUED - HEAVY DUTY _ _ 6/30/2021

17246 DISCONTINUED - HEAVY DUTY _ _ 6/30/2021

17247 DISCONTINUED - HEAVY DUTY T _ _ 6/30/2021

17263L2 SUPERSEDED BY 17263 (LA)O _ _ 1/23/2017

17268 DISCONTINUED - ACURA
QUARTE _ _ 5/16/2014

17270 DISCONTINUED - HONDA
MOULD _ _ 1/8/2016

17271 DISCONTINUED ONTINUED GM
C _ _ 4/17/2020

17279 DISCONTINUED - BMW
WINDSHIE _ _ 5/5/2015

17282 DISCONTINUED - HONDA
WINDSH _ _ 11/9/2015

17285 DISCONTINUED - HONDA
WINDSH _ _ 6/9/2015

17286 DISCONTINUED -HONDA
WINDSHI _ _ 10/22/2010

17289 DISCONTINUED - HONDA COWL _ _ 7/6/2021

17290 DISCONTINUED - MAZDA/FORD
R _ _ 9/7/2018

17295 DISCONTINUED -MITSUBISHI
WI _ _ 10/25/2010

17298 TOYOTA WINDSHIELD
MOULDING _ _ 12/1/2021

1730 DISCONTINUED -SLOTTED PAN
H 1458 REPLACEMENT FOR DISC

ITEM 10/22/2010

17302 DISCONTINUED - TOYOTA
WINDS _ _ 12/20/2013

17320 DISCONTINUED - HONDA
WINDOW _ _ 11/6/2018

17323 DISCONTINUED - ACURA
WINDSH _ _ 11/6/2018

17329 DISCONTINUED -MOULDING
CLIP _ _ 9/21/2022

17330 DISCONTINUED - TOYOTA
WINDS _ _ 11/17/2017

17334 DISCONTINUED ONTINUED
TOYO _ _ 9/2/2020

17338 DISCONTINUED - FORD HOOD
PR _ _ 4/5/2016

17343 DISCONTINUED - GM DOOR
HING _ _ 8/10/2017

17345 DISCONTINUED -GM DOOR
HINGE _ _ 2/9/2011

17348 DISCONTINUED - NISSAN ROOF _ _ 6/30/2021

17352 DISCONTINUED -TOYOTA
HEADLI _ _ 8/6/2009

17354 CHRYSLER COWL SCREEN NUT
#8 _ _ 6/11/2021

17369 DISCONTINUED -ALUMINUM
TUBI _ _ 11/3/2010

DISCONTINUED -ALUMINUM



17374 TUBI 17366 Discontinued 11/3/2010

17382 GM BUMPER VALANCE PANEL
RET _ _ 10/4/2021

17405 METRIC CAP SCREW 8.8 M12-1. _ _ 4/4/2023

17409 DISCONTINUED - CLOSED END
R _ _ 12/7/2012

17414 DISCONTINUED - CLOSED END
R _ _ 7/24/2014

17424 INTERLOCK RIVET 1/4 DIA. 5/ _ _ 5/1/2023

17426 DISCONTINUED - ULTRA GRIP R _ _ 2/6/2013

17428 INTERLOCK RIVET 1/4 DIA. 5/ _ _ 6/1/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

17432 DISCONTINUED - AVEX BLIND R _ _ 9/6/2016

17436 DISCONTINUED - TRUNK LID HI _ _ 5/2/2017

17450 BUMPER COVER RETAINER
20MMX _ _ 8/2/2021

17451 DISCONTINUED - FORD/MAZDA
R _ _ 10/4/2018

17454 DISCONTINUED - HONDA REAR
W _ _ 3/13/2017

17455 DISCONTINUED - GM REAR
DOOR _ _ 2/19/2019

17475 DISCONTINUED - HONDA
WINDSH _ _ 6/29/2017

17483 DISCONTINUED -PHILLIPS RND _ _ 4/13/2011

17485 DISCONTINUED - TOYOTA
WINDS _ _ 4/5/2016

17498 DISCONTINUED - RIVET GUN EX _ _ 3/13/2017

17508 DISCONTINUED - GM TRUCK GR _ _ 6/30/2021

17514 GLASS WEATHERSTRIP
W/LOCKIN _ _ 6/17/2022

17527 3/8-24 THREAD REPAIR INSERT _ _ 2/1/2023

17534 DISCONTINUED - HEAVY DUTY T _ _ 4/8/2015

17536 HEAVY DUTY THREAD REPAIR IN _ _ 1/2/2023

17545 GM ROCKER PANEL MOULDING
CL _ _ 1/2/2023

17552 FORD/MAZDA COWL SCREEN
GROM _ _ 9/1/2021

17554 FORD/MAZDA REAR HATCH
RETAI _ _ 1/31/2022

17567 GRADE 8 HEX FLANGE BOLT 1/2 _ _ 6/1/2023

17568 GRADE 8 HEX FLANGE BOLT 1/2 _ _ 5/1/2023

17571 GRADE 8 HEX FLANGE BOLT 1/2 _ _ 8/1/2023

17574 GRADE 8 HEX FLANGE BOLT 1/2 _ _ 1/8/2024

17576 GRADE 8 HEX FLANGE BOLT 5/8 _ _ 6/1/2023

17583 DISCONTINUED - GRADE 8 HEX _ _ 6/30/2021

17613 DISCONTINUED - FORD WHEEL
O _ _ 3/6/2015

17628 DISCONTINUED - FIBRE DRAIN _ _ 9/21/2022

17637 DISCONTINUED -GM RIVET 1/4 18889 REPLACEMENT FOR DISC
ITEM 11/1/2010

17640 DISCONTINUED - GM WINDOW _ _ 12/9/2016



CH

17646 DISCONTINUED - BMW
HEADLIGH _ _ 11/17/2017

17647 DISCONTINUED -IN-LINE MINI _ _ 10/6/2005

17657 DISCONTINUED -PHILLIPS OVAL _ _ 11/12/2009

17666 DISCONTINUED - GM GARNISH _ _ 3/4/2020

17674 DISCONTINUED -GREASE
FITTIN _ _ 11/29/2005

17691 GM ALTERNATOR HARNESS
CONNE _ _ 9/17/2021

17701 DISCONTINUED -KEY BLANKS
AN _ _ 6/13/2003

17974 FORD WINDOW LIFT MOTOR
GEAR _ _ 11/16/2021

17979 GM FRONT & REAR DOOR
MOULDI _ _ 9/1/2021

17983 GRADE 8 CAP SCREW 1/2-20 X _ _ 8/2/2021

18-CB 18 COMPARTMENT BIN _ _ 12/1/2022

18002 MINIATURE BULB #1891 _ _ 4/4/2023

18018 MINIATURE BULB #24NA _ _ 4/4/2023

18034 CHRYSLER NYLON NUT #8
SCREW _ _ 8/26/2022

1807 DISCONTINUED - PHILLIPS OVA _ _ 1/14/2020

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

181 DISCONTINUED - BRASS MALE
B _ _ 9/21/2022

18105 DISCONTINUED - GM TRUCK
NAM _ _ 8/24/2016

18117 DISCONTINUED - GM DASH
RETA _ _ 1/21/2015

18118 DISCONTINUED ONTINUED GM
B _ _ 9/3/2020

18155 DISCONTINUED - FORD ARM RE _ _ 9/21/2022

18158 DISCONTINUED -GM DOOR JAM
P _ _ 7/31/2012

18162 DISCONTINUED -WIRE LOOM
CLI _ _ 10/18/2013

18163 CHRYSLER WHEEL NUT
STAINLES _ _ 10/4/2021

18171 DISCONTINUED - GM RIVET 1/4 _ _ 4/3/2014

18180 DISCONTINUED - HEX HEAD
SEM _ _ 9/8/2014

18182 DISCONTINUED - HEX HEAD
SEM _ _ 2/29/2012

18195 DISCONTINUED .-GM WINDOW
CR _ _ 11/2/2010

182 DISCONTINUED - BRASS MALE
B _ _ 11/9/2015

18200 DISCONTINUED -HONDA
BUMPER _ _ 7/26/2011

18209 DISCONTINUED - FLAT NUT #8 _ _ 5/5/2015

18214 FORD IGNITION MODULE
HARNES _ _ 12/1/2021

18237 CHRYSLER HEADLIGHT SHIELD
R _ _ 11/2/2022



18245 FLUORESCENT WORK LIGHT _ _ 8/1/2022

18246 ROUGH SERVICE FLUORESCENT
L _ _ 1/31/2022

18252 DISCONTINUED -LOCKNUT _ _ 3/22/2005

18263 DISCONTINUED - FORD
HEADLIG _ _ 10/4/2018

18267 DISCONTINUED - CHRYSLER
BRA _ _ 6/9/2015

18274 DISCONTINUED - GM FRONT
FEN _ _ 2/10/2015

18275 DISCONTINUED - FORD ROOF
TR _ _ 3/30/2021

18316 DISCONTINUED - GM IGNITION _ _ 6/30/2021

18317 DISCONTINUED -GM BLOWER
MOT _ _ 5/12/2010

18319 DISCONTINUED -GM POWER
WIND _ _ 6/1/2011

18330 GM FRONT DOOR
WEATHERSTRIP _ _ 7/25/2023

18330CR FRONT DOOR WEATHERSTRIP
RET _ _ 7/25/2023

18331 DISCONTINUED - FORD SPECIAL _ _ 9/21/2022

18345 DISCONTINUED - NYLON LIC. P _ _ 2/3/2016

18349 DISCONTINUED - NYLON LIC. P _ _ 6/30/2021

18352 DISCONTINUED - GM
WEATHERST _ _ 11/9/2015

18382 DISCONTINUED - FORD NYLON
S _ _ 3/12/2013

18390 DISCONTINUED - GM FRONT
DOO _ _ 6/20/2018

18395 DISCONTINUED - GM
WEATHERS _ _ 6/30/2021

18396 DISCONTINUED - FORD SPECIA _ _ 6/30/2021

18397 DISCONTINUED -TRIM PAD
FAST _ _ 10/8/2010

18399 DISCONTINUED -GM BACK
WINDO _ _ 5/13/2013

18403 DISCONTINUED -HONDA
WINDSHI _ _ 10/22/2010

18404 DISCONTINUED - HONDA
WINDSH _ _ 3/4/2019

18405 DISCONTINUED - HONDA
WINDSH _ _ 7/30/2018

18406 DISCONTINUED - HONDA
WINDSH _ _ 3/13/2017

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

18408 DISCONTINUED -FORD
ELECTRIC _ _ 8/24/2005

18417 GM FRONT & REAR DOOR LOWR
F _ _ 1/31/2022

18419 DISCONTINUED - GM FRNT
FNDR _ _ 2/10/2015

18420 DISCONTINUED - GM FRNT FND _ _ 1/8/2016

18421 DISCONTINUED - GM FRONT &
R _ _ 1/8/2014

18422 DISCONTINUED - GM DOOR _ _ 3/2/2016



UPPE

18423 GM DOOR UPPER MOULDING
CLIP _ _ 3/1/2022

18429 DISCONTINUED - GM REAR
DOOR _ _ 3/13/2017

18450 DISCONTINUED -LOCKING RING _ _ 7/26/2011

18451 DISCONTINUED - LOCKING
RING _ _ 5/24/2018

18455 DISCONTINUED -HONDA SASH
GA _ _ 1/26/2007

18464 DISC-SUPERSEDED BY 23037 _ _ 1/27/2023

18467 MINIATURE BULB #293 _ _ 1/2/2023

18471 DISCONTINUED - MINIATURE
BU _ _ 11/19/2012

18472 MINIATURE BULB #1445 _ _ 5/1/2023

18476 MINIATURE BULB #3157NA-SA _ _ 2/1/2023

18506 DISCONTINUED -MOULDING
CLIP _ _ 1/20/2005

18507 DISCONTINUED - GM PARKING
L _ _ 2/6/2015

18523 DISCONTINUED - HEX HEAD
SEM _ _ 5/2/2012

18526 DISCONTINUED - GM FUEL PMP/ _ _ 11/17/2017

18531 CHRYSLER ZIPTWIST WING NUT _ _ 12/1/2021

18535 DISCONTINUED - BLUE
NEOPREN _ _ 11/21/2014

18536 BLUE NEOPRENE A/C O RING SI _ _ 8/1/2023

18538 DISCONTINUED - BLUE
NEOPREN _ _ 11/21/2014

18539 DISCONTINUED -BLUE NEOPREN _ _ 2/21/2023

18541 DISCONTINUED - BLUE
NEOPREN _ _ 2/19/2018

18542 DISCONTINUED - BLUE
NEOPREN _ _ 5/2/2012

18544 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18545 DISCONTINUED - HELI-COIL IN _ _ 6/30/2021

18547 HELICAL THREAD INSERT 3/8-1 _ _ 3/1/2022

18548 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18549 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18550 DISCONTINUED - HELICAL THRE _ _ 9/11/2017

18551 DISCONTINUED - HELI-COIL IN _ _ 10/3/2016

18552 DISCONTINUED - HELI-COIL IN _ _ 6/9/2015

18553 DISCONTINUED - HELI-COIL IN _ _ 12/1/2015

18554 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18555 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18557 HELICAL THREAD INSERT 1/2-2 _ _ 9/1/2021

18558 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18559 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18561 DISCONTINUED - HELI-COIL IN _ _ 6/30/2021

18563 HELICAL THREAD INSERT M10-1 _ _ 4/4/2023

Auveco Discontinued Items



Item # Description Rpl Item Disc. Notes Date

18564 DISCONTINUED - HELI-COIL IN _ _ 6/30/2021

18565 DISCONTINUED - HELI-COIL IN _ _ 6/30/2021

18566 DISCONTINUED - HELI-COIL IN _ _ 3/6/2015

18567 DISCONTINUED - HELI-COIL IN _ _ 6/30/2021

18568 DISCONTINUED - HELICAL THR _ _ 6/30/2021

18569 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18570 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18572 DISCONTINUED - HELI-COIL TO _ _ 3/2/2016

18573 DISCONTINUED - HELI-COIL TO _ _ 3/2/2016

18574 DISCONTINUED - HELI-COIL TO _ _ 3/6/2015

18576 HELICAL THREAD TOOL FOR 1/2 _ _ 9/1/2021

18578 DISCONTINUED - HELI-COIL TO _ _ 1/27/2015

18581 DISCONTINUED - HELI-COIL TO _ _ 6/30/2021

18582 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18583 DISCONTINUED - HELI-COIL TO _ _ 6/30/2021

18585 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18586 HELICAL THREAD TOOL FOR M8- _ _ 9/1/2021

18588 DISCONTINUED - HELI-COIL TO _ _ 6/30/2021

18590 DISCONTINUED - HELI-COIL TO _ _ 6/30/2021

18592 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18595 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18596 DISCONTINUED - HELI-COIL TA _ _ 1/27/2015

18597 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18598 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18599 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18600 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18601 DISCONTINUED - HELI-COIL TA _ _ 7/19/2016

18604 DISCONTINUED - HELI-COIL TA _ _ 1/27/2015

18605 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18607 DISCONTINUED - HELICAL THRE _ _ 11/6/2018

18609 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18610 DISCONTINUED - HELI-COIL TA _ _ 5/3/2016

18611 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18612 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18613 DISCONTINUED ONTINUED HELI _ _ 6/30/2021

18614 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

18617 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18618 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18619 HELICAL THREAD TAP FOR M12 _ _ 2/1/2023

18620 DISCONTINUED - HELI-COIL TA _ _ 6/30/2021

18621 DISCONTINUED - HELICAL KIT _ _ 1/20/2016

18622 DISCONTINUED - HELI-COIL KI _ _ 6/30/2021

18624 DISCONTINUED - HELICAL THRE _ _ 6/30/2021

Auveco Discontinued Items



Item # Description Rpl Item Disc. Notes Date

18626 HELICAL THREAD KIT FOR 1/2- _ _ 9/1/2021

18629 DISCONTINUED - HELI-COIL KI _ _ 1/20/2016

18630 HELICAL THREAD KIT FOR 1/4- _ _ 7/28/2021

18634 DISCONTINUED - HELI-COIL KI _ _ 1/20/2016

18635 DISCONTINUED - HELI-COIL _ _ 6/30/2021

18636 DISCONTINUED - HELI-COIL KI _ _ 6/30/2021

18642 DISCONTINUED - HELI-COIL KI _ _ 1/20/2016

18644 DISCONTINUED - HELI-COIL KI _ _ 6/30/2021

18648 DISCONTINUED - OEM TERM
PAC _ _ 4/3/2014

18655 DISCONTINUED -OEM TERM
MICR _ _ 3/7/2008

18660 DISCONTINUED - OEM
TERMINAL _ _ 1/8/2014

18675 DISCONTINUED - FORD A/C
CON _ _ 3/12/2013

18677 DISCONTINUED - FORD IDLE AI _ _ 5/5/2015

18685 DISCONTINUED - GM LICENSE _ _ 6/30/2021

18691 GM DASH SOUND BARRIER
RETAI _ _ 1/3/2022

18704 DISCONTINUED - THIN WALL HE _ _ 8/5/2014

18712 DISCONTINUED -INSULATED
CLO _ _ 1/11/2011

18721 DISCONTINUED -INSUL. RING T _ _ 7/16/2007

18735 HEAT SHRINK TUBING 8-1
GAUG _ _ 11/2/2023

18742 DISCONTINUED - MULTI-GRIP R _ _ 3/22/2012

18754 ACURA WINDSHIELD CRNR
MLDNG _ _ 12/1/2021

18756 ACURA WINDSHIELD SIDE
MLDNG _ _ 12/1/2021

18757 DISCONTINUED - ACURA
WINDSH _ _ 3/13/2017

18758 DISCONTINUED - ACURA
WINDSH _ _ 2/19/2018

18759 DISCONTINUED - ACURA
WINDSH _ _ 1/3/2018

18760 ACURA WINDSHIELD SIDE
MLDNG _ _ 12/1/2021

18762 DISCONTINUED - ACURA
WINDSH _ _ 11/17/2017

18767 ACURA WINDSHIELD SIDE
MLDNG _ _ 12/1/2021

18770 CHRYSLER COWL & DASH PANEL _ _ 1/31/2022

18781 HEX HD SEMS TAP SCREW
M4.2- _ _ 3/2/2021

188 DISCONTINUED - BRASS UNION _ _ 7/6/2016

18812 LG FLANGE RIVET 3/16 DIA. 3 _ _ 6/16/2021

18822 DISCONTINUED -MAZDA &
FORD _ _ 10/22/2010

18828 DISCONTINUED -OIL DRAIN PL _ _ 10/14/2011

18833 DISCONTINUED - GM ROCKER
PA _ _ 10/6/2014

18846 DISCONTINUED - TOYOTA RADI _ _ 6/30/2021



18853 DISCONTINUED - FORD ELECTR _ _ 6/30/2021

18854 DISCONTINUED
-DISCONTINUED _ _ 5/22/2008

18859 DISCONTINUED - GM AIR INTA _ _ 6/30/2021

18860 DISCONTINUED -FORD
LUGGAGE _ _ 1/28/2010

18864 DISCONTINUED - HONDA
WINDSH _ _ 6/30/2021

18865 HONDA WINDSHIELD
MOULDING C _ _ 1/31/2022

18872 DISCONTINUED - GM WIPER
MOT _ _ 5/5/2015

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

18876CRX TOYOTA TRIM BOARD RETAINER _ _ 9/8/2023

18881 DISCONTINUED - EXTRUDED U
N _ _ 9/11/2015

18882 DISCONTINUED ONTINUED
FORD _ _ 12/22/2017

18886 DISCONTINUED - BLUE
NEOPREN _ _ 5/4/2020

18912 DISCONTINUED - GM SPECIALTY _ _ 1/18/2021

18919 DISCONTINUED - CHRYSLER
SIG _ _ 1/3/2017

18920 CHRYSLER BACK-UP LIGHTS
SOC _ _ 8/2/2021

18933 DISCONTINUED - GM
PUSH-TYPE _ _ 6/20/2014

18947 FORD WINDOW LIFT MOTOR
GEAR _ _ 9/1/2021

18953 DISCONTINUED - ELECTRICAL T _ _ 9/11/2017

18955 DISCONTINUED -KNOB _ _ 6/13/2003

18959 DISCONTINUED - FLUTED KNOB _ _ 5/2/2012

18960 DISCONTINUED -FLUTED KNOB
W _ _ 5/12/2010

18962 DISCONTINUED - T-KNOB W/ 5/ _ _ 10/22/2012

18965 DISCONTINUED -T-KNOB W/
5/1 _ _ 10/8/2010

18969 DISCONTINUED - 3 PRONG
KNOB _ _ 2/6/2013

18977 DISCONTINUED - MOULDING
CLI _ _ 6/20/2014

18992 DISCONTINUED - MEGA FUSE
25 _ _ 3/28/2013

19008 DISCONTINUED - GM ROCKER
PA _ _ 10/22/2012

19014 TOYOTA TRIM PANEL RETAINER _ _ 10/4/2021

19019 HORN FOR IMPORT VEHICLES - _ _ 6/16/2021

19020 HORN FOR IMPORT VEHICLES - _ _ 8/2/2021

19024 HORN RELAY 12 VOLT _ _ 6/1/2023

19029 MULTI-GRIP RIVET 3/16 DIA. _ _ 6/1/2023

19044 DISCONTINUED - PANL BLIND S _ _ 8/5/2014

19069 DISCONTINUED -WINDOW
MOTOR _ _ 12/8/2004

19071 DISCONTINUED - FORD _ _ 10/2/2015



WINDOW

19081 DISCONTINUED -HVAC MOTOR - _ _ 9/17/2012

1910 DISCONTINUED - U NUT #12 SC _ _ 10/3/2013

19101 DISCONTINUED - TORX BUTTON _ _ 4/3/2017

19110 FORD PEEL TYPE RIVET 1/4 DI _ _ 5/1/2023

19119 DISCONTINUED
-DISCONTINUED _ _ 8/18/2008

19122 DISCONTINUED - TOYOTA
HEADL _ _ 11/17/2017

19131 CHRYSLER COWL SCREEN
RETAIN _ _ 10/4/2021

19138 FORD & MAZDA COWL VENT
GRIL _ _ 6/11/2021

1914 DISCONTINUED - FLAT NUT 3/3 1906 Discontinued 7/27/2012

19144 DISCONTINUED - EXTRUDED U
N _ _ 6/4/2018

19150 DISCONTINUED - HONDA
BUMPER _ _ 6/28/2012

19151 DISCONTINUED - SHIELDED LIC _ _ 12/7/2012

19152 DISCONTINUED - CHRYSLER GR _ _ 5/20/2020

19153 OPEL MOULDING CLIP _ _ 6/11/2021

19168 DISCONTINUED - GM WHEEL
NUT _ _ 6/30/2021

19181 DISCONTINUED - TORX PAN HD _ _ 4/30/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

19190 DISCONTINUED -CHRYSLER
DOOR _ _ 10/22/2010

19198 DISCONTINUED - TOYOTA
DOOR _ _ 7/6/2015

19204 DISCONTINUED ONTINUED
TOYO _ _ 11/27/2017

19208 DISCONTINUED - MINIATURE B _ _ 7/6/2021

19209 HALOGEN BULB #2040 _ _ 6/1/2023

19212 DISCONTINUED - FORD FUEL SH _ _ 2/20/2014

19215 JAWS FOR 7915 RIVET GUN _ _ 2/1/2023

19217 DISCONTINUED -METRIC
MANIFO _ _ 7/31/2012

19221 DISCONTINUED -GM FUEL LINE _ _ 2/9/2011

19222 DISCONTINUED - GM FUEL LINE _ _ 1/13/2012

19223 DISCONTINUED - HONDA
WINDSH _ _ 9/21/2022

19224 DISCONTINUED - HONDA
WINDSH _ _ 1/21/2015

19225 DISCONTINUED ONTINUED
ACUR _ _ 5/21/2018

19227 DISCONTINUED -ACURA
WINDSHI _ _ 1/28/2010

19230 DISCONTINUED -ACURA
HEADLIN 20319 REPLACEMENT FOR DISC

ITEM 7/16/2007

19234 DISCONTINUED - ECONOMY
RIVE 22409 REPLACEMENT FOR DISC

ITEM 8/8/2017

19242 DISCONTINUED - GM AIR INLE _ _ 9/1/2020

19247 DISCONTINUED - GM AIR INTAK _ _ 11/6/2018



19249 DISCONTINUED - VOLVO
ROCKER _ _ 4/3/2014

19265 DISCONTINUED - TOYOTA
WINDS _ _ 12/1/2015

19276 DISCONTINUED - JEEP DOOR TR _ _ 5/24/2018

19280 DISCONTINUED - FORD DOOR
WI _ _ 6/10/2015

19281 DISCONTINUED - FORD
WINDOW _ _ 10/14/2019

19295 PAL FUSE 80 AMP BENT BLACK _ _ 8/1/2022

19300 DISCONTINUED - FULLY INS.NY _ _ 4/3/2014

19313 DISCONTINUED - NORD LOCK
WA _ _ 3/28/2013

19319 DISCONTINUED -STEEL TRANS. _ _ 4/19/2011

19326 DISCONTINUED - FORD BUMPER _ _ 6/8/2021

19328 MITSUBISHI TRUNK TRIM CAP _ _ 3/1/2022

19330 DISCONTINUED ONTINUED
MITS _ _ 12/4/2017

19335 DISCONTINUED - PUSH-TYPE RE _ _ 5/24/2018

19340 DISCONTINUED - GM AIR INLET _ _ 3/6/2015

19341 1/8 X 3/4 X 25 WEATHERSTRIP _ _ 2/1/2023

19343 MITSUBISHI WINDSHIELD
MOULD _ _ 3/1/2022

19345 FORD PILLAR TRIM CLIP _ _ 12/19/2022

19352 DISCONTINUED - FORD ROOF
TR _ _ 6/30/2021

19354 DISCONTINUED - FORD ROOF T _ _ 6/30/2021

19357 GM ROCKER QUARTER PANEL
MOU _ _ 12/19/2022

19358 DISCONTINUED -GM FRONT & R _ _ 5/16/2019

19362 DISCONTINUED - GM ROCKER
PA _ _ 10/6/2014

19363 DISCONTINUED - GM FRONT
DOO _ _ 4/5/2016

19369 DISCONTINUED -GM BUMPER
FIL _ _ 11/2/2010

19370 DISCONTINUED - GM ROCKER
PA _ _ 8/14/2018

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

19371 DISCONTINUED - FORD TRIM PA _ _ 6/20/2018

19372 DISCONTINUED - FORD TRIM PA _ _ 4/3/2014

19374 DISCONTINUED - FORD TRIM P _ _ 9/1/2020

19380 DISCONTINUED - TOYOTA
DOOR _ _ 11/6/2018

19381 DISCONTINUED ONTINUED GM
M _ _ 6/30/2020

19384 DISCONTINUED -CHRYSLER
HEAD _ _ 5/12/2010

19387 GM FRONT & REAR DOOR TRIM
P _ _ 3/1/2022

19388 DISCONTINUED -GM FRONT &
RE _ _ 10/18/2007

19389 DISCONTINUED - GM FRONT
FEN _ _ 5/2/2017



19395 DISCONTINUED -GM SPECIALTY _ _ 5/13/2013

19396 DISCONTINUED - FORD SPECIAL _ _ 8/7/2015

19398 DISCONTINUED - GM QUARTER
T _ _ 10/3/2016

19399 DISCONTINUED - GM DOOR
HAND _ _ 7/13/2017

19403 DISCONTINUED - FOOTMAN
LOOP _ _ 11/10/2014

19404 FOORMAN LOOP 1-1/2 STRAP BL _ _ 4/4/2023

19410 DISCONTINUED ONTINUED GM
F _ _ 7/24/2018

19420 DISCONTINUED - FORD PEEL-TY _ _ 8/14/2018

19426 DISCONTINUED -FORD
WINDOW R _ _ 11/14/2007

19437 DISCONTINUED - CHRYSLER TRI _ _ 10/6/2014

19438 DISCONTINUED -GM BUMPER
FAS _ _ 11/2/2010

19450 DISCONTINUED - MAZDA REAR
D _ _ 11/6/2018

19451 DISCONTINUED - MAZDA COWL
P _ _ 5/24/2018

19452 DISCONTINUED - MAZDA REAR
W _ _ 3/13/2017

19462 DISCONTINUED - FORD PEEL-TY _ _ 9/11/2017

19463 DISCONTINUED - ACURA FRONT _ _ 2/3/2016

19464 DISCONTINUED - ACURA ROOF _ _ 7/6/2021

19474 DISCONTINUED - MITSUBISHI
W _ _ 8/10/2017

19475 DISCONTINUED - MITSUBISHI
W _ _ 10/3/2016

19476 HONDA & ACURA WINDSHIELD
LF _ _ 3/1/2022

19477 HONDA & ACURA WINDSHIELD
RG _ _ 8/2/2021

19482 LEXUS FRONT DOOR OUTSIDE
MO _ _ 3/1/2022

19484 TOYOTA WINDSHIELD
MOULDING _ _ 4/1/2022

19492 DISCONTINUED - LEXUS FRONT _ _ 11/6/2018

19498 DISCONTINUED - REAR VIEW M _ _ 6/30/2021

19501 GM TRIM PANEL RETAINER TAN _ _ 1/31/2022

19504 DISCONTINUED - TOYOTA
FRONT _ _ 9/18/2013

19509 DISCONTINUED -FORD
SPECIALT 12652 REPLACEMENT FOR DISC

ITEM 11/12/2007

19510 DISCONTINUED -TAPE _ _ 3/2/2006

19512 DISCONTINUED - HONDA
WINDSH _ _ 3/28/2013

19517 DISCONTINUED - FORD COWL
TO _ _ 5/16/2014

19531 DISCONTINUED - TOYOTA
DOOR _ _ 3/30/2021

19532 DISCONTINUED - FORD
WEATHER _ _ 3/30/2021

19536 DISCONTINUED - FORD COWL V _ _ 1/31/2024

Auveco Discontinued Items



Item # Description Rpl Item Disc. Notes Date

19537 DISCONTINUED ONTINUED
TUBU _ _ 8/25/2020

19549 DISCONTINUED - GM
HEADLIGHT _ _ 1/13/2012

19551 DISCONTINUED - VINYL
GLOVES _ _ 5/4/2020

19556 GM BRAKE LGHT SWITCH
HARNES _ _ 4/1/2022

19558 SINGLE BOND NYLON HOSE
CLAM _ _ 1/3/2022

19560 SINGLE BOND NYLON HOSE
CLAM _ _ 7/26/2021

19562 SINGLE BOND NYLON HOSE
CLAM _ _ 4/1/2022

19565 DISCONTINUED - SINGLE BOND _ _ 6/30/2021

19566 DISCONTINUED - SINGLE BOND _ _ 3/5/2020

19568 DISCONTINUED - SINGLE BOND _ _ 6/30/2021

19571 DISCONTINUED - SINGLE BOND _ _ 6/30/2021

19573 DISCONTINUED -SINGLE BOND
N _ _ 3/4/2015

19574 DISCONTINUED
-DISCONTINUED _ _ 3/4/2015

19576 DISCONTINUED - SAFETY LEVE _ _ 2/22/2021

19577 BLO-GUN W/SAFETY NOZZLE
AND _ _ 1/2/2023

19578 SIPHON SPRAY NOZZLE _ _ 6/7/2021

19579 RUBBER BLO-GUN TIP _ _ 3/30/2021

19583 DISCONTINUED - TOYOTA
ROCKE _ _ 2/10/2015

19594 DISCONTINUED - FORD DOOR H _ _ 7/20/2020

19595 DOUBLE-END STUD 9" LGTH 1/4 _ _ 10/4/2021

19598 DISCONTINUED - DOUBLE-END
S _ _ 12/20/2013

19608 DISCONTINUED - MINIATURE
BU B1156 REPLACEMENT FOR DISC

ITEM 1/21/2015

19609 DISCONTINUED - MINIATURE
BU B1157 REPLACEMENT FOR DISC

ITEM 2/6/2013

19610 DISCONTINUED - MINIATURE
BU B1157A REPLACEMENT FOR DISC

ITEM 10/3/2013

19611 DISCONTINUED - MINIATURE
BU B194 REPLACEMENT FOR DISC

ITEM 5/20/2013

19612 DISCONTINUED - MINIATURE
BU B194A REPLACEMENT FOR DISC

ITEM 4/2/2015

19616 DISCONTINUED - GM RADIATOR _ _ 2/2/2017

19617 DISCONTINUED - SELF-THREADI _ _ 5/2/2012

19624 DISCONTINUED
-DISCONTINUED _ _ 7/22/2008

19625 DISCONTINUED -TOYOTA HOOD
B _ _ 2/1/2008

19640 CHRYSLER BUMPER FASCIA
GROM _ _ 5/1/2023

19642 DISCONTINUED - CHRYSLER
BUM _ _ 3/30/2021

19648 MAZDA WINDSHIELD CLIP
13MM _ _ 9/1/2021

DISCONTINUED - FORD DOOR



19651 LO _ _ 9/18/2013

19659 DISCONTINUED - FORD DOOR
LA _ _ 7/27/2012

19665 DISCONTINUED - BLUE
NEOPREN _ _ 11/21/2014

19668 ACURA WINDSHIELD CLIP
YELLO _ _ 9/1/2021

19670 DISCONTINUED - HONDA REAR
W _ _ 11/17/2017

19676 GM LIC. PLT COVER SCREW GRO _ _ 4/4/2023

19677 DISCONTINUED - FORD INST. P _ _ 2/20/2014

19679 DISCONTINUED - ACURA &
HOND _ _ 11/17/2017

19680 DISCONTINUED - HONDA ROOF _ _ 3/30/2021

19695 DISCONTINUED - RESIN BONDE _ _ 6/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

19696 DISCONTINUED ONTINUED RESI _ _ 6/30/2021

19707 DISCONTINUED - RESIN
BONDED _ _ 6/30/2021

19718 DISCONTINUED - CHRYSLER
SPE _ _ 2/22/2021

19720 TOYOTA HOOD CLIP 8MM X
17MM _ _ 10/2/2022

19722 TOYOTA DOOR GLASS CLIP _ _ 4/1/2022

19723 ACURA MLDNG SCREW
GROMMET 1 _ _ 4/1/2022

19725 DISCONTINUED - GM DOOR
ROLL _ _ 9/21/2022

19733 DISCONTINUED - GM FRONT
BUM _ _ 2/10/2015

19738 DISCONTINUED - NISSAN DOOR _ _ 6/9/2015

19745 DISCONTINUED - MITSUBISHI
W _ _ 10/4/2018

19746 ACURA DOOR LINING CLIP 10.5 _ _ 1/31/2022

19748 MAZDA SPLASH SHIELD
GROMMET _ _ 4/1/2022

19751 DISCONTINUED -CHRYSLER
SPEC _ _ 11/1/2010

19754 DISCONTINUED - MAZDA
WIRING _ _ 2/22/2021

19755 DISCONTINUED - MAZDA DOOR
B _ _ 11/17/2017

19758 DISCONTINUED - GM TRIM PAN _ _ 6/30/2021

19759 DISCONTINUED - GM TRIM
PANE _ _ 5/24/2018

19776 LEXUS WINDSHIELD CLIP
WHITE _ _ 11/2/2021

19780 DISCONTINUED -FORD
WINDSHIE _ _ 11/1/2010

19784 DISCONTINUED -CHRYSLER
DOOR _ _ 3/10/2011

19785 DISCONTINUED - CHRYSLER
COW _ _ 7/22/2016

19791 DISCONTINUED - CHRYSLER
SEC _ _ 2/22/2021



19794 DISCONTINUED - CHRY.
COWL/P _ _ 9/18/2013

19799 DISCONTINUED -SUBARU GRILL _ _ 10/14/2011

19806 DISCONTINUED -DOOR LOCK
ROD _ _ 11/18/2010

19808 DISCONTINUED -GM SPECIALTY _ _ 11/15/2007

19809 DISCONTINUED - CHRYSLER
FEN _ _ 6/30/2021

19815 DISCONTINUED -CHRYSLER
WIN _ _ 9/12/2011

19818 DISCONTINUED - UNIVERSAL G _ _ 1/8/2016

19823 FORD PARKING LAMP RETAINER _ _ 10/2/2022

19831 MAZDA WNDW SCRW GROMMET
W/S _ _ 4/1/2022

19832 DISCONTINUED - MAZDA DOOR
T _ _ 1/21/2015

19833 DISCONTINUED - MAZDA COWL
S _ _ 11/10/2014

19841 DISCONTINUED - TOYOTA
COWL _ _ 8/24/2016

19844 FREIGHTLINER KEY BLANK _ _ 11/2/2023

19848 DISCONTINUED - FOOTMAN
LOOP _ _ 11/6/2013

19854 SATURN DOOR HANDLE
RETAINER _ _ 11/2/2022

19897 DISCONTINUED - NISSAN DOOR _ _ 8/24/2016

19901 DISCONTINUED -EXTRUDED U
NU _ _ 10/29/2010

19909 DISCONTINUED - SATURN WIRE _ _ 5/2/2012

19911 DISCONTINUED - RUBBER NUT-I _ _ 5/5/2015

19915 DISCONTINUED -RUBBER
NUT-IN _ _ 3/5/2009

19917 DISCONTINUED - RUBBER NUT-I _ _ 3/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

19922 DISCONTINUED -REPLACED BY
1 16251 REPLACEMENT FOR DISC

ITEM 2/27/2008

19926 DISCONTINUED - FORD SECURI _ _ 3/30/2021

19928 DISCONTINUED - GM KEY
BLANK _ _ 6/30/2021

19929 DISCONTINUED - GM KEY
BLANK _ _ 6/30/2021

19930 DISCONTINUED -FORD KEY BLA _ _ 12/1/2022

19931 GM LOCK CYLINDER RETURN
SPR _ _ 9/1/2021

19932 GM, CHRYSLER & AMC TUMBLER _ _ 11/2/2023

19933 DISCONTINUED - CHRYSLER
DOU _ _ 1/22/2019

19936 DISCONTINUED - FORD
TUMBLER _ _ 1/27/2015

19938 DISCONTINUED - GM & JEEP SI _ _ 10/2/2012

19939 DISCONTINUED ONTINUED GM
& _ _ 10/23/2017

19940 DISCONTINUED - GM & JEEP SI _ _ 6/1/2016

19941 GM & JEEP SIDE BAR TUMBLER _ _ 11/2/2023



19942 DISCONTINUED - GM & JEEP SI _ _ 10/3/2016

19943 DISCONTINUED -GM LOCK
CYLIN _ _ 1/11/2011

19944 DISCONTINUED - GM KEY BLAN _ _ 6/30/2021

19947 DISCONTINUED - CHRYSLER
KEY _ _ 12/10/2018

19952 DISCONTINUED - CHRYSLER
KEY _ _ 6/20/2018

19953 DISCONTINUED - CHRYSLER
KEY _ _ 7/27/2012

19958 DISCONTINUED - GM KEY BLAN _ _ 6/30/2021

19964 DISCONTINUED - GM & H.D.TRU _ _ 2/19/2018

19966 DISCONTINUED - KENWORTH
KE _ _ 6/30/2021

19967 DISCONTINUED -PETERBILT KEY _ _ 12/7/2010

19970 CHRYSLER KEY BLANK GROOVE: _ _ 4/1/2022

19971 DISCONTINUED - GM SIDE BAR _ _ 11/17/2017

19972 DISCONTINUED - FORD KEY BLA _ _ 10/4/2018

19973 DISCONTINUED - FORD KEY BLA _ _ 9/13/2018

19975 DISCONTINUED - UNIVERSAL
LO _ _ 7/30/2018

19976 DISCONTINUED - NAVISTAR
KEY _ _ 12/10/2018

19977 DISCONTINUED -GM PAWL RETA _ _ 5/16/2019

19982 DISCONTINUED - GM KEY
BLANK _ _ 1/27/2015

19984 DISCONTINUED - FORD KEY BLA _ _ 11/19/2012

19985 FORD KEY BLANK GROOVE: #49 _ _ 11/2/2023

19988 DISCONTINUED -CADILLAC KEY _ _ 4/3/2009

19994 DISCONTINUED - NISSAN KEY B _ _ 11/17/2017

19996 DISCONTINUED - CHRY JEEP & _ _ 9/18/2013

19997 DISCONTINUED - CHRY JEEP & _ _ 9/18/2013

2 BAY ADD MARLI 2 BAY ADD KIT/ASSORTM _ _ 11/5/2020

2 SUPER CONCENTRATE SUPER CONCENTRATE 2 CASE
(F _ _ 10/4/2023

2-600L SMALL DRAWER LAYOUT LABEL
A _ _ 10/2/2023

2-612L SMALL DRAWER 12 COMP
LAYOUT _ _ 9/26/2023

200-01BMM 20001 _ _ 4/1/2022

200-02BMM 20002 _ _ 4/1/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

200-03BMM 20003 _ _ 4/1/2022

200-04BMM 20004 _ _ 4/1/2022

200-05BMM 20005 _ _ 4/1/2022

20007 DISCONTINUED - GEO PRIZM KE _ _ 3/14/2017

20008 GM KEY BLANK GROOVE: #57-H _ _ 9/1/2021

20010 DISCONTINUED - GM KEY
BLANK _ _ 5/24/2018

20015 DISCONTINUED - GM KEY BOOT _ _ 10/2/2015



20016 DISCONTINUED - GM KEY BOOT _ _ 2/3/2016

20030 CHRYSLER KEY BLANK GROOVE: _ _ 11/2/2023

20032 DISCONTINUED - GM KEY
BLANK _ _ 4/2/2015

20033 DISCONTINUED - GM KEY
BLANK _ _ 5/2/2017

20034 DISCONTINUED - GM KEY
BLANK _ _ 2/19/2019

20038 GM LOCK CYLINDER & KEY - B& _ _ 4/1/2022

20040 DISCONTINUED - GM DOOR,
DEC _ _ 10/4/2017

20047 DISCONTINUED - GM DOOR,
DEC _ _ 3/13/2017

20055 DISCONTINUED - GM IGNITION _ _ 2/19/2018

20069 DISCONTINUED - GM TAILGATE _ _ 1/8/2016

20075 DISCONTINUED -GM DOOR
LOCKS _ _ 8/18/2006

20083 DISCONTINUED -CHRY
IGNITION _ _ 2/9/2011

20088 DISCONTINUED - GM KEY
BLANK _ _ 12/15/2017

20089 GM TRUCK KEY BLANK GROOVE
# _ _ 9/1/2021

20090 DISCONTINUED - CHRY KEY BL _ _ 5/20/2020

20091 DISCONTINUED - FORD KEY BLA _ _ 5/2/2012

20092 DISCONTINUED - FORD KEY BL _ _ 6/30/2021

20094 DISCONTINUED - GM VAT KEY B _ _ 3/13/2017

20099 DISCONTINUED -GM VATS KEY
B _ _ 12/4/2008

201-01BMM 20101 _ _ 4/1/2022

20101 DISCONTINUED - GM VATS KEY _ _ 6/30/2021

20104 DISCONTINUED -GM VATS KEY
B _ _ 6/1/2011

20108 DISCONTINUED - GM KEY
BLANK _ _ 11/17/2017

20109 DISCONTINUED - GM KEY
BLANK _ _ 2/20/2014

20110 DISCONTINUED - CHRY KEY BLA _ _ 1/22/2019

20111 GM SIDEBAR IGNITION
TUMBLER _ _ 8/2/2021

20112 GM SIDEBAR IGNITION
TUMBLER _ _ 5/2/2022

20113 DISCONTINUED - GM SIDEBAR I _ _ 6/30/2021

20114 GM SIDEBAR IGNITION
TUMBLER _ _ 9/1/2021

20115 GM LOCK TUMBLER SPRING - B& _ _ 5/2/2022

20116 GM TUMBLER RETAINER - B&S 3 _ _ 5/2/2022

20118 GM LOCK CYLINDER TUMBLER
#2 _ _ 11/2/2021

2012 14 X 1/2 INDENTED HEX HEAD _ _ 4/4/2023

20120 DISCONTINUED - GM LOCK CYLI _ _ 3/14/2017

20122 DISCONTINUED - FORD KEY BLA _ _ 7/30/2018

20123 MERCURY KEY BLANK #82
GROOV _ _ 5/2/2022



Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

20124 DISCONTINUED .-GM DOUBLE
SI _ _ 9/17/2021

20131 DISCONTINUED - GM DOUBLE
SI _ _ 3/14/2017

20138 DISCONTINUED - CHRYSLER
LOC _ _ 12/4/2017

20139 DISCONTINUED - CHRYSLER
KEY _ _ 6/20/2018

20143 DISCONTINUED - CHRY/ JEEP W _ _ 11/6/2018

20147 GM KEY BLANK GROOVE 75 - B& _ _ 5/2/2022

20149 GM KEY BLANK B89 GROOVE:
75 _ _ 8/2/2021

20150 DISCONTINUED - ISUZU KEY BL _ _ 11/6/2018

20151 DISCONTINUED - GM KEY
BLANK _ _ 7/13/2017

20152 DISCONTINUED - JEEP KEY BLA _ _ 3/14/2017

20153 DISCONTINUED - FORD DOOR
LO _ _ 1/22/2019

20155 DISCONTINUED - CHRYSLER
KEY _ _ 3/30/2021

20156 DISCONTINUED - GM KEY
BLANK _ _ 3/30/2021

20157 DISCONTINUED - GM TRUCK KE _ _ 6/30/2021

20158 DISCONTINUED - GM TRUCK
KEY _ _ 3/30/2021

20159 DISCONTINUED -GM TRUCK KEY _ _ 7/27/2006

20163 DISCONTINUED ONTINUED GM
P _ _ 2/27/2020

20166 DISCONTINUED - NISSAN
WINDO _ _ 9/11/2017

20168 DISCONTINUED -NISSAN
MUDGUA _ _ 1/30/2009

20170 DISCONTINUED - SATURN
SPECI _ _ 2/22/2021

20176 HEX HEAD SEMS BODY BOLT
M6- _ _ 1/13/2024

20178 DISCONTINUED -GM
HEADLIGHT _ _ 5/12/2010

20185 DISCONTINUED - NISSAN KICK _ _ 5/2/2012

20195 DISCONTINUED - FORD DOOR L _ _ 5/20/2020

202-01BMM 20201 _ _ 5/2/2022

202-03BMM 20203 _ _ 5/2/2022

20200 DISCONTINUED - MERCEDES
MOU _ _ 1/8/2014

20201 MERCEDES BODY SIDE
MOULDING _ _ 5/2/2022

20202 DISCONTINUED ONTINUED
MERC _ _ 5/21/2018

20204 DISCONTINUED -MERCEDES
ROCK _ _ 1/11/2011

20211 GM MICRO-PACK 100 W SERIES _ _ 3/9/2022

20229 DISCONTINUED - GM METRI-PA _ _ 2/9/2009

20236 DISCONTINUED -MERCEDES
BODY _ _ 10/25/2010



20238 DISCONTINUED -MERCEDES
BODY _ _ 12/4/2008

20242 DISCONTINUED - PUSH-PULL
CO _ _ 7/19/2016

20249 DISCONTINUED -VOLKSWAGEN
DO _ _ 10/25/2010

20250 VOLKSWAGEN MOULDING
INSERT _ _ 1/2/2023

20255 DISCONTINUED - BMW SCUFF
PL _ _ 1/20/2014

20257 DISCONTINUED - NISSAN
WINDS _ _ 9/21/2022

20267 DISCONTINUED - CHRYSLER TA _ _ 6/30/2021

20272 HONDA BELT MOULDING CLIP
20 _ _ 11/2/2023

20287 MINIATURE BULB #222 _ _ 5/2/2023

20293 DISCONTINUED - MINIATURE
BU _ _ 8/24/2016

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

20297 DISCONTINUED - MINIATURE
BU _ _ 4/3/2014

20298 MINIATURE BULB #3652 _ _ 2/1/2023

20300 MINIATURE BULB #11006 _ _ 2/1/2023

20306 DISCONTINUED - FORD WHEEL
O _ _ 9/18/2013

20307 DISCONTINUED - CHRY
SLIDING _ _ 6/6/2019

20308 DISCONTINUED - CHRY SLIDIN _ _ 7/6/2021

20312 DISCONTINUED - GM &
CHRYSLE _ _ 4/1/2020

20313 MAZDA KEY BLANK _ _ 9/1/2021

20315 MERCEDES SCREW GROMMET
25MM _ _ 5/2/2022

20325 DISCONTINUED ONTINUED
MITS _ _ 8/28/2020

20329 DISCONTINUED -HONDA DOOR
LO _ _ 6/12/2008

20330 DISCONTINUED -HONDA HOOD
PR _ _ 10/22/2010

20332 DISCONTINUED - GM, FORD & C _ _ 5/2/2012

20333 DISCONTINUED - BMW COWL &
T _ _ 8/5/2015

20336 DISCONTINUED - FORD BMPR
CO _ _ 6/29/2017

20337 DISCONTINUED - GM PUSH
TYPE _ _ 9/21/2022

20342 FLEX-FIT WINDSHIELD RUBBER _ _ 6/2/2022

20343 DISCONTINUED -O-RING SPLICI _ _ 1/20/2005

20356 CHRYSLER RUBBER GROMMET
15M _ _ 10/2/2022

20361 DISCONTINUED -CHRYSLER
FEND _ _ 5/12/2010

20369 DISCONTINUED -GM QUARTER
TR _ _ 5/12/2010

20385 DISCONTINUED - HONDA
WINDSH _ _ 6/20/2014



2039 DISCONTINUED - SLOTTED PAN _ _ 6/24/2021

20393 FORD DOOR PANEL GROMMET
M4. _ _ 8/17/2022

20394 DISCONTINUED ONTINUED
VOLK _ _ 10/14/2021

20403 DISCONTINUED -BMW SCFF PLT _ _ 4/19/2011

20404 DISCONTINUED - MERCEDES
ROC _ _ 3/4/2019

20405 DISCONTINUED - VOLVO
ROCKER _ _ 10/4/2018

20406 DISCONTINUED -VOLVO
RADIATO _ _ 3/22/2013

20409 DISCONTINUED - SILVER BEARI _ _ 10/4/2018

20410 DISCONTINUED - COPPER
BEARI _ _ 6/30/2021

20419 DISCONTINUED -CHRY PROP
ROD _ _ 11/27/2012

20420 DISCONTINUED - WIRE
ROUTING _ _ 2/2/2017

20425 FORD SCREW GROMMET M4.2
10M _ _ 4/4/2023

20433 DISCONTINUED - GM NYLON
NUT _ _ 1/21/2015

20435 HEX HEAD SEMS BODY BOLT
M6- _ _ 12/1/2021

20442 DISCONTINUED - TOYOTA
DOOR _ _ 4/2/2015

20450 DISCONTINUED - METRIC HEX F _ _ 12/21/2021

20451 DISCONTINUED -GM SPECIALTY _ _ 7/6/2015

20459 DISCONTINUED - DOOR TRIM
PA _ _ 9/21/2022

20460 DISCONTINUED - COWL PANEL
R _ _ 8/16/2022

20461 DISCONTINUED - METRIC
MANIF _ _ 6/3/2013

20463 DISCONTINUED - DOOR GLASS
S _ _ 3/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

20464 ROCKER PNL/FENDER FLARE
RET _ _ 1/3/2022

20467 DISCONTINUED -TRIM PANEL RE _ _ 3/22/2013

2047 DISCONTINUED -PHIL OVAL #6 _ _ 2/5/2024

20477 DISCONTINUED - INDICATOR LA 22603 REPLACEMENT FOR DISC
ITEM 11/14/2018

20484 FUSIBLE LINK WIRE 8 GAUGE B _ _ 11/3/2023

20485K LAWSON/KENT (14600) GM
DOOR _ _ 10/2/2023

20497 PRIMARY WIRE 12 GA BLUE 15 _ _ 1/2/2023

20513 DISCONTINUED - PHIL OVAL SE _ _ 12/20/2013

20517 DISCONTINUED - FORD BUMPER _ _ 12/15/2017

20519 DISCONTINUED -GM
WINDSHIELD _ _ 11/1/2010

20520 DISCONTINUED - GM ROCKER
ML _ _ 4/3/2017

20522 DISCONTINUED - GM ROCKER _ _ 2/2/2017



PN

20532 FORD BUMPER COVER
GROMMET 1 _ _ 11/2/2022

20538 5/16 DRILL-OUT EXTRACTOR TO _ _ 5/2/2022

20539 3/8 DRILL-OUT EXTRACTOR TOO _ _ 5/2/2022

20540 1/2 DRILL-OUT EXTRACTOR TOO _ _ 5/2/2022

20544 disc-DODGE RAM DOOR HINGE
P _ _ 1/10/2022

20569 DISCONTINUED - FORD WIRING _ _ 8/5/2014

20574 GM MANIFOLD REPAIR KIT _ _ 8/2/2023

20574K LAWSON/KENT (14600)
MANIFOL _ _ 8/2/2023

20579 MAZDA COWL VNT GROMMET
12MM _ _ 11/2/2023

20584 DISCONTINUED -GM DOOR
REVEA _ _ 11/27/2012

20586 DISCONTINUED -MINIATURE
BUL _ _ 1/11/2011

20592 DISCONTINUED - MINIATURE
BU _ _ 6/30/2021

20594 DISCONTINUED - HALOGEN
BULB B880 REPLACEMENT FOR DISC

ITEM 5/4/2020

20596 HALOGEN BULB #885 _ _ 1/2/2023

20597 DISCONTINUED - HALOGEN
BULB _ _ 5/4/2020

20601 HALOGEN BULB #1260/H4 _ _ 2/1/2023

20612 HONDA COWL GROMMET
10MMX24M _ _ 10/2/2022

20615 GM FENDER LINER RETAINER _ _ 5/2/2022

20617 DISCONTINUED - GM WHEEL
OPE _ _ 10/6/2014

20619 DISCONTINUED - GM ROCKER
PA _ _ 11/6/2013

20622 CHRYSLER HEADLINER
RETAINER _ _ 1/31/2022

20639 MERCEDES-BENZ PUSH TYPE
RET _ _ 11/2/2023

20641 MERCEDES-BENZ PUSH-TYPE
RET _ _ 3/1/2022

20643 DISCONTINUED -
MERCEDES-BEN _ _ 12/15/2017

20646 DISCONTINUED -
MERCEDES-BEN _ _ 4/5/2016

20648 DISCONTINUED -
MERCEDES-BEN _ _ 9/8/2014

20650 MERCEDES-BENZ U TYPE NUT .5 _ _ 11/28/2023

20651 BMW & MERCEDES CAGE NUT
.5M _ _ 10/4/2021

20652 DISCONTINUED -BMW AND
MERCE _ _ 3/22/2013

20653 BMW & MERCEDES WIRE
ROUTING _ _ 3/31/2023

20656 DISCONTINUED - MERCEDES-BE _ _ 7/20/2020

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

20664 DISCONTINUED - GM DOOR
PANE _ _ 6/3/2013



20666 DISCONTINUED - GM DOOR TRI _ _ 6/30/2021

20682 DISCONTINUED - HALOGEN
BULB _ _ 3/28/2013

20689 BLUE NITRILE GLOVES - MEDIU _ _ 12/1/2021

20690 BLUE NITRILE GLOVES - LARGE _ _ 7/26/2021

20691 BLUE NITRILE GLOVES - EX LA _ _ 12/1/2021

20693 DISCONTINUED - PAINTERS
GLO _ _ 5/4/2020

20694 STRONG HOLD GLOVES NITRILE _ _ 11/2/2022

20695 STRONG HOLD GLOVES NITRILE _ _ 10/11/2021

20698 LIGHTER SAFETY PLUG _ _ 10/10/2022

20699 DISCONTINUED - PLASTIC & RU _ _ 9/21/2022

20701 DISCONTINUED - MINIATURE
BU B24 REPLACEMENT FOR DISC

ITEM 2/6/2013

20702 DISCONTINUED ONTINUED MINI _ _ 6/30/2021

20703 DISCONTINUED - MINIATURE
BU B57 REPLACEMENT FOR DISC

ITEM 6/30/2021

20705 MINIATURE BULB #89,
PREMIUM _ _ 8/2/2021

20707 DISCONTINUED - MINIATURE
BU 16913 REPLACEMENT FOR DISC

ITEM 7/19/2013

20708 DISCONTINUED - HALOGEN
BULB B891 REPLACEMENT FOR DISC

ITEM 11/11/2014

20709 DISCONTINUED - MINIATURE
BU B906 REPLACEMENT FOR DISC

ITEM 12/5/2019

20710 DISCONTINUED - MINIATURE B _ _ 1/8/2016

20711 DISCONTINUED - MINIATURE
BU B916 REPLACEMENT FOR DISC

ITEM 6/30/2021

20712 MINIATURE BULB #916NA,
PREM _ _ 5/2/2022

20713 DISCONTINUED - MINIATURE
BU B921 REPLACEMENT FOR DISC

ITEM 9/2/2015

20714 DISCONTINUED - MINIATURE
BU B1156A REPLACEMENT FOR DISC

ITEM 4/3/2014

20715 MINIATURE BULB #1893, PREMI _ _ 5/2/2022

20716 DISCONTINUED - MINIATURE
BU B1895 REPLACEMENT FOR DISC

ITEM 2/10/2015

20717 DISCONTINUED - HALOGEN BUL _ _ 7/6/2021

20719 DISCONTINUED -MINIATURE
BUL 16908 Discontinued 3/22/2013

20720 DISCONTINUED - MINIATURE
BU B2357 REPLACEMENT FOR DISC

ITEM 6/30/2021

20721 MINIATURE BULB #2357NA, PRE _ _ 5/2/2022

20722 DISCONTINUED - MINIATURE B _ _ 6/30/2021

20723 DISCONTINUED - MINIATURE
BU B3057A REPLACEMENT FOR DISC

ITEM 4/2/2015

20726 DISCONTINUED - MINIATURE
BU B3157 REPLACEMENT FOR DISC

ITEM 8/5/2015

20727 DISCONTINUED - MINIATURE
BU B3157A REPLACEMENT FOR DISC

ITEM 4/3/2014

20729 MINIATURE BULB #3457NA, PRE _ _ 1/2/2023

20730 MINIATURE BULB #3496, PREMI _ _ 5/2/2022

20731 DISCONTINUED - MINIATURE
BU _ _ 10/2/2015

20732 DISCONTINUED - MINIATURE B7440 REPLACEMENT FOR DISC 5/6/2019



BU ITEM

20733 DISCONTINUED - MINIATURE
BU B7443 REPLACEMENT FOR DISC

ITEM 2/6/2013

20737 DISCONTINUED - MOULDING
CLI _ _ 3/2/2021

20762 DISCONTINUED - FORD XMAS
TR _ _ 11/10/2014

20772 DISCONTINUED - PUSH-TYPE RE _ _ 8/5/2014

20773 DISCONTINUED - COWL COVER
R _ _ 2/19/2019

20778 DISCONTINUED - HALOGEN
BULB B9004 REPLACEMENT FOR DISC

ITEM 4/3/2014

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

20779 DISCONTINUED - HALOGEN
BULB B9005 REPLACEMENT FOR DISC

ITEM 6/3/2013

2078-25KV OIL DRAIN PLUG 20/BAG _ _ 1/26/2021

20780 DISCONTINUED - HALOGEN
BULB B9006 REPLACEMENT FOR DISC

ITEM 4/30/2013

20781 DISCONTINUED - HALOGEN
BULB B9007 REPLACEMENT FOR DISC

ITEM 4/22/2015

20786 NISSAN HEADLAMP GROMMET -
B _ _ 5/2/2022

20791 DISCONTINUED -
PLASTIC/HEAD _ _ 9/13/2018

20792 DISCONTINUED -
WEATHERSTRIP _ _ 11/6/2018

20793 WEATHERSTRIPPING _ _ 11/2/2021

20794 WEATHERSTRIPPING _ _ 6/1/2023

20795 DISCONTINUED -
WEATHERSTRIP _ _ 12/10/2018

20801 WEATHERSTRIPPING _ _ 8/1/2022

20802 DISCONTINUED - WEATHERSTRI _ _ 7/6/2021

20804 DISCONTINUED - WEATHERSTRI _ _ 6/30/2021

20809 DISCONTINUED ONTINUED GM
M _ _ 11/2/2020

20810 DISCONTINUED - GM
MOULDING _ _ 6/30/2021

20811 DISCONTINUED - GM
MOULDING _ _ 6/30/2021

20822 DISCONTINUED - KNIFE & SISS _ _ 2/2/2017

20824 DISCONTINUED - WINDSHIELD
R _ _ 5/4/2020

20832 DISCONTINUED -REPLACED BY
2 21072 REPLACEMENT FOR DISC

ITEM 5/14/2008

20836 DISCONTINUED - FORD
WINDSH _ _ 8/17/2022

20847 DISCONTINUED - FORD WIRE
HA 22425 REPLACEMENT FOR DISC

ITEM 1/10/2018

20854 HALOGEN BULB #880, PREMIUM _ _ 4/4/2023

20856 HALOGEN BULB #885, PREMIUM _ _ 10/2/2022

20857 HALOGEN BULB #889, PREMIUM _ _ 4/4/2023

20859 MINIATURE BULB #3757NALL _ _ 6/1/2023

20861 DISCONTINUED -
TRANSPONDER _ _ 3/1/2017

GM HEADLAMP RETAINER -



20864 WHIT _ _ 6/7/2021

20867 DISCONTINUED - MOULDING
CLI _ _ 5/24/2018

20868 GM MOULDING CLIP-BLACK
NYLO _ _ 3/1/2022

20872 GM TAILGATE
STRAP-STAINLESS _ _ 5/2/2022

20873 NISSAN MOULDING CLIP - BLAC _ _ 6/2/2022

2088 DISCONTINUED -PHILLIPS PAN _ _ 6/14/2011

20894 DISCONTINUED - CHRYSLER
SCR _ _ 11/19/2012

20899 SIDE TERMINAL BATTERY CLEAN _ _ 10/2/2023

20904 DISCONTINUED -TRIM PANEL RE _ _ 5/3/2012

20911 DISCONTINUED - GM
MOULDING _ _ 12/7/2012

20912 DISCONTINUED - ADHESIVE VIN _ _ 6/20/2018

20913 DISCONTINUED - ADHESIVE VIN _ _ 6/30/2021

20915 DISCONTINUED - ADHESIVE VI _ _ 6/30/2021

20918 ADHESIVE VINYL FOAM SPONGE _ _ 8/1/2022

20919 DISCONTINUED ONTINUED
ADHE _ _ 6/30/2021

20920 DISCONTINUED - ADHESIVE VIN _ _ 6/30/2021

20921 DISCONTINUED - ADHESIVE VIN _ _ 6/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

20922 ADHESIVE VINYL FOAM SPONGE _ _ 1/24/2022

20928 DISCONTINUED ONTINUED
RUBB _ _ 4/24/2013

20929 DISCONTINUED - RUBBER
WEATH _ _ 3/6/2015

20936 FORD MOULDING CLIP _ _ 8/1/2022

20937 GM SCREW GROMMET _ _ 6/2/2022

20939 DISCONTINUED - FORD
GROMMET _ _ 8/5/2014

20940 DISCONTINUED - CHRYSLER
PUS _ _ 9/11/2017

20942 FORD WINDSHIELD
BLOCK-BLACK _ _ 6/2/2022

20945 DISCONTINUED - GM
TRANSPON _ _ 6/30/2021

20946 DISCONTINUED - FORD TRIM PA _ _ 1/21/2015

20947 DISCONTINUED -GM HEADLAMP
G _ _ 7/22/2016

20950 GM MOULDING CLIP _ _ 11/2/2023

20975 DISCONTINUED - GM
MOULDING _ _ 3/18/2013

20978 DISCONTINUED - FORD
MOULDIN _ _ 7/27/2012

20980 DISCONTINUED -FORD
MOULDING _ _ 7/27/2011

20987 DISCONTINUED - SPECIALTY RI _ _ 7/24/2014

21001 DISCONTINUED - FREE SPINNIN _ _ 6/2/2022

21007 U-TYPE NUT SPRING STEEL PHO _ _ 9/1/2021



21008 DISCONTINUED - TOYOTA
MOULD _ _ 3/1/2017

21009 DISCONTINUED - FORD
MOULDIN _ _ 6/6/2019

21014 DISCONTINUED - GM SCREW
GRO _ _ 5/4/2020

21029 DISCONTINUED - HALOGEN
BULB BH1 REPLACEMENT FOR DISC

ITEM 6/20/2014

21030 DISCONTINUED - HALOGEN
BULB BH7 REPLACEMENT FOR DISC

ITEM 1/14/2013

21031 DISCONTINUED - MINIATURE
BU B7440A REPLACEMENT FOR DISC

ITEM 3/28/2013

21032 DISCONTINUED - MINIATURE
BU B7443A REPLACEMENT FOR DISC

ITEM 11/19/2012

21033 GM WIRE HARNESS
CONNECTOR _ _ 3/1/2022

21034 DISCONTINUED - CHRYSLER
DOO _ _ 6/6/2019

21035 DISCONTINUED - CHRYSLER
DOO _ _ 10/4/2017

21039 DISCONTINUED - GM HEX
FLANG _ _ 9/21/2022

21042 DISCONTINUED - NISSAN & INF _ _ 5/4/2020

21043 DISCONTINUED - FORD F-SERIE _ _ 5/4/2020

21045 DISCONTINUED - GM
TRANSPOND _ _ 8/24/2016

21057 DISCONTINUED - H10 HALOGEN BH10 REPLACEMENT FOR DISC
ITEM 2/20/2014

21058 DISCONTINUED - H13 HALOGEN BH13 REPLACEMENT FOR DISC
ITEM 4/24/2015

2107 12 X 3/4 IND. HEX HEAD TAP _ _ 6/16/2021

21073 DISCONTINUED - MITSUBISHI T _ _ 11/17/2017

21092 DISCONTINUED - GM DOOR HIN _ _ 6/30/2021

211 DISCONTINUED - BRASS FLARE _ _ 6/24/2021

21100 DISCONTINUED - CHRYSLER
HYB _ _ 6/1/2016

21101 TOYOTA TRANSPONDER KEY _ _ 8/1/2022

21108 DISCONTINUED - NISSAN
BUMPE _ _ 4/3/2017

21115 DISCONTINUED - GM SPECIALTY _ _ 4/3/2017

21117 DISCONTINUED - NISSAN
BUMPE _ _ 5/2/2017

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

21126 FORD FUEL LINE CLIP - PINK _ _ 12/1/2021

21127 FORD FUEL LINE CLIP - PINK _ _ 4/6/2021

21130 GM MOULDING CLIP BLACK
NYLO _ _ 6/4/2021

21139 DISCONTINUED - MINI COOPER _ _ 6/30/2021

21142 DISCONTINUED - GM SPECIALTY _ _ 8/23/2017

21156 DISCONTINUED ONTINUED GM
M _ _ 6/27/2019

21163 DISCONTINUED - H11 HALOGEN BH11 REPLACEMENT FOR DISC
ITEM 7/19/2013

21167 DISCONTINUED - GM
TRANSPOND _ _ 3/14/2017



21168 GM KEY BLANK _ _ 2/1/2023

21185 DISCONTINUED ONTINUED
FORD _ _ 1/8/2020

21193 DISCONTINUED - GM
TRANSPON _ _ 5/4/2020

212 DISCONTINUED - BRASS FLARE _ _ 10/3/2013

21222 DISCONTINUED - HALOGEN
BULB BH9 REPLACEMENT FOR DISC

ITEM 6/30/2021

21228 GM RETAINER TAN NYLON _ _ 8/2/2021

21243 DISCONTINUED - INFINITI MOU _ _ 5/2/2017

21252 DISCONTINUED - AUDI RETAINE _ _ 4/3/2017

21286WCA SUPERSEDED BY 21286 SPECI _ _ 5/18/2021

21299 DISCONTINUED - GM SATURN
MO _ _ 6/29/2017

21305 DISCONTINUED ONTINUED
PUSH _ _ 7/27/2020

21314 LEXUS MOULDING CLIP _ _ 8/1/2022

21330 INFINITI MOULDING CLIP _ _ 6/7/2021

21337 DISCONTINUED - TOYOTA SPEC _ _ 6/30/2020

21362 DISCONTINUED ONTINUED
FORD _ _ 4/4/2019

21373 DISCONTINUED - FORD SPECIAL _ _ 5/24/2018

21385 GM RETAINER LIGHT GRAY
NYLO _ _ 5/2/2022

21386 DISCONTINUED - GM RETAINER _ _ 6/30/2021

21389 DISCONTINUED - NO. 14 COUNT _ _ 6/20/2014

21403 GM DOOR HINGE PIN BUSHING
& _ _ 7/1/2023

21404 DISCONTINUED ONTINUED GM
D _ _ 4/24/2013

21407 CHRYSLER DOOR HINGE PIN &
N _ _ 8/1/2022

21408 CHRYSLER DOOR HINGE PIN &
N _ _ 9/1/2021

21409 DISCONTINUED - GM DOOR
HING _ _ 2/2/2017

21416 VOLKSWAGEN & AUDI
MOULDING _ _ 9/1/2022

21435 DISCONTINUED -
MERCEDES-BEN _ _ 7/13/2017

21445 DISCONTINUED - FORD HEATER _ _ 6/30/2020

21455 DISCONTINUED - CHRYSLER RIV 21799 REPLACEMENT FOR DISC
ITEM 12/4/2015

21469 MERCEDES-BENZ MOULDING
CLIP _ _ 2/1/2023

21471 OIL DRAIN PLUGS & GASKETS A _ _ 10/17/2022

21481 VOLKSWAGEN & AUDI
MOULDING _ _ 1/2/2023

21492 VOLKSWAGEN & AUDI
MOULDING _ _ 11/2/2023

21539 DISCONTINUED -GM U-TYPE
NUT _ _ 2/13/2015

21582 GM DOOR HINGE PIN AND
BUSHI _ _ 3/26/2021

21595 DISCONTINUED - PUSH TYPE RE _ _ 11/17/2017



Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

21632 MITSUBISHI NYLON NUT _ _ 6/11/2021

21636 HONDA MOULDING CLIP WITH
SE _ _ 6/2/2022

21656 NOSE PIECE FOR SETTING 1/4 _ _ 1/13/2023

21665 FORD PLASTIC CAM LOCKING
DR _ _ 1/17/2023

21670 CHRYSLER MOULDING CLIP _ _ 3/2/2021

21671 DISCONTINUED - GM
MOULDING _ _ 7/13/2017

21681 GM MOULDING CLIP WITH
SEALE _ _ 8/1/2022

21684 TOYOTA MOULDING CLIP WITH
S _ _ 5/2/2022

21701 NISSAN RETAINER WITH
SEALER _ _ 3/1/2022

21710 DISCONTINUED - VW & AUDI SC _ _ 5/4/2020

21720 1/4 - 20 X 3-1/2 FLAT HEAD _ _ 9/1/2021

21721 1/4 - 20 X 4 FLAT HEAD TORX _ _ 3/1/2022

21722 DISCONTINUED ONTINUED 1/4 _ _ 6/30/2021

21723 1/4 - 20 X 6 FLAT HEAD TORX _ _ 6/2/2022

21724 DISCONTINUED - 5/16 - 18 X _ _ 11/17/2017

21725 5/16 - 18 X 2-1/4 FLAT HEAD _ _ 3/1/2022

21727 DISCONTINUED ONTINUED 5/16 _ _ 1/27/2017

21728 5/16 - 18 X 3-1/2 FLAT HEAD _ _ 9/1/2021

21729 DISCONTINUED - 5/16 - 18 X _ _ 6/30/2021

21734 #10 X 3/4 TORX WAFER HEAD L _ _ 9/1/2022

21740 GM DOOR HINGE PIN AND
BUSHI _ _ 1/31/2022

21741 GM DOOR HINGE PIN AND
BUSHI _ _ 11/2/2023

21798 AUDI/VW OIL DRAIN PLUG WIT _ _ 6/4/2021

21800 DISCONTINUED -
RENAULT/DACI _ _ 8/14/2018

21803 RENAULT/DACIA FIAT RETAINER _ _ 6/2/2022

21804 RENAULT/DACIA FIAT RETAINER _ _ 1/3/2022

21812 PEUGEOT/CITROEN
RENAULT/DAC _ _ 6/2/2022

21821 DISCONTINUED - NISSAN & TOY _ _ 11/17/2017

21845 AIR CONDITIONING O-RING
ASS _ _ 12/29/2023

21852 DISCONTINUED - VW/AUDI
LOCK _ _ 3/25/2015

21866 RENAULT/DACIA MOULDING
CLIP _ _ 6/2/2022

21867 DISCONTINUED ONTINUED
RENA _ _ 11/14/2017

21868 PEUGEOT, CITROEN, RENAULT & _ _ 1/2/2023

21869 RENAULT/DACIA RETAINER _ _ 6/2/2022

21870 RENAULT/DACIA RETAINING CLI _ _ 6/2/2022

21872 DISCONTINUED ONTINUED
RENA _ _ 11/14/2017



21874 PEUGEOT, CITROEN, RENAULT & _ _ 6/2/2022

21876 DISCONTINUED - RENAULT, DA _ _ 6/30/2021

21877 PEUGEOT & CITROEN RETAINER _ _ 6/2/2022

21878 PEUGEOT & CITROEN RETAINER _ _ 6/2/2022

21879 DISCONTINUED ONTINUED
PEUG _ _ 11/10/2020

21880 DISCONTINUED - PEUGEOT & C _ _ 6/30/2021

21881 PEUGEOT & CITROEN
PUSH-TYPE _ _ 9/1/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

21892 VW, AUDI, SEAT & SKODA RETA _ _ 11/2/2023

21893 VW, AUDI, SEAT & SKODA RETA _ _ 1/31/2022

21896 RENAULT/DACIA RETAINER _ _ 9/1/2021

21897 RENAULT/DACIA MOULDING
CLIP _ _ 6/2/2022

21898 RENAULT/DACIA PUSH-TYPE
RET _ _ 9/1/2021

21899 DISCONTINUED ONTINUED
RENA _ _ 12/19/2019

21900 RENAULT/DACIA RETAINER _ _ 9/1/2021

21901 RENAULT/DACIA RETAINER _ _ 6/2/2022

21902 RENAULT/DACIA RETAINER _ _ 6/2/2022

21903 RENAULT/DACIA RETAINER _ _ 6/2/2022

21908 RENAULT/DACIA RETAINING CLI _ _ 9/1/2021

21909 DISCONTINUED - RENAULT/DAC _ _ 6/30/2021

21910 DISCONTINUED - RENAULT/DAC _ _ 6/30/2021

21911 DISCONTINUED -
RENAULT/DACI _ _ 2/19/2019

21914 RENAULT/DACIA RETAINER _ _ 10/14/2021

21915 RENAULT/DACIA RETAINER _ _ 9/1/2021

21919 PEUGEOT, CITROEN, RENAULT & _ _ 1/2/2023

21921 RENAULT/DACIA DOOR LOCK
ROD _ _ 9/1/2021

21923 DISCONTINUED - RENAULT/DAC _ _ 6/30/2021

21924 DISCONTINUED -
RENAULT/DACI _ _ 5/3/2016

21925 DISCONTINUED ONTINUED
PEUG _ _ 11/5/2020

21928 PEUGEOT, CITROEN, RENAULT & _ _ 4/4/2023

21929 PEUGEOT, CITROEN, RENAULT & _ _ 9/1/2021

21932 RENAULT & DACIA SCREW
GROMM _ _ 8/1/2022

21933 DISCONTINUED ONTINUED
RENA _ _ 2/3/2020

21934 PEUGEOT, CITROEN, RENAULT & _ _ 6/2/2022

21938 DISCONTINUED - PEUGEOT & CI _ _ 1/22/2019

21942 PEUGEOT & CITROEN
RETAINING _ _ 9/1/2022

21947 PEUGEOT & CITROEN RETAINER _ _ 6/2/2022

21951 PEUGEOT & CITROEN DOOR
LOCK _ _ 4/4/2023



21952 PEUGEOT & CITROEN DOOR
LOCK _ _ 5/2/2022

21953 DISCONTINUED ONTINUED
PEUG _ _ 10/21/2020

21955 PEUGEOT & CITROEN NYLON
NUT _ _ 4/4/2023

21956 PEUGEOT & CITROEN NYLON
NUT _ _ 10/4/2021

21957 DISCONTINUED ONTINUED
PEUG _ _ 10/14/2021

21958 PEUGEOT, CITROEN, RENAULT & _ _ 9/1/2021

21959 PEUGEOT, CITROEN, RENAULT & _ _ 8/1/2022

21960 PEUGEOT, CITROEN, RENAULT & _ _ 9/1/2021

21964 PEUGEOT & CITROEN SCREW
GRO _ _ 8/1/2022

21965 PEUGEOT & CITROEN NYLON
NUT _ _ 8/1/2022

21967 PEUGEOT & CITROEN
PUSH-TYPE _ _ 8/2/2021

21968 DISCONTINUED - PEUGEOT, CI _ _ 6/30/2020

21969 DISCONTINUED ONTINUED
PEUG _ _ 10/14/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

21970 PEUGEOT & CITROEN
PUSH-TYPE _ _ 9/1/2021

21971 PEUGEOT & CITROEN
PUSH-TYPE _ _ 9/1/2021

21973 PEUGEOT & CITROEN
PUSH-TYPE _ _ 1/3/2022

21974 PEUGEOT & CITROEN RETAINER _ _ 7/1/2023

21976 DISCONTINUED ONTINUED
PEUG _ _ 5/1/2020

21977 PEUGEOT, CITROEN, RENAULT & _ _ 9/1/2021

21979 PEUGEOT & CITROEN TUBULAR
N _ _ 9/1/2022

21983 DISCONTINUED - VW, AUDI, SE _ _ 5/24/2018

21984 DISCONTINUED ONTINUED VW, _ _ 10/21/2020

21985 VW, AUDI, SEAT & SKODA NYLO _ _ 7/6/2021

21986 VW, AUDI, SEAT & SKODA SCRE _ _ 9/1/2021

21989 VW, AUDI, SEAT & SKODA PUSH _ _ 8/1/2022

21991 VW, AUDI, SEAT & SKODA RETA _ _ 6/2/2022

21992 DISCONTINUED ONTINUED VW, _ _ 2/28/2020

21993 VW, AUDI, SEAT & SKODA
DOOR _ _ 2/1/2023

21996 DISCONTINUED - VW, AUDI, SE _ _ 11/6/2018

21998 DISCONTINUED ONTINUED
NISS _ _ 11/5/2020

22000 NISSAN GRILLE CLIP _ _ 10/2/2023

22010 HYUNDAI MOULDING CLIP WITH _ _ 8/1/2023

22040 DISCONTINUED - GM SPECIALTY 22410 REPLACEMENT FOR DISC
ITEM 12/23/2020

22080 GM MOULDING CLIP WITH
METAL _ _ 8/25/2021

GM MOULDING CLIP WITH



22080CR METAL _ _ 6/9/2021

22139 FORD NYLON RIVET _ _ 8/18/2022

22178 FORD PUSH-TYPE RETAINER _ _ 11/2/2023

22183 CHRYSLER WIRE HARNESS
CONNE _ _ 6/11/2021

22185 FORD WIRE HARNESS
CONNECTOR _ _ 11/2/2023

22186 TIGER GRIP ORANGE NITRILE G _ _ 8/1/2022

22187 TIGER GRIP ORANGE NITRILE G _ _ 10/11/2021

22188 TIGER GRIP ORANGE NITRILE G _ _ 10/11/2021

22189 TIGER GRIP ORANGE NITRILE G _ _ 10/11/2021

22190 GREASE BULLY BLACK NITRILE _ _ 6/16/2021

22191 GREASE BULLY BLACK NITRILE _ _ 12/1/2022

22192 GREASE BULLY BLACK NITRILE _ _ 6/7/2021

22193 PANTHER GRIP GREEN NITRILE _ _ 10/11/2021

22194 PANTHER GRIP GREEN NITRILE _ _ 1/31/2022

22208 VOLKSWAGEN/AUDI CROSS
SLOTT _ _ 11/2/2023

22234 FORD PUSH-TYPE RETAINER
WIT _ _ 10/2/2022

22272 DISCONTINUED- SUPERSEDED
BY 22272B SUBSTITUTE UNIT ITEM FOR

BULK 8/4/2023

224 DISCONTINUED - BRASS FLARE _ _ 2/19/2018

22422 GM DOOR HINGE PIN AND
BUSHI _ _ 8/1/2022

22423 GM DOOR PIN & BUSHING
REPAI _ _ 10/2/2022

22458 REPLACEMENT JAWS FOR 19066 _ _ 5/1/2023

22777 GM WIRE HARNESS
CONNECTOR _ _ 9/1/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

22778 GM WIRE HARNESS
CONNECTOR _ _ 9/1/2022

2279 DISCONTINUED -TRIM
FASTENER _ _ 2/16/2022

2280 DISCONTINUED -TRIM
FASTENER _ _ 7/21/2011

22933 GM BLOWER MOTOR & POWER
DOO _ _ 6/2/2021

2299 DISCONTINUED - PHILLIPS OVA _ _ 6/24/2021

22990 SINGLE BOND NYLON HOSE
CLAM _ _ 9/1/2022

22996 CONSTANT TNSN BAND HOSE
CLA _ _ 1/2/2023

23000 GM, HYUNDAI & MERCEDES
FUEL _ _ 10/2/2022

23002 GM, ISUZU & SUZUKI KNOCK SE _ _ 9/1/2022

23007 GM HEADLAMP & TAIL LAMP
HAR _ _ 12/1/2021

23011 DISCONTINUED ONTINUED
FORD _ _ 10/8/2020

23013 FORD PARKING & TAIL LAMP SO _ _ 8/27/2021

23019 GM INTERNAL REGULATORS 3 _ _ 11/2/2022



LE

23023 DISCONTINUED - OEM FEMALE _ _ 6/30/2021

23030 DISCONTINUED ONTINUED
FORD _ _ 10/8/2020

23031 FORD BACK UP LAMP SOCKET
AS _ _ 3/26/2021

23036 FORD TURN SIGNAL SWITCH
HAR _ _ 9/19/2022

23056 DISC. - SUPERSEDED BY 22425 _ _ 3/17/2022

2306 DISCONTINUED -LOOM CLIPS
BL _ _ 6/14/2011

23063 GM, AMC & JEEP OXYGEN
SENSO _ _ 9/1/2022

23077 FORD WASHER PUMP HARNESS
CO _ _ 8/2/2021

23082 DISCONTINUED ONTINUED OEM _ _ 4/22/2020

23086 GM SPARK PLUG WIRE GUIDE
HO _ _ 6/7/2021

23088 GM WIRE LOOM ROUTING CLIP . _ _ 8/2/2021

23091 DISCONTINUED ONTINUED
SEAL _ _ 6/30/2021

23093 GM BLOWER MOTOR, DOOR
LOCK, _ _ 10/2/2022

23094 GM PARK/TURN, STOP/TAIL & T _ _ 6/1/2023

23095 CHRYSLER BLOWER MOTOR
RESIS _ _ 7/1/2023

23097 FUEL INJECTOR HARNESS
CONNE _ _ 6/30/2021

23108 FORD LAMP SOCKET, POWER
STE _ _ 11/2/2022

23113 UNIVERSAL SQUARE 4-WAY
HARN _ _ 6/30/2021

23116 DISCONTINUED ONTINUED GM
R _ _ 10/8/2020

23118 RUBBER BOOT FUEL INJECTOR C _ _ 10/2/2022

23133 FORD BLOWER MOTOR
HARNESS C _ _ 3/1/2022

23137 GM FOG LAMP BULB HARNESS
CO _ _ 6/2/2022

23140 FORD VOLTAGE REGULATOR
HARN _ _ 4/4/2023

23143 HALOGEN HEADLIGHT HI-TEMP
S _ _ 8/13/2021

23151 4- WAY UNIVERSAL SHROUDED
F _ _ 8/1/2022

23159 GM IGNITION SWITCH HARNESS _ _ 3/8/2021

23161 GM BLOWER RESISTOR, ABS
MOD _ _ 9/1/2022

23166 FORD FUSIBLE LINK WIRE 18 G _ _ 6/25/2021

23170 FORD HEADLAMP SWITCH
HARNES _ _ 10/2/2022

23172 FORD TERMINATED MINI PIN RE _ _ 5/1/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23176 FORD TERMINATED
BLADE-BRASS _ _ 12/1/2022

FORD REAR LAMP SOCKET



23185 ASSEM _ _ 9/7/2022

23194 FORD RUNNING BOARD LIGHT,
E _ _ 9/1/2022

23205 FORD WIPER MOTOR HARNESS
CO _ _ 9/1/2022

23207 DISCONTINUED -FORD GLOW
PLU _ _ 7/17/2020

23224 FORD BLOWER MOTOR
RESISTOR _ _ 9/1/2022

23225 GM BLOWER RESISTOR,
WINDOW, _ _ 11/2/2022

23238 GM ABS WHEEL SPEED SENSOR
H _ _ 10/24/2022

23239 FORD , VOLVO BRAKE FLUID, C _ _ 12/1/2021

23240 GM COMPRESSOR CLUTCH,
SENSO _ _ 11/2/2022

23244 DOMESTIC & IMPORTS SENSOR
S _ _ 9/1/2022

23245 GM, HYUNDAI & KIA PEDAL, YA _ _ 9/1/2022

23246 GM SWITCH, MODULE,
ACTUATOR _ _ 9/1/2022

23247 DISCONTINUED ONTINUED
FORD _ _ 10/29/2020

23251 FORD TERMINATED MINI BOX
BL _ _ 1/2/2023

23258 GM & CHRYSLER VOLTAGE
REGUL _ _ 6/2/2023

23266 GM HEADLAMP SWITCH
HARNESS _ _ 3/1/2023

23279 GM LICENSE PLATE NUT SCREW _ _ 9/12/2022

23281 SLOTTED HEX WASHER HEAD
LIC _ _ 9/12/2022

23282 GM LICENSE PLATE NUT SCREW _ _ 6/2/2023

23284 GM UNIVERSAL MOULDING
FASTE _ _ 9/12/2022

23290 INSTRUMENT PANEL SOCKET
FOR _ _ 9/13/2022

23291 EXTRUDED U-NUT 5/16-18 SCRE _ _ 9/12/2022

23293 GM DOOR LOCK ROD CLIP _ _ 9/12/2022

23294 GM WINDSHIELD MOULDING
CLIP _ _ 4/4/2023

23296 DISC. - SUPERSEDED BY 12937 _ _ 3/17/2022

23297 DISC. - SUPERSEDED BY 12935 _ _ 3/17/2022

23300 GM & AMC WINDSHIELD TO
PANE _ _ 9/12/2022

23301 GM HOOD INSULATION
RETAINER _ _ 9/12/2022

23303 SPRING TYPE U-NUT #14
SCREW _ _ 9/12/2022

23308 THREAD CUTTING NUT 1/4
STUD _ _ 7/1/2023

23312 NYLON 5 WAY TEE CONNECTOR
3 _ _ 9/12/2022

23313 DISC. - SUPERSEDED BY 14858 _ _ 3/17/2022

23314 DISC. - SUPERSEDED BY 11628 _ _ 3/17/2022

23315 DISC. - SUPERSEDED BY 11629 _ _ 3/17/2022

EXTRUDED U-NUT M8-1.25



23316 SCRE _ _ 11/2/2022

23317 EXTRUDED U-NUT M10-1.50
SCR _ _ 9/12/2022

23318 DISC. - SUPERSEDED BY 11631 _ _ 3/17/2022

23319 DISC. - SUPERSEDED BY 14737 _ _ 3/17/2022

23320 HEX WASHER HEAD SCREW
M8-1. _ _ 9/12/2022

23321 DISC. - SUPERSEDED BY 11645 _ _ 3/17/2022

23322 RUBBER CAP FOR 1/8" O.D. TU _ _ 9/12/2022

23323 HEX HEAD SEMS SCREW W/
STAR _ _ 11/2/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23324 HEX HEAD SEMS BODY BOLT
W/D _ _ 9/12/2022

23325 HEX HEAD SEMS SCREW W/
STAR _ _ 9/12/2022

23326 DISC. - SUPERSEDED BY 11641 _ _ 3/17/2022

23327 NYLON TEE CONNECTOR 1/4� X _ _ 9/12/2022

23328 GM & AMC BUMPER FASTENER _ _ 6/2/2023

23329 DISCONTINUED - GM OUTSIDE _ _ 6/30/2021

23330 DISCONTINUED -GM OUTSIDE
RE _ _ 9/8/2020

23331 FORD TRIM PANEL RETAINER _ _ 9/12/2022

23332 GM HOOD INSULATION
RETAINER _ _ 9/12/2022

23334 HEX HEAD SEMS TAPPING
SCREW _ _ 3/1/2023

23336 GM TRIM PANEL RETAINER _ _ 6/2/2023

23337 HEX HEAD SEMS SCREW W/
DOG _ _ 11/2/2022

23338 HEX HEAD SEMS SCREW W/
DOG _ _ 10/2/2022

23339 FORD DOOR HINGE BUSHING _ _ 6/2/2022

23340 FORD FRONT & REAR BUMPER,
D _ _ 9/12/2022

23341 HEX HEAD SEMS SCREW W/
DOG _ _ 11/2/2023

23342 NISSAN TRIM PANEL RETAINING _ _ 9/12/2022

23343 GM FRONT & REAR BUMPER
FASC _ _ 9/12/2022

23344 PHIL. OVAL HD T.S. COUNTERS _ _ 2/1/2023

23345 PHIL. OVAL HD T.S. COUNTERS _ _ 9/12/2022

23346 PHIL. OVAL HD T.S. COUNTERS _ _ 3/1/2023

23348 PHIL. OVAL HD T.S. COUNTERS _ _ 1/2/2023

23349 HONDA, MAZDA, NISSAN &
TOYO _ _ 8/1/2023

23350 NYLON U-NUT FENDER/WHEEL
HO _ _ 3/1/2023

23351 R/B 14265 NISSAN & TOYOTA S _ _ 6/2/2023

23353 NYLON U-NUT FENDER/WHEEL
HO _ _ 2/1/2023

23354 GM DOOR HINGE PIN _ _ 9/12/2022



23355 NISSAN WINDOW CRANK
HANDLE _ _ 9/12/2022

23357 HEX HEAD SEMS SCREW W/
STAR _ _ 4/11/2023

23359 FORD & NISSAN HOOD
INSULATI _ _ 9/12/2022

23361 PHIL. FLAT TOP WSHR HEAD T. _ _ 9/12/2022

23362 GM SCREEN SHROUD VENT
GRILL _ _ 9/12/2022

23363 FORD & CHRYSLER COWL,
FENDE _ _ 9/12/2022

23364 FORD FASCIA RETAINER _ _ 9/12/2022

23365 ISUZU, MAZDA & NISSAN PUSH- _ _ 1/31/2024

23366 CHRYSLER HOOD INSULATION & _ _ 3/1/2023

23367 DISC. - SUPERSEDED BY 14011 _ _ 3/17/2022

23368 HONDA, MAZDA & NISSAN
COWL, _ _ 9/12/2022

23369 DISC. - SUPERSEDED BY 16671 _ _ 3/17/2022

23370 HALOGEN HEADLIGHT SOCKET
AS _ _ 6/2/2022

23371 HALOGEN HEADLIGHT SOCKET
AS _ _ 9/12/2022

23372 HALOGEN HEADLIGHT SOCKET
AS _ _ 9/12/2022

23373 DISC. - SUPERSEDED BY 14994 _ _ 3/17/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23374 GM & CHRYSLER DOOR
WEATHERS _ _ 6/2/2023

23375 DISC. - SUPERSEDED BY 15780 _ _ 3/17/2022

23376 NISSAN BUMPER & FASCIA
PUSH _ _ 3/1/2023

23377 FORD HEADLIGHT COMPONENT
PI _ _ 6/1/2023

23378 DISC. - SUPERSEDED BY 17442 _ _ 3/17/2022

23379 TYPE G MINI HOSE CLAMP 12.5 _ _ 12/1/2022

23380 HONDA & HYUNDAI BUMPER
FASC _ _ 6/2/2022

23381 NISSAN BODY SIDE MOULDING
P _ _ 10/2/2022

23382 DISC. - SUPERSEDED BY 16864 _ _ 3/17/2022

23383 HONDA FENDER SPLASH SHIELD _ _ 9/12/2022

23385 GM AIR BAFFLE TO UNDER CARR _ _ 10/2/2022

23386 GM & FORD BUMPER, WHEEL
WEL _ _ 9/12/2022

23387 DISC. - SUPERSEDED BY 17114 _ _ 3/17/2022

23388 SLOTTED ROUND WASHER
HEAD L _ _ 9/12/2022

23389 NISSAN NYLON FENDER/WHEEL
H _ _ 9/12/2022

23392 NYLON Y CONNECTOR 3/16 X 3/ _ _ 9/12/2022

23393 DISC. - SUPERSEDED BY 12947 _ _ 3/17/2022

23394 GM & CHRYSLER
WEATHERSTRIP _ _ 12/1/2022



23395 DISC. - SUPERSEDED BY 17003 _ _ 5/17/2023

23397 ACURA FRONT & REAR BUMPER
P _ _ 9/12/2022

23398 GM BLIND RIVET 3/16 DIA. _ _ 6/2/2022

23399 PHIL. OVAL HD T.S. FLUSH WA _ _ 5/17/2023

234 DISCONTINUED - BRASS MALE E _ _ 1/8/2016

23400 CHRYSLER COWL SCREEN
RETAIN _ _ 9/12/2022

23402 FORD & MAZDA HEADLAMP,
SPLA _ _ 9/12/2022

23403 EXTRUDED U-NUT #8-32
SCREW _ _ 4/4/2023

23404 DISC. - SUPERSEDED BY 18353 _ _ 3/17/2022

23405 EXTRUDED U-NUT M10-1.50
SCR _ _ 9/12/2022

23406 NISSAN PUSH-TYPE RETAINER _ _ 10/2/2022

23407 HONDA & NISSAN COWL,
GRILLE _ _ 9/12/2022

23408 TOYOTA NYLON HOOD PROD
ROD _ _ 6/2/2023

23409 GM BUMPER FASCIA PUSH-TYPE _ _ 9/12/2022

23410 FORD DOOR TRIM PANEL
RETAIN _ _ 1/24/2023

23411 GM, FORD & CHRYSLER BUMPER _ _ 4/4/2023

23414 NISSAN HOOD INSULATION
RETA _ _ 1/24/2023

23415 GM & CHRYSLER TRIM PANEL RE _ _ 6/2/2023

23416 FORD POWER WINDOW
REGULATOR _ _ 11/2/2021

23417 FORD POWER WINDOW
REGULATOR _ _ 11/2/2021

23419 TOYOTA REAR BUMPER COVER
PU _ _ 9/12/2022

23420 TOYOTA DOOR TRIM PANEL
RETA _ _ 1/2/2023

23421 FORD BLIND RIVET 3/16 DIA. _ _ 9/12/2022

23422 ACURA, CHRYSLER, GEO, MITSU _ _ 9/12/2022

23424 DISC. - SUPERSEDED BY 19109 _ _ 3/17/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23425 TOYOTA SIDE TRIM PANEL RETA _ _ 11/2/2022

23426 TOYOTA REAR DOOR TRIM &
LUG _ _ 1/2/2023

23427 ACURA, HONDA HOOD & TRUNK
M _ _ 1/24/2023

23429 NISSAN FENDER PANEL
BRACKET _ _ 3/1/2023

23430 NISSAN BUMPER PUSH-TYPE
RET _ _ 6/2/2023

23431 HONDA, MAZDA & TOYOTA
BUMPE _ _ 8/1/2023

23432 CHRYSLER GRILLE TO FASCIA F _ _ 9/12/2022

23433 TOYOTA BUMPER COVER
PUSH-TY _ _ 9/12/2022

23434 CHRYSLER GRILLE EMBLEM _ _ 9/12/2022



THRE

23435 FORD FASCIA RETAINER _ _ 9/12/2022

23436 GM DOOR WEATHERSTRIP
RETAIN _ _ 4/11/2023

23438 VOLVO HEADLAMP ADJUSTING
SC _ _ 6/30/2021

23439 GM WIRE LOOM ROUTING CLIP
1 _ _ 9/12/2022

23440 DISC. - SUPERSEDED BY 19470 _ _ 8/19/2022

23441 TOYOTA COWL PANEL &
LUGGAGE _ _ 11/2/2022

23443 FORD PEEL-TYPE RIVET 1/4 DI _ _ 9/12/2022

23444 FORD NYLON HOOD
INSULATION _ _ 1/2/2023

23446 FORD TRIM PANEL RETAINER _ _ 3/1/2023

23447 GM HEADLINER, SIDE MARKER
W _ _ 1/2/2023

23448 DISC. - SUPERSEDED BY 19822 _ _ 3/17/2022

23449 CHRYSLER WINDSHIELD & REAR _ _ 9/12/2022

23450 TOYOTA LUGGAGE
COMPARTMENT _ _ 2/1/2023

23451 VOLVO ROCKER PANEL
PUSH-TYP _ _ 3/1/2023

23452 GM & TOYOTA GRILLE, INTERIO _ _ 8/1/2023

23453 VW BUMPER & SPLASH SHIELD
P _ _ 11/2/2022

23454 DISC. - SUPERSEDED BY 20248 _ _ 3/17/2022

23455 GM & CHRYSLER WINDSHIELD
GA _ _ 9/12/2022

23456 TOYOTA FENDER LINER SCREW
G _ _ 9/12/2022

23457 ACURA FRONT COWL
RETAINING _ _ 9/12/2022

23458 GM ROCKER PANEL MOULDING
CL _ _ 9/12/2023

23459 EXTRUDED U-NUT M4.2-1.41 SC _ _ 9/12/2022

23460 DISC. - SUPERSEDED BY 20233 _ _ 3/17/2022

23462 MAZDA MUD GUARD PUSH-TYPE
R _ _ 9/12/2022

23464 SLOTTED HEX WASHER HEAD
LIC _ _ 1/2/2023

23465 FORD, KIA & MAZDA TRIM PANE _ _ 2/1/2023

23466 DISC. - SUPERSEDED BY 20247 _ _ 3/17/2022

23467 TOYOTA FENDER MOULDING
CLIP _ _ 9/12/2022

23468 TOYOTA FENDER MOULDING
CLIP _ _ 9/12/2022

23469 GM & TOYOTA ROCKER
MOULDING _ _ 8/1/2023

23470 CHRYSLER SPLIT-TYPE RIVET 5 _ _ 9/12/2022

23471 TOYOTA WEATHERSTRIP
RETAINE _ _ 6/2/2022

23472 HEX HEAD SEMS T.S. M6.3-1.8 _ _ 7/1/2023

23473 BUMPER BOLT & NUT KIT _ _ 6/30/2021

Auveco Discontinued Items



Item # Description Rpl Item Disc. Notes Date

23474 TOYOTA FENDER & WHEEL
FLARE _ _ 6/1/2023

23475 DISC. - SUPERSEDED BY 20543 _ _ 3/17/2022

23476 HYUNDAI & KIA HEADLIGHT ASS _ _ 4/4/2023

23477 DISC. - SUPERSEDED BY 20335 _ _ 3/17/2022

23478 TOYOTA WHEEL FLARE
MOULDING _ _ 9/12/2022

23479 DISC. - SUPERSEDED BY 20687 _ _ 3/17/2022

23480 GM ROCKER PANEL MOULDING
CL _ _ 9/12/2022

23481 LEXUS BLIND RIVET WITH PLAS _ _ 6/2/2022

23482 HONDA COWL & GARNISH
RETAIN _ _ 9/12/2022

23483 GM ROCKER PANEL MOULDING
CL _ _ 8/1/2023

23484 HONDA GARNISH SIDE
PROTECTO _ _ 12/1/2022

23485 DISC. - SUPERSEDED BY 21159 _ _ 3/17/2022

23486 FORD DOOR TRIM PANEL
RETAIN _ _ 9/12/2022

23487 TOYOTA FRONT FENDER UPPER
S _ _ 1/2/2023

23488 TOYOTA FRONT FENDER/SHEET
M _ _ 11/2/2022

23489 DISC. - SUPERSEDED BY 21235 _ _ 3/17/2022

23490 DISC. - SUPERSEDED BY 21245 _ _ 3/17/2022

23491 TOYOTA RADIATOR SPLASH
SHIE _ _ 9/12/2022

23492 CHRYSLER ROCKER PANEL
MOULD _ _ 9/12/2022

23493 DISC. - SUPERSEDED BY 21668 _ _ 3/17/2022

23494 DISC. - SUPERSEDED BY 21524 _ _ 3/17/2022

23496 BUMPER BOLT & NUT KIT _ _ 7/6/2021

23498 CHRYSLER & JEEP RADIATOR GR _ _ 9/12/2022

23499 DISC. - SUPERSEDED BY 22074 _ _ 3/17/2022

235 DISCONTINUED - BRASS MALE E _ _ 6/24/2021

23500 LEXUS & TOYOTA FRONT
BUMPER _ _ 9/12/2022

23501 HYUNDAI, KIA FENDER LINER P _ _ 9/12/2022

23506 BUMPER BOLT & NUT KIT _ _ 6/30/2021

23507 BUMPER BOLT & NUT KIT _ _ 6/30/2021

23508 BUMPER BOLT & NUT KIT _ _ 9/12/2022

23511 GM DOOR HINGE REPAIR KIT _ _ 11/2/2022

23512 GM DOOR TRIM PAD GROMMET _ _ 7/6/2023

23513 HAIR PIN COTTER 1/2 SHAFT _ _ 9/12/2022

23514 GM REAR FENDER LOWER
MOULDI _ _ 9/12/2022

23515 DISC. - SUPERSEDED BY 17361 _ _ 5/13/2022

23516 5/16 ALUMINUM TUBING
CLAMPS _ _ 3/1/2023

23517 3/8 ALUMINUM TUBING
CLAMPS/ _ _ 9/12/2022



23518 1/2 ALUMINUM TUBING
CLAMPS/ _ _ 6/2/2023

23519 5/8 ALUMINUM TUBING
CLAMPS/ _ _ 2/1/2023

23520 DISC. - SUPERSEDED BY 17366 _ _ 3/17/2022

23521 DISC. - SUPERSEDED BY 17367 _ _ 3/17/2022

23522 1 ALUMINUM TUBING
CLAMPS/NE _ _ 4/4/2023

23523 1-1/4 ALUMINUM TUBING
CLAMP _ _ 1/27/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23524 DISC. - SUPERSEDED BY 22171 _ _ 3/17/2022

23525 DISC. - SUPERSEDED BY 8581 _ _ 3/17/2022

23526 DISC. - SUPERSEDED BY 7680 _ _ 3/17/2022

23529 RUBBER O-RING 3/16 I.D. 5/1 _ _ 6/2/2022

23531 DISCONTINUED - FORD HEADLA _ _ 6/30/2021

23532 FORD HEADLAMP VERTICAL
ADJU _ _ 6/4/2021

23534 FENDER WASHER 2 O.D. - ZINC _ _ 4/4/2023

23535 UNIVERSAL SEALED HEADLIGHT _ _ 6/1/2023

23536 DISCONTINUED ONTINUED
MOTO _ _ 12/9/2020

23538 7/16-14 X 4 HEX HD CAP SCRE _ _ 4/4/2023

23539 UNIVERSAL BREAK-OFF HOSE
TE _ _ 9/12/2022

2354 DISCONTINUED ONTINUED 10-2 _ _ 7/30/2014

23540 PHIL. PAN HEAD T.S. #8 X 1- _ _ 9/12/2022

23541 PHIL. PAN HEAD T.S. #10 X 1 _ _ 4/4/2023

23543 MOULDED IN-LINE ATO/ATC
5AM _ _ 6/1/2023

23544 MOULDED IN-LINE ATO/ATC 7.5 _ _ 6/1/2023

23549 HEX WSHR HD T.S. W/ TEK POI _ _ 9/12/2022

23550 DISC. - SUPERSEDED BY 18354 _ _ 3/17/2022

23551 FORD WINDOW REGULATOR
ROLLE _ _ 6/9/2022

23554 GM FRONT BUMPER AIR
DEFLECT _ _ 9/12/2022

23556 TOYOTA WINDSHIELD
MOULDING _ _ 8/16/2022

23557 AMC TRIM PANEL RETAINER _ _ 6/16/2021

23558 DISCONTINUED - 2 WAY HARNE _ _ 6/30/2020

23562 GM COOLANT, GLOW PLUG
SENSO _ _ 12/1/2022

23566 L.H. WINDSHIELD LOCKING STR _ _ 8/16/2021

23568 R.H. WINDSHIELD LOCKING STR _ _ 5/3/2022

23569 L.H. WINDSHIELD LOCKING STR _ _ 6/30/2021

23570 R.H. WINDSHIELD LOCKING STR _ _ 6/30/2021

23571 STRAIGHT WINDSHIELD
LOCKING _ _ 11/2/2022

23572 R.H. WINDSHIELD LOCKING STR _ _ 5/26/2021

23573 STRAIGHT WINDSHIELD _ _ 12/1/2022



LOCKING

23574 R.H. WINDSHIELD LOCKING STR _ _ 6/30/2021

23583 GM HEADLAMP RIM TO GRILLE R _ _ 8/17/2021

23584 UNIVERSAL BOTTOM WINDOW
CHA _ _ 2/20/2024

23585 DISCONTINUED - GM & FORD W _ _ 6/30/2021

23586 FORD WINDSHIELD & BACK
GLAS _ _ 8/17/2021

23590 CHRYSLER WINDSHIELD WIPER
R _ _ 6/7/2021

23593 DISCONTINUED -GM & FORD
HOO _ _ 7/17/2020

23599 CHRYSLER WINDSHIELD REVEAL _ _ 3/26/2021

236 DISCONTINUED - BRASS MALE E _ _ 9/11/2015

23604 FORD FRONT SEAT TRUCK
ADJUS _ _ 3/1/2022

23605 DISCONTINUED - GM
MOULDING _ _ 6/30/2021

23609 DISCONTINUED - GM & FORD T _ _ 6/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23611 DISCONTINUED -BULK PHIL. WS _ _ 7/16/2020

23613 DISCONTINUED ONTINUED GM
H _ _ 10/20/2020

23614 DISCONTINUED ONTINUED
FORD _ _ 10/8/2020

23623 GM L.H. DOOR LOCK SPRING _ _ 11/2/2021

23630 DISCONTINUED ONTINUED GM
W _ _ 9/2/2020

23633 SPRING TYPE U-NUT SCREW
#10 _ _ 11/9/2021

23634 SPRING TYPE U-NUT SCREW
#14 _ _ 1/31/2022

23635 SPRING TYPE U-NUT SCREW
#14 _ _ 1/31/2022

23641 FORD NYLON OIL DRAIN PLUG G _ _ 9/15/2021

23643 FORD & AMC AIR CLEANER
WING _ _ 5/2/2022

23645 DISCONTINUED - WIRING & TU _ _ 6/30/2021

23647 TUBULAR NYLON NUT STUD
SIZE _ _ 5/19/2021

23648 GM MOULDING CLIP _ _ 3/15/2022

23650 FORD WEATHERSTRIP CLIP _ _ 3/1/2022

23651 NYLON TEE CONNECTOR 1/8� X _ _ 4/6/2021

23658 GM QUARTER BELT REVEAL
MOUL _ _ 5/27/2021

23660 GM GEAR SHIFT LEVER KNOB _ _ 3/17/2022

23667 FORD SIDE MOULDING CLIP _ _ 5/6/2021

23668 DISCONTINUED - THREAD CUTT _ _ 6/30/2021

23670 HEX HD SEMS BODY BOLT CA
PO _ _ 6/7/2021

23672 DISCONTINUED ONTINUED GM
M _ _ 6/29/2020

23673 FORD ENGINE TO
TRANSMISSION _ _ 8/18/2021



23674 DISCONTINUED - FORD TAIL G _ _ 6/30/2021

2368 DISCONTINUED -#8 X 3/8 IND. 2389 Discontinued 6/14/2011

23680 GM ROCKER MOULDING CLIP _ _ 4/6/2021

23687 FORD CHRYSLER DOOR &
INTERI _ _ 6/1/2023

23690 GM WHEEL MOULDING CLIP _ _ 5/1/2023

23697 GM QUARTER BELT REVEAL
MOUL _ _ 8/1/2022

23701 GM WINDSHIELD MOULDING
CLIP _ _ 1/3/2022

23705 TORX PAN HD T.S. M4.2-1.41 _ _ 10/4/2021

2371 DISCONTINUED - #14 X 2-1/4 _ _ 3/4/2015

23716 CORVETTE WINDSHIELD
MOULDIN _ _ 1/31/2022

23717 GM WINDOW REGULATOR
HANDLE _ _ 6/1/2023

23722 HEX FLANGE HD CAP SCREW
M6- _ _ 2/16/2023

23731 GM BELT MOULDING CLIP _ _ 3/3/2022

23732 CHRYSLER & MITSUBISHI INTER _ _ 5/2/2022

23733 GM & VW GRILLE PUSH-TYPE RE _ _ 12/1/2021

23739 CHRYSLER L.H. DOOR LOCK
ROD _ _ 8/1/2022

23740 GM BRAKE MASTER CYLINDER
CA _ _ 8/18/2021

23746 DISCONTINUED - FORD TRIM P _ _ 6/30/2021

23748 FORD TRIM PANEL RETAINER _ _ 6/2/2022

23749 GM ARM REST SCREW
GROMMET _ _ 4/11/2022

23750 GM TORX DRIVE KNURLED
SOCKE _ _ 3/26/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

23751 NISSAN TRIM PANEL RETAINING _ _ 7/6/2021

23757 GM GEAR SHIFT LEVER KNOB _ _ 5/2/2022

23759 NYLON STRAIGHT CONNECTOR
1/ _ _ 9/20/2021

23760 CHRYSLER
HEADLAMP-ADJUSTING _ _ 5/26/2021

23766 GM DIMMER SWITCH SWITCH
ACT _ _ 4/6/2021

23767 DISCONTINUED - STEERING
HOU _ _ 6/16/2021

23770 GM FENDER & QUARTER
MOULDIN _ _ 4/1/2022

23779 DISCONTINUED - PHIL. FLAT _ _ 6/30/2021

23780 SLOTTED WASHER HEAD
LICENSE _ _ 7/1/2022

23791 TORX ROUND WSHR HD BODY
BOL _ _ 8/4/2021

23797 FORD TRIM PANEL RETAINER _ _ 7/1/2022

23798 DISCONTINUED - GM KEY BLAN _ _ 6/30/2021

23800 GM ROUTING CLIP 1-1/2 I.D. _ _ 8/18/2021

23812 DISCONTINUED ONTINUED PHIL _ _ 8/17/2020



23813 HEX WSHR HD SEMS T.S. W/ TE _ _ 3/1/2023

23814 PHILLIPS POZI WSHR HD T.S. _ _ 11/2/2023

23815 DISCONTINUED - PLASTIC VAC _ _ 6/30/2021

23816 PLASTIC VACUUM TUBE
CONNECT _ _ 5/26/2021

23819 FORD & MAZDA COWL SCREEN
RE _ _ 6/7/2021

2382 DISCONTINUED - WIRE LOOM
CL _ _ 1/13/2012

23821 FORD PARKING LAMP
RETAINING _ _ 11/2/2023

23824 DISCONTINUED ONTINUED
CHRY _ _ 10/30/2020

23825 SPRING TYPE U-NUT SCREW M4. _ _ 1/3/2022

23827 CHRYSLER DECK LOCK & KEY _ _ 11/2/2023

23832 FORD NYLON BLIND RIVET _ _ 9/12/2022

23839 PHIL. OVAL HD SEMS FLUSH WS _ _ 6/7/2021

23840 PHIL. OVAL HD SEMS FLUSH WS _ _ 6/7/2021

23842 DISCONTINUED - FORD TAIL L _ _ 6/30/2021

23843 DISCONTINUED ONTINUED
WHIT _ _ 12/30/2019

23844 DISCONTINUED - WHITE TRUCK _ _ 6/30/2020

23845 DISCONTINUED ONTINUED
TOYO _ _ 12/4/2020

23846 HEX WASHER HEAD T.S. M4.8-1 _ _ 6/1/2023

23848 DISCONTINUED - FORD WINSHI _ _ 7/6/2021

23854 DISCONTINUED - GM DOOR HIN _ _ 6/30/2021

23857 GM HOOD ADJUSTMENT
BUMPER M _ _ 3/9/2021

23858 GM DOOR MOULDING CLIP _ _ 10/2/2022

23875 GM DOOR LOCK ROD CLIP _ _ 1/31/2022

23881 PUSH NUT FOR NON-THREADED
7 _ _ 4/1/2022

23886 HONDA WINDSHIELD SIDE
MOULD _ _ 11/2/2023

23890 GM PEEL TYPE RIVET M5 DIA. _ _ 12/1/2022

23894 DISCONTINUED - GM HOOD
PRO _ _ 6/30/2021

23897 GM COWL SCREEN RETAINER
WIT _ _ 3/9/2022

23908 CHRYSLER COWL SCREEN
RETAIN _ _ 7/7/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

2391 DISCONTINUED - #14 X 5/8 IN _ _ 7/19/2013

23922 ALUMINUM SEALING WASHER
6MM _ _ 11/2/2021

23923 ALUMINUM SEALING WASHER
8MM _ _ 8/2/2021

23931 ALUMINUM SEALING WASHER
22M _ _ 8/1/2023

23934 CHRYSLER WINDOW
REGULATOR R _ _ 8/18/2021

23938 GM COWL SCREEN RETAINER _ _ 5/1/2023



23941 GM RADIATOR BAFFLE
RETAINER _ _ 8/1/2022

23942 DISCONTINUED - PUSH NUT FO _ _ 6/30/2021

23947 TOYOTA COWL VENT GROMMET _ _ 8/2/2021

23951 BMW SCUFF PLATE RETAINER _ _ 11/2/2023

23957 FORD CRANKCASE VENTILATION _ _ 8/18/2021

23967 CHRYSLER REAR VIEW MIRROR
M _ _ 6/24/2021

23969 MERCEDES COWL COVER
RETAINE _ _ 9/1/2022

23972 CHRYSLER & MITSUBISHI INTER _ _ 5/2/2022

23974 MERCEDES BACKGLASS
MOULDING _ _ 11/2/2023

23977 DISCONTINUED - WASHER
LOCK _ _ 6/30/2021

23980 CAGE NUT M8-1.25 RANGE 1.6- _ _ 7/1/2022

23981 HEX WSHR HD T.S. #10 X 3/4 _ _ 8/23/2021

23983 TYPE G MINI HOSE CLAMP 11.5 _ _ 4/22/2022

23986 GM WINDOW REGULATOR
ROLLER _ _ 6/7/2021

23987 GM WINDOW REGULATOR
ROLLER _ _ 6/7/2021

23988 DISCONTINUED GM WINDOW
REG _ _ 6/7/2021

23990 FORD TAIL LAMP MOUNTING
GRO _ _ 3/26/2021

23991 FORD TAIL LAMP MOUNTING
GRO _ _ 10/10/2021

23994 DISC. - SUPERSEDED BY 22330 _ _ 3/17/2022

23999 PHILLIPS OVAL HD T.S. #10 X _ _ 1/3/2022

24000 PHIL. FLAT HD FLOOR BOARD T _ _ 10/4/2021

24004 DISCONTINUED ONTINUED
FLUS _ _ 10/1/2019

24010 SPIN LOCK NUT W/SERRATIONS _ _ 11/2/2022

24012 CAGE NUT #10-24 - BLACK _ _ 11/2/2022

24014 DISCONTINUED - CAGE NUT 1/ _ _ 6/30/2021

24015 DISCONTINUED - SPRING TYPE _ _ 6/30/2021

24021 SPRING TYPE U-NUT SCREW #6 _ _ 3/3/2022

24022 UNIVERSAL MOULDING
FASTENER _ _ 8/18/2021

24025 DISCONTINUED - CHRYSLER HE _ _ 6/30/2021

24026 RUBBER GROMMET BORE -
BUTAD _ _ 6/23/2021

24028 SPIN LOCK NUT W/SERRATIONS _ _ 6/7/2021

24030 EXTRUDED J-NUT SCREW
#10-24 _ _ 5/2/2022

24032 PHILLIPS OVAL HD T.S. #8 X _ _ 5/26/2021

24039 SPRING PIN 7/32 X 3/4 STEEL _ _ 3/1/2023

24040 EXTERNAL RETAINING RING
SHA _ _ 7/1/2022

24041 WOODRUFF KEY 1/16� X 1/2", _ _ 6/1/2023

24045 SPRING CENTER BOLT 7/16 X 6 _ _ 4/1/2022

Auveco Discontinued Items



Item # Description Rpl Item Disc. Notes Date

24052 SPIN LOCK NUT W/SERRATIONS _ _ 11/2/2023

24059 SOLDERLESS TERMINAL RING 6 _ _ 7/1/2023

24061 FENDER WASHER BOLT SIZE
3/1 _ _ 8/1/2022

24062 FLAT WASHER BOLT SIZE #10 O _ _ 3/9/2022

24064 FLAT WASHER BOLT SIZE 5/16 _ _ 11/2/2022

24065 COUNTERSUNK WASHER SCREW
#1 _ _ 6/2/2022

24067 EXTERNAL RETAINING RING
SHA _ _ 8/7/2022

24068 EXTERNAL RETAINING RING
SHA _ _ 2/1/2023

24069 EXTERNAL RETAINING RING
SHA _ _ 10/2/2022

24071 INTERNAL RETAINING RING SHA _ _ 4/1/2022

24073 INTERNAL RETAINING RING SHA _ _ 1/19/2022

24081 MINI METRIC SLIDE CALIPER T _ _ 8/1/2023

24084 CHRYSLER BODY SIDE
MOULDING _ _ 6/30/2021

24085 DISCONTINUED ONTINUED GM
S _ _ 9/2/2020

24086 JAM HEX NUT M14-1.50 _ _ 10/2/2022

24088 DISCONTINUED ONTINUED
FORD _ _ 9/2/2020

24090 SPRING TYPE U-NUT SCREW
#10 _ _ 1/3/2022

24093 CHRYSLER BODY SIDE
MOULDING _ _ 6/30/2021

24095 SLOTTED HEX NUT 1-8 ZINC _ _ 9/1/2022

24096 COTTER PIN 5/32 X 1-3/4 - P _ _ 3/1/2023

24099 HEX HEAD CAP SCREW
M14-2.00 _ _ 7/1/2023

24100 HEX HEAD CAP SCREW
M16-2.00 _ _ 2/1/2023

24102 DISCONTINUED - AXLE HUB ST _ _ 6/30/2021

24105 METRIC HEX FLANGE LOCK NUT _ _ 11/2/2023

24107 HEX HEAD CAP SCREW GRADE
8, _ _ 9/1/2022

24109 HEX HEAD CAP SCREW GRADE
8, _ _ 7/15/2021

24113 TIRE VALVE SLOTTED CAP - ST _ _ 5/26/2021

24117 PHILLIPS PAN HD T.S. W/ TEK _ _ 8/18/2021

24118 PHILLIPS PAN HD T.S. W/ TEK _ _ 11/2/2021

24121 DISCONTINUED - METRIC COTT _ _ 6/30/2021

24122 METRIC COTTER PIN 2.5MM X 3 _ _ 7/6/2021

24129 HEX WSHR HD T.S. W/ TEK POI _ _ 3/1/2023

24133 PHILLIPS PAN HD T.S. W/ TEK _ _ 3/1/2023

24136 DISCONTINUED - HEX PAL NUT _ _ 6/30/2021

24138 HEX PAL NUT 3/4-16" HEX 1-1 _ _ 11/2/2023

24146 FORD, INTERNATIONAL,
RAMBLE _ _ 6/2/2022

24151 HOOD ADJUSTMENT BUMPER _ _ 1/31/2024



STUD

24155 FORD POWER WINDOW
REGULATOR _ _ 11/6/2023

24159 FORD HEATER HOSE COUPLER
KI _ _ 11/6/2023

24184 DISCONTINUED - GM REAR WIN _ _ 6/30/2021

24189 TUBULAR TYPE NUT STUD SIZE _ _ 9/1/2021

24190 SOCKET HEAD SET SCREW 6-32 _ _ 9/15/2021

24192 DISCONTINUED - FORD PARK/T _ _ 6/30/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

24194 DISCONTINUED - GM BACK WIN _ _ 3/5/2020

24195 EXTERNAL LOCK WASHER 9/16
B _ _ 10/2/2022

24197 TORX PAN HD T.S. SEMS M4.2- _ _ 11/2/2022

24199 HEX HEAD CAP SCREW GRADE
8, _ _ 12/1/2021

24200 CHRYSLER LICENSE PLATE LAMP _ _ 7/7/2021

24201 DOUBLE ENDED STUD
7/16X11/1 _ _ 5/25/2021

24205 REPAIR HARNESS - HEADLAMP
B _ _ 2/1/2023

24205B SUPERSEDED BY 22425B BULK _ _ 1/17/2023

2451 DISCONTINUED - DOOR &
WINDO _ _ 2/23/2012

2486 DISCONTINUED - #8 X 1 IND H _ _ 6/24/2021

2488 DISCONTINUED - #10 X 1 IND. _ _ 3/12/2013

2537 10-32 X 3/4 SLOTTED ROUND H _ _ 10/2/2022

2565 DISCONTINUED - TUBULAR NUT _ _ 9/21/2022

2574 NO 8 X 5/8 PHILLIPS OVAL H _ _ 7/1/2023

261 DISCONTINUED - BRASS MALE
C _ _ 11/16/2017

262 BRASS MALE CONNECTOR 1/4
TU _ _ 8/1/2022

2631 DISCONTINUED -8 X 1 3/4 PHI _ _ 1/28/2010

2656 DISCONTINUED - 10 X 1/2 PH _ _ 6/24/2021

2658 DISCONTINUED -10 X 5/8 PHIL _ _ 5/12/2010

2662 DISCONTINUED - 10 X 1 1/2 P _ _ 6/24/2021

2663 DISCONTINUED - 10 X 1 3/4 P _ _ 6/24/2021

2665 DISCONTINUED ONTINUED 10 X _ _ 6/24/2021

269 BRASS MALE CONNECTOR 1/2
TU _ _ 8/1/2022

2704 6 X 1 1/4 PHILLIPS OVAL HEA _ _ 7/1/2022

2708 DISCONTINUED - 8 X 5/8 PHIL _ _ 9/8/2014

2725 DISCONTINUED -10 X 5/8 PHI 2580 REPLACEMENT FOR DISC
ITEM 6/14/2011

2726 DISCONTINUED - 10 X 3/4 #6 _ _ 6/24/2021

2735 10 X 1 1/4 PHILLIPS OVAL HD _ _ 6/16/2021

2736 DISC - 6 X 5/16 #4 HD PHILL _ _ 9/1/2020

280-05 OIL DRAIN PLUGS 80-05/74-07 _ _ 3/28/2019

280-19 OIL DRAIN PLUGS 80-19 2 BOX _ _ 3/28/2019



2803 DISCONTINUED - 6 X 3/4 #4 H _ _ 6/24/2021

290 DISCONTINUED - BRASS
SLOTTE _ _ 3/1/2017

2977 DISCONTINUED -5/16 X 5/8 IN _ _ 6/14/2011

2983 DISCONTINUED - 12 X 3/4 HEX _ _ 9/21/2022

3 BAY ADD MARLI 3 BAY ADD KIT/ASSORTM _ _ 11/5/2020

3-96 disc-superseded by 3-96r _ _ 2/20/2023

3-96R 2 DRAWER SLIDE RACK(LARGE
D _ _ 1/14/2024

30006 12 OZ. COFFEE MUG MARBLE IR _ _ 5/4/2005

30011 TITLEIST DT GOLF BALLS - 1 _ _ 8/2/2016

30013 AUVECO WALL CLOCK _ _ 6/21/2016

30014 CALENDAR _ _ 5/7/2020

30052XXX COTTON PIQUE KNIT SHIRT XXX _ _ 8/24/2012

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30053-2X LONG SLEEVE BLUE DENIM SHIR _ _ 11/6/2013

30053L LONG SLEEVE BLUE DENIM SHIR _ _ 8/24/2012

30053M LONG SLEEVE BLUE DENIM SHIR _ _ 8/24/2012

30053S LONG SLEEVE BLUE DENIM SHIR _ _ 8/24/2012

30053XL LONG SLEEVE BLUE DENIM SHIR _ _ 8/24/2012

30053XXX LONG SLEEVE BLUE DENIM SHIR _ _ 8/24/2012

30056-2X T-SHIRT (XX-LARGE) WHITE W/ _ _ 8/13/2013

30056-3X T-SHIRT (3X-LARGE) WHITE W/ _ _ 8/13/2013

30056-4X T-SHIRT (4X-LARGE) WHITE W/ _ _ 8/13/2013

30056-5X T-SHIRT (5X-LARGE) WHITE W/ _ _ 2/16/2016

30056-6X T-SHIRT (6X-LARGE) WHITE W/ _ _ 8/13/2013

30056L T-SHIRT (LARGE) WHITE WITH _ _ 2/16/2016

30056M T-SHIRT (MEDIUM) WHITE WITH _ _ 8/24/2012

30056S T-SHIRT (SMALL) WHITE WITH _ _ 8/24/2012

30056XL T-SHIRT (X-LARGE) WHITE W/G _ _ 10/27/2015

30057-2X T-SHIRT (XX-LARGE) GREEN W/ _ _ 8/13/2013

30057-3X T-SHIRT (3X-LARGE) GREEN W/ _ _ 8/13/2013

30057-4X T-SHIRT, GREEN W/WHITE
LOGO _ _ 8/24/2012

30057L T-SHIRT (LARGE) GREEN WITH _ _ 5/4/2005

30057M T-SHIRT (MEDIUM) GREEN
WITH _ _ 8/24/2012

30057S T-SHIRT (SMALL) GREEN WITH _ _ 8/24/2012

30057XL T-SHIRT (X-LARGE) GREEN W/W _ _ 8/24/2012

30059M T-SHIRT (MEDIUM) CAROLINA B _ _ 2/16/2016

30059S T-SHIRT (SMALL) CAROLINA BL _ _ 2/16/2016

30059XL T-SHIRT (X LARGE) CAROLINA _ _ 6/26/2017

30059XXL T-SHIRT (2X-LARGE) CAROLINA _ _ 2/16/2016

30063L LONG SLEEVE WHITE MOCK
TURT _ _ 8/24/2012

30064L HUNTER GREEN CREW JACKET - _ _ 8/24/2012

30064M HUNTER GREEN CREW JACKET _ _ 8/24/2012



30064S HUNTER GREEN CREW JACKET - _ _ 8/24/2012

30064XL HUNTER GREEN CREW JACKET - _ _ 8/24/2012

30064XXL HUNTER GREEN CREW JACKET _ _ 8/24/2012

30064XXX HUNTER GREEN CREW JACKET - _ _ 8/24/2012

30066L LONG SLEEVE BLUE OXFORD
SHI _ _ 8/24/2012

30066XXX LONG SLEEVE BLUE OXFORD
SHI _ _ 8/24/2012

30067XXX LONG SLEEVE WHITE OXFORD
SH _ _ 8/24/2012

30068L LONG SLEEVE
CHARCOAL/GREEN _ _ 8/24/2012

30068XXL LONG SLEEVE
CHARCOAL/GREEN _ _ 8/24/2012

30068XXX LONG SLEEVE
CHARCOAL/GREEN _ _ 8/24/2012

30070M LONG SLEEVE GRN MOCK
TURTLE _ _ 8/24/2012

30074-2X SWEATSHIRT, OXFORD
W/GREEN _ _ 11/6/2013

30074-3X SWEATSHIRT, OXFORD
W/GREEN _ _ 11/6/2013

30074-4X SWEATSHIRT, OXFORD
W/GREEN _ _ 11/6/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30074L SWEATSHIRT, OXFORD
W/GREEN _ _ 8/24/2012

30074M SWEATSHIRT, OXFORD
W/GREEN _ _ 8/24/2012

30074S SWEATSHIRT, OXFORD
W/GREEN _ _ 8/24/2012

30074XL SWEATSHIRT, OXFORD
W/GREEN _ _ 8/24/2012

30075-2X ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30075-3X ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30075-4X ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30075L ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30075M ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30075S ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30075XL ZIPPER SWEATSHIRT, VINTAGE _ _ 10/27/2015

30078XXL DENIM SH. SLV. SHIRT, WHITE _ _ 8/24/2012

30078XXX DENIM SH. SLV. SHIRT, WHITE _ _ 8/24/2012

30079XL DISCONTINUED - TWILL SH. SL _ _ 11/5/2013

30080XXX CAMP SHIRT, STONE,
GRN&WHIT _ _ 8/24/2012

30082-2X T-SHIRT, NAVY BLUE W/WHITE _ _ 11/6/2013

30082-3X T-SHIRT, NAVY BLUE W/WHITE _ _ 8/13/2013

30082-4X T-SHIRT, NAVY BLUE W/WHITE _ _ 8/13/2013

30082L T-SHIRT, NAVY BLUE W/WHITE _ _ 8/24/2012

30082M T-SHIRT, NAVY BLUE W/WHITE _ _ 8/24/2012

30082S T-SHIRT, NAVY BLUE W/WHITE _ _ 8/24/2012

30082XL T-SHIRT, NAVY BLUE W/WHITE _ _ 8/24/2012



30083L HANES BEEFY T-SHIRT, TEAL W _ _ 8/24/2012

30083M HANES BEEFY T-SHIRT, TEAL W _ _ 8/24/2012

30083S HANES BEEFY T-SHIRT, TEAL W _ _ 8/24/2012

30083XL HANES BEEFY T-SHIRT, TEAL W _ _ 8/24/2012

30083XXL HANES BEEFY T-SHIRT, TEAL W _ _ 8/24/2012

30083XXX HANES BEEFY T-SHIRT, TEAL W _ _ 8/24/2012

30084-5X HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30084L HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30084M HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30084S HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30084XL HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30084XXL HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30084XXX HANES BEEFY T-SHIRT-PINK W/ _ _ 8/24/2012

30085 POST-IT NOTE PAD, 50 SHEETS _ _ 8/24/2012

30088 COLLAPSIBLE KOOZIE CAN
HOLD _ _ 1/14/2009

30089 POST-IT NOTE PAD, 50 SHEETS _ _ 11/22/2005

30090L DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

30090M DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

30090S DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

30090XL DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

30090XXL DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30091L DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

30091M RIB SPORT SHIRT CYPRESS W/ _ _ 7/10/2006

30092L DISCONTINUED - RIB SPORT SH _ _ 11/5/2013

30092S RIB SPORT SHIRT KHAKI W/ WH _ _ 6/26/2006

30093S SHORT SLEEVE GRAY MOCK
TURT _ _ 6/26/2006

30093XL SHORT SLEEVE GRAY MOCK
TURT _ _ 6/26/2006

30093XXL SHORT SLEEVE GRAY MOCK
TURT _ _ 6/26/2006

30093XXX SHORT SLEEVE GRAY MOCK
TURT _ _ 6/26/2006

30095L LADIES V NECK SPORT SHIRT, _ _ 6/26/2006

30098 STRUCTURED CAP, KHAKI &
CAM _ _ 6/26/2009

30101 POWER GEL HANGING AIR
FRESH _ _ 7/10/2008

30104-3X VANSPORT WOMENS V-NECK
STRI _ _ 12/4/2008

30104M VANSPORT WOMENS V-NECK
STRI _ _ 12/4/2008

30104S VANSPORT WOMENS V-NECK
STRI _ _ 12/4/2008

30105-3X VANSPORT WOMENS V-NECK
STRI _ _ 12/4/2008

30105S VANSPORT WOMENS V-NECK
STRI _ _ 12/4/2008



30106-2X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30106-3X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30106-4X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30106L LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30106M LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30106S LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30106XL LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107-2X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107-3X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107-4X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107L LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107M LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107S LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30107XL LADIES PORT AUTHORITY SILK _ _ 11/24/2018

30108-2X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30108-3X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30108-4X LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30108L LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30108M LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30108S LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30108XL LADIES PORT AUTHORITY SILK _ _ 11/5/2013

30109-2X LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30109-3X LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30109-4X LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30109L LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30109M LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30109S LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30109XL LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30110-2X LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30110-3X LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30110-4X LADIES REDHOUSE POLO 3
BUTT _ _ 11/6/2013

30110L LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30110M LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30110S LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30110XL LADIES REDHOUSE POLO 3
BUTT _ _ 11/5/2013

30112 UNSTRUCTURED CAP
STONE/GREE _ _ 12/15/2010



30114 PAPERMATE WRITE BROS. BALL _ _ 12/15/2010

30115 PAPERMATE ACUITY ROLLER BAL _ _ 12/15/2010

30116-3X LADIES SILK TOUCH SPORT SHI _ _ 11/6/2013

30116-4X LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30116L LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30116M LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30116S LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30117-2X LADIES SILK TOUCH SPORT SHI _ _ 11/6/2013

30117-4X LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30117L LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30117M LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30117S LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30117XL LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30117XXX LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30118-2X LADIES SILK TOUCH SPORT SHI _ _ 11/6/2013

30118-3X LADIES SILK TOUCH SPORT SHI _ _ 11/6/2013

30118-4X LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30118L LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30118M LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30118S LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30118XL LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30119-3X LADIES SILK TOUCH SPORT SHI _ _ 11/6/2013

30119-4X LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30119L LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30119M LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30119S LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30119XL LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30119XXL LADIES SILK TOUCH SPORT SHI _ _ 8/24/2012

30120-2X LADIES REDHOUSE POLO 3
BUTT _ _ 11/6/2013

30120-3X LADIES REDHOUSE POLO 3
BUTT _ _ 11/6/2013

30120-4X LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

30120L LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

30120M LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

30120S LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30120XL LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

30121-2X LADIES REDHOUSE POLO 3
BUTT _ _ 11/6/2013

30121-3X LADIES REDHOUSE POLO 3
BUTT _ _ 11/6/2013

30121-4X LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

LADIES REDHOUSE POLO 3



30121L BUTT _ _ 8/24/2012

30121M LADIES REDHOUSE POLO 3
BUTT _ _ 5/23/2011

30121S LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

30121XL LADIES REDHOUSE POLO 3
BUTT _ _ 8/24/2012

30122-2X LADIES SLEEVELESS SILK TOUC _ _ 11/6/2013

30122-3X LADIES SLEEVELESS SILK TOUC _ _ 11/6/2013

30122-4X LADIES SLEEVELESS SILK TOUC _ _ 8/24/2012

30122L LADIES SLEEVELESS SILK TOUC _ _ 8/24/2012

30122M LADIES SLEEVELESS SILK TOUC _ _ 8/24/2012

30122S LADIES SLEEVELESS SILK TOUC _ _ 8/24/2012

30122XL LADIES SLEEVELESS SILK TOUC _ _ 8/24/2012

30123-2X LADIES SLEEVELESS SILK TOUC _ _ 11/5/2013

30123-3X LADIES SLEEVELESS SILK TOUC _ _ 11/5/2013

30123L LADIES SLEEVELESS SILK TOUC _ _ 11/5/2013

30123M LADIES SLEEVELESS SILK TOUC _ _ 11/5/2013

30123S LADIES SLEEVELESS SILK TOUC _ _ 11/5/2013

30123XL LADIES SLEEVELESS SILK TOUC _ _ 11/5/2013

30124-2X 3810 CHARLES RIVER SHORT SL _ _ 8/2/2013

30124L 3810 CHARLES RIVER SHORT SL _ _ 8/2/2013

30124M 3810 CHARLES RIVER SHORT SL _ _ 8/2/2013

30124XL 3810 CHARLES RIVER SHORT SL _ _ 8/2/2013

30125-2X K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30125L K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30125M K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30125XL K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30126-2X K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30126L K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30126M K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30126XL K528 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30127-2X K548 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30127L K548 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30127M K548 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30127XL K548 PORT AUTHORITY POLO
SH _ _ 8/2/2013

30128-2X 878 TRI MOUNTAIN L/S SAGE G _ _ 8/2/2013

30128L 878 TRI MOUNTAIN L/S SAGE G _ _ 8/2/2013

30128M 878 TRI MOUNTAIN L/S SAGE G _ _ 8/2/2013

30128TALL-2X 878 TRI MOUNTAIN L/S SAGE G _ _ 8/2/2013

30128XL 878 TRI MOUNTAIN L/S SAGE G _ _ 8/2/2013



30129-2X S613 PORT AUTHORITY L/S PAT _ _ 8/2/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30129L S613 PORT AUTHORITY L/S PAT _ _ 8/2/2013

30129M S613 PORT AUTHORITY L/S PAT _ _ 8/2/2013

30129XL S613 PORT AUTHORITY L/S PAT _ _ 8/2/2013

30130-2X MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30130L MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30130M MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30130TALL-2X BCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30130TALL-XL BCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30130XL MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30131-2X MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30131L MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30131TALL-2X BCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30131TALL-XL BCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30131XL MCW04757 CUTTER & BUCK L/S _ _ 8/2/2013

30132-2X T-SHIRT (XX-LARGE) RED WITH _ _ 8/13/2013

30132-3X T-SHIRT (XXX-LARGE) RED WIT _ _ 8/13/2013

30132-4X T-SHIRT (4X-LARGE) RED WITH _ _ 8/13/2013

30132L T-SHIRT (LARGE) RED WITH WH _ _ 8/13/2013

30132M T-SHIRT (MEDIUM) RED WITH W _ _ 8/13/2013

30132S T-SHIRT (SMALL) RED WITH WH _ _ 8/13/2013

30132XL T-SHIRT (X-LARGE) RED WITH _ _ 8/13/2013

30133-2X T-SHIRT (XX-LARGE) CHARCOAL _ _ 8/13/2013

30133-3X T-SHIRT (3X-LARGE) CHARCOAL _ _ 8/13/2013

30133L T-SHIRT (LARGE) CHARCOAL WI _ _ 8/13/2013

30133M T-SHIRT (MEDIUM) CHARCOAL
W _ _ 8/13/2013

30133S T-SHIRT (SMALL) CHARCOAL WI _ _ 8/13/2013

30133XL T-SHIRT (X-LARGE) CHARCOAL _ _ 8/13/2013

30134-2X T-SHIRT (XX-LARGE) BLACK WI _ _ 8/13/2013

30134-3X T-SHIRT (3X-LARGE) BLACK WI _ _ 8/13/2013

30134-4X T-SHIRT (4X-LARGE) BLACK WI _ _ 8/13/2013

30134-5X T-SHIRT (5X-LARGE) BLACK WI _ _ 8/13/2013

30134-6X T-SHIRT (6X-LARGE) BLACK WI _ _ 8/13/2013

30134L T-SHIRT (LARGE) BLACK WITH _ _ 8/13/2013

30134M T-SHIRT (MEDIUM) BLACK WITH _ _ 10/27/2015

30134S T-SHIRT (SMALL) BLACK WITH _ _ 8/13/2013

30134XL T-SHIRT (X-LARGE) BLACK WIT _ _ 8/13/2013

30135-2X LIGHT STEEL LONG SLEEVE TEE _ _ 8/13/2013

30135-3X LIGHT STEEL LONG SLEEVE TEE _ _ 8/13/2013

30135L LIGHT STEEL LONG SLEEVE TEE _ _ 8/13/2013

30135M LIGHT STEEL LONG SLEEVE TEE _ _ 8/13/2013

30135S LIGHT STEEL LONG SLEEVE TEE _ _ 8/13/2013

30135XL LIGHT STEEL LONG SLEEVE TEE _ _ 8/13/2013



30136-2X T-SHIRT (2X-LARGE) DENIM BL _ _ 8/13/2013

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

30136-3X T-SHIRT (3X-LARGE) DENIM BL _ _ 8/13/2013

30136L T-SHIRT (LARGE) DENIM BLUE _ _ 8/13/2013

30136M T-SHIRT (MEDIUM) DENIM BLUE _ _ 8/13/2013

30136S T-SHIRT (SMALL) DENIM BLUE _ _ 8/13/2013

30136XL T-SHIRT (X-LARGE) DENIM BLU _ _ 8/13/2013

30137 STRUCTURED X200 CAP, RED
W/ _ _ 11/5/2013

30138 UNSTRUCTURED X301 CAP,
STON _ _ 11/5/2013

30139 VISOR - X400 STONE W/GREEN _ _ 11/5/2013

30140 PEAR NYLON CAP - LIME GREEN _ _ 11/5/2013

30141 PAPERMATE INKJOY
RETRACTABL _ _ 11/5/2013

30142 LIP BALM - TROPICAL FLAVOR _ _ 11/5/2013

30143-2X T-SHIRT (2XL) ORANGE WITH B _ _ 10/28/2015

30143-3X T-SHIRT (3XL) ORANGE WITH B _ _ 10/28/2015

30143L T-SHIRT (LARGE) ORANGE WITH _ _ 10/28/2015

30143M T-SHIRT (MEDIUM) ORANGE
WIT _ _ 10/28/2015

30143XL T-SHIRT (XLARGE) ORANGE WIT _ _ 10/28/2015

30144-2X T-SHIRT (2XL) YELLOW WITH B _ _ 10/28/2015

30144-3X T-SHIRT (3XL) YELLOW WITH B _ _ 10/28/2015

30144L T-SHIRT (LARGE) YELLOW WITH _ _ 10/28/2015

30144M T-SHIRT (MEDIUM) YELLOW WIT _ _ 10/28/2015

30144XL T-SHIRT (XLARGE) YELLOW WIT _ _ 10/28/2015

30145-2X T-SHIRT (2XL) DEEP ROYAL WI _ _ 10/28/2015

30145L T-SHIRT (LARGE) DEEP ROYAL _ _ 10/27/2015

30145M T-SHIRT (MEDIUM) DEEP ROYAL _ _ 10/27/2015

30145XL T-SHIRT (XLARGE) DEEP ROYAL _ _ 10/27/2015

30146-2X T-SHIRT (2XL) MAROON WITH
W _ _ 10/28/2015

30146L T-SHIRT (LARGE) MAROON
WITH _ _ 10/27/2015

30146M T-SHIRT (MEDIUM) MAROON
WIT _ _ 10/27/2015

30146XL T-SHIRT (XLARGE) MAROON
WIT _ _ 10/27/2015

30147-2X T-SHIRT (2XL) LIME WITH WHI _ _ 10/28/2015

30147L T-SHIRT (LARGE) LIME WITH W _ _ 10/27/2015

30147M T-SHIRT (MEDIUM) LIME WITH _ _ 10/27/2015

30147XL T-SHIRT (XLARGE) LIME WITH _ _ 10/27/2015

30148-2X T-SHIRT (2XL) LT. STEEL WI _ _ 10/28/2015

30148-3X T-SHIRT (3XL) LT. STEEL WI _ _ 10/28/2015

30148-5X T-SHIRT (5XL) LT. STEEL WI _ _ 10/28/2015

30148L T-SHIRT (LARGE) LT. STEEL _ _ 10/28/2015

30148M T-SHIRT (MEDIUM) LT. STEEL _ _ 10/28/2015



30148XL T-SHIRT (XLARGE) LT. STEEL _ _ 10/28/2015

3020 DISCONTINUED - 4 X 1/4 SLOT _ _ 6/20/2018

3024 DISCONTINUED - 4 X 1 SLOTTE _ _ 6/24/2021

3036 DISCONTINUED - 14 X 1 1/2 S _ _ 6/24/2021

3065 DISCONTINUED
-DISCONTINUED _ _ 5/22/2008

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

3070 DISCONTINUED -4 X 1 PHILLIP 12897 REPLACEMENT FOR DISC
ITEM 7/8/2015

3075 4 X 1 PHILLIPS PAN HEAD TAP _ _ 9/1/2022

3136 DISCONTINUED -TUBULAR NUT
F _ _ 6/6/2006

3139 DISCONTINUED - FLAT NUT 3/8 _ _ 9/18/2013

316-16 HEAD BOLTS [53-16 (16)] _ _ 3/28/2019

3176 DISCONTINUED - HAIR PIN COT _ _ 6/4/2018

3203 DISCONTINUED - 8 X 2 1/4 #6 _ _ 7/27/2012

3204 DISCONTINUED -8 X 2 1/2 #6 _ _ 7/21/2011

3206 DISCONTINUED -TAPPING
SCREW _ _ 11/1/2006

3207 10 X 2 1/2 PHILLIPS OVAL TA _ _ 11/2/2023

3212 DISCONTINUED - 8 X 1 1/4 IN _ _ 6/24/2021

3216 12 X 1 INDENTED HEX HEAD TA _ _ 3/1/2023

3217 DISCONTINUED - 12 X 1 1/4 I _ _ 6/24/2021

3249 SQUARE NUT 3/16-24 THREAD B _ _ 4/1/2023

329 DISCONTINUED - BRASS ADAPT _ _ 6/24/2021

3342 DISCONTINUED - 6 X 3/4 SLOT _ _ 3/14/2017

3350 DISCONTINUED - 8 X 1 SLOTTE _ _ 3/13/2017

3370 DISCONTINUED - 6 X 3/4 SLOT _ _ 9/21/2022

3380 DISCONTINUED ONTINUED 10 X _ _ 6/24/2021

3386 10 X 1 1/4 SLOTTED HEX WASH _ _ 1/31/2022

3402 DISCONTINUED - THREAD
CUTTI _ _ 4/5/2016

3445 DISCONTINUED .-DOOR FLANGE _ _ 7/21/2011

345 DISCONTINUED - BRASS
STREET _ _ 2/3/2016

348 BRASS STREET ELBOW 1/4 PIPE _ _ 11/2/2023

3483 DISCONTINUED - 12 X 7/8 SLO _ _ 6/24/2021

3485 DISCONTINUED -8 X 3/8 PHILL 3484 REPLACEMENT FOR DISC
ITEM 3/7/2008

3501 DISCONTINUED - 3/8-24 HEX K _ _ 6/24/2021

3502 1/16 X 1/2 HAMMER LOCK COTT _ _ 7/26/2021

3504 1/16 X 1 HAMMER LOCK COTTER _ _ 11/2/2023

3505 DISCONTINUED - 1/16 X 1 1/4 _ _ 6/24/2021

3506 DISCONTINUED - 1/16 X 1 1/2 _ _ 6/24/2021

3508 DISCONTINUED - 1/16 X 2 HAM _ _ 6/24/2021

3519 1/8 X 3/4 HAMMER LOCK COTTE 5720 REPLACEMENT FOR DISC
ITEM 3/1/2023

3526 DISCONTINUED - 1/8 X 2 1/2 _ _ 6/24/2021



3539MC MCMASTER 6 X 1 PHIL SEMS TR _ _ 6/4/2021

354 DISCONTINUED - BRASS CROSS _ _ 2/2/2017

355-7 hb223 _ _ 2/16/2021

3552 DISCONTINUED - 1/2 BOLT SIZ _ _ 6/24/2021

3559 DISCONTINUED - FLAT NUT 1/8 _ _ 2/6/2013

357 DISCONTINUED - BRASS TEE 3/ _ _ 6/24/2021

3571 DISCONTINUED -6 X 1 1/4 PHI _ _ 1/11/2011

358 DISCONTINUED - BRASS MALE
B _ _ 3/6/2015

3703 DISCONTINUED - 1/4 X 2 UNIV _ _ 7/22/2016

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

3704 DISCONTINUED - 5/16 X 2 UNI _ _ 4/3/2014

3705 DISCONTINUED - 3/8 X 2 UNIV _ _ 10/3/2013

3706 DISCONTINUED
-DISCONTINUED _ _ 6/15/2011

3707 DISCONTINUED - 1/2 X 2 UNIV _ _ 6/20/2014

3708 DISCONTINUED - 7/16 X 2 1/2 _ _ 3/2/2015

3709 DISCONTINUED - 1/2 X 2 1/2 _ _ 7/19/2013

3719 ROUND HD STOVE BOLT W/HEX
N _ _ 10/2/2023

3733 50/BAG RETAINER (82-5510B, _ _ 10/1/2019

3778 DISCONTINUED - J NUT #8 SCR _ _ 6/9/2015

3820 DISCONTINUED - 3/8-16 X 1-1 _ _ 2/5/2024

3822 DISCONTINUED - 3/8-16 X 1-1 _ _ 7/24/2014

3844 DISCONTINUED -8-32 X 1/2 SL _ _ 6/15/2011

3854 10-24 X 1 SLOTTED RND HD BR _ _ 9/1/2021

39-03BMM DOWEL PINS F3ZZ-6A008A 4/B _ _ 2/16/2021

39-05SBMM DOWEL PINS D27Z-6A008A 2/B _ _ 10/7/2019

39-09SBMM DOWEL PINS D2RY-6A008A 4/B _ _ 3/28/2019

39-12BMM DOWEL PINS 373118-S 1/B _ _ 10/7/2019

3945 1-3/16" CONCAVE EXPANSION P _ _ 9/1/2021

3947 DISCONTINUED - 1-3/8" CONCA _ _ 6/24/2021

395 DISCONTINUED - BRASS ANGLE _ _ 7/6/2015

3950 DISCONTINUED ONTINUED 1-3/ _ _ 6/24/2021

3962 1-7/32 CUP TYPE EXPANSION P _ _ 3/1/2023

398 DISCONTINUED - BRASS ANGLE _ _ 6/24/2021

399 BRASS FEMALE PIPE 1/8 PIPE _ _ 5/1/2023

4 BAY ADD MARLI 4 BAY ADD KIT/ASSORTM _ _ 10/31/2023

404 BRASS SHUT OFF VALVE 3-WAY _ _ 2/1/2023

4260 WINDSHIELD WIPER RUBBER
GRO _ _ 1/3/2022

4266 DISCONTINUED - GM HOOD &
GR _ _ 9/21/2022

4357 DISCONTINUED - FORD HOOD T _ _ 6/24/2021

439 HOSE BARB TO TPR FEMALE PIP _ _ 8/1/2022

4406 DISCONTINUED - BRAKE
ADJUST _ _ 7/13/2017

DISCONTINUED - HOSE BARB



441 TO _ _ 2/2/2017

442 HOSE BARB TO TPR FEMALE PIP _ _ 3/1/2023

443 DISCONTINUED - HOSE BARB
TO _ _ 6/24/2021

4465 FUEL LINE HOSE 1/4 ID 50FT _ _ 6/1/2023

4467 FUEL LINE HOSE 5/16 ID 50FT _ _ 11/2/2022

448 DISCONTINUED - BALL END JOI _ _ 11/16/2017

448-BB MERCHANDISER LABELED
BOARDS _ _ 8/19/2022

4516 DISCONTINUED - SETTING
CHAN _ _ 4/27/2018

4530 TEE RUBBER 9/32 X 3/4 50 FT _ _ 5/2/2022

461 DISCONTINUED - BEADED HOSE _ _ 6/24/2021

462 DISCONTINUED - BEADED HOSE _ _ 12/9/2016

463 DISCONTINUED - BEADED HOSE _ _ 6/24/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

4670 WEATHERSTRIP _ _ 6/1/2023

4688 DISCONTINUED - WEATHERSTRI _ _ 6/29/2021

4746 DISCONTINUED - WEATHERSTRI _ _ 7/20/2020

4749 WEATHERSTRIPPING _ _ 11/2/2021

4750 DISCONTINUED ONTINUED
WEAT _ _ 3/16/2020

4802WUS 5/32 X 5/8 X 10' PEEL-BAK _ _ 9/8/2023

4805 5/16 X 3/8 X 10' PEEL-BAK _ _ 1/3/2022

4810 7/16 X 3/8 X 10' PEEL-BAK _ _ 11/2/2021

4858 DISCONTINUED ONTINUED 7/16 _ _ 6/29/2021

5-HCR DISCONTINUED - 5 LOOP HOSE _ _ 6/30/2021

5033 DISCONTINUED - TERMINALS _ _ 9/13/2018

5043 DISCONTINUED - TERMINALS _ _ 9/11/2015

5055 DISCONTINUED - TERMINALS _ _ 7/22/2016

5057 DISCONTINUED - TERMINALS _ _ 3/22/2012

5058 DISCONTINUED - TERMINALS _ _ 3/2/2016

5059 DISCONTINUED - TERMINALS _ _ 4/3/2017

5069 DISCONTINUED -SPARK PLUG
WI _ _ 6/23/2011

5070 DISCONTINUED - SPARK PLUG
W _ _ 3/28/2013

5071 DISCONTINUED -SPARK PLUG
WI _ _ 6/23/2011

5073 DISCONTINUED - TERMINALS _ _ 1/13/2012

5089 DISCONTINUED -SHIM 1/32 THK _ _ 6/23/2011

5090 DISCONTINUED -SHIM 1/16 THK _ _ 6/23/2011

5091 DISCONTINUED -SHIM 1/8 THK _ _ 7/29/2011

5093 DISCONTINUED - SHIM 1/32 TH _ _ 7/27/2012

5094 DISCONTINUED -SHIM 1/16 THK _ _ 6/23/2011

5098 DISCONTINUED -SHIM 1/8 THK 5097 Discontinued 7/29/2011

5099 DISCONTINUED -SHIM 3/16 THK _ _ 9/21/2022

5240 DISCONTINUED - BUMPER BOLT _ _ 6/20/2014



5241 DISCONTINUED - BUMPER BOLT _ _ 6/20/2014

5294 DISCONTINUED - 8/32 X 3/4 S _ _ 3/6/2015

5298 DISCONTINUED - 10-24 X 3/8 _ _ 6/29/2021

53-06K HEAD BOLTS DETROIT DIESEL H _ _ 2/16/2021

53-07K HEAD BOLTS DETROIT DIESEL H _ _ 2/16/2021

53-25K HEAD BOLTS E9DZ-6065A _ _ 6/1/2023

53-55K HEAD BOLTS 53020067 12 PE _ _ 2/16/2021

53-65K HEAD BOLTS 5/BAG [S Q0910-0 _ _ 10/2/2022

53-77K HEAD BOLTS 4007307 6/BAG [S _ _ 10/4/2021

53-83K HEAD BOLTS 58-103-385-B 10/ _ _ 9/1/2022

53-92K HEAD BOLTS 2R3Z-6065BA
5/BA _ _ 2/16/2021

5316 DISCONTINUED -5/16-24 HEX N _ _ 6/23/2011

5317 DISCONTINUED - 5/16-18 HEX _ _ 4/2/2015

5318 DISCONTINUED -3/8-24 HEX BR _ _ 6/23/2011

5319 DISCONTINUED -3/8-16 HEX BR _ _ 6/23/2011

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

5324 DISCONTINUED -1/2-20 BRASS _ _ 6/23/2011

5384 DISCONTINUED - 5/16-18 X 1 _ _ 6/29/2021

5389 3/8-16 X 5/16 SOCKET HD S/S _ _ 1/2/2023

5397 DISCONTINUED - 10-32 X 3/8 _ _ 6/29/2021

54 DISCONTINUED -BRASS MALE C _ _ 10/14/2011

54-08K HEAD BOLTS 12553636 8/PER B _ _ 10/2/2022

54-15K HEAD BOLTS 12568079 14 PER _ _ 5/2/2022

54-54K HEAD BOLTS 54-54 8/BAG [S 5 _ _ 10/31/2023

5407 DISCONTINUED - 5/16-24 X 7/ _ _ 6/29/2021

5417 DISCONTINUED - 1/8 SOCKET
W _ _ 6/29/2021

5461 5/16-18 X 3 1/2 GRADE 5 CAP _ _ 8/1/2023

55-68K HEAD BOLTS 6500754 _ _ 1/31/2022

55-69X16 HEAD BOLTS 16 BAG [S 650143 _ _ 3/28/2019

5513 5/16-24 X 1 1/4 GRADE 5 CAP _ _ 2/1/2023

5533 3/8-24 X 3 GRADE 5 CAP SCRE _ _ 4/4/2023

554-4 HEAD BOLTS _ _ 3/28/2019

554-7 HEAD BOLTS [55-54(8) + 55-5 _ _ 3/28/2019

5604 DISCONTINUED - 4 X 5/8 PHIL _ _ 9/8/2014

5616 12 X 5/8 SLOTTED OVAL HD T. _ _ 6/17/2022

5617 DISCONTINUED - 14 X 5/8 SLT _ _ 6/29/2021

5618 DISCONTINUED - 14 X 2 1/4 S _ _ 6/29/2021

5623 DISCONTINUED ONTINUED 6 X _ _ 6/29/2021

5636 DISCONTINUED - 4 X 7/8 SLTD _ _ 3/13/2017

5639 DISCONTINUED - 6 X 1 3/8 SL _ _ 6/29/2021

5642 DISCONTINUED - 12 X 5/8 SLT _ _ 6/29/2021

5645 DISCONTINUED - 14 X 2 1/4 S _ _ 6/29/2021

5650 4 X 3/4 PHIL FLAT HD T.S. Z _ _ 7/1/2022



5676 DISCONTINUED - 8 X 5/8 IND. _ _ 11/9/2015

5682 DISCONTINUED -12 X 2 IND HE _ _ 6/28/2011

5685 DISCONTINUED - 14 X 2 IND H _ _ 7/24/2014

569-10 HEAD BOLTS 55-69X 10 BAG [5 _ _ 3/28/2019

5690 DISCONTINUED - 5/16 X 2 IND _ _ 10/2/2012

5697 1/8 X 1 SLOTTED RD HD M/S Z _ _ 3/9/2023

572-2 hb111 _ _ 1/13/2021

573-12 PIPE PLUGS [73-12 / 5 BOX] _ _ 3/28/2019

573-34 PIPE PLUGS [73-34 5/BOX] _ _ 9/8/2022

573-73S PIPE PLUGS 1/16 HEX PP _ _ 3/28/2019

573-87 PIPE PLUGS [73-87/5 BOX] _ _ 3/28/2019

574-40 SPEC GSKTS/PLUG _ _ 3/28/2019

574-42 SPEC GSKTS/PLUG _ _ 3/28/2019

574-43 SPEC GSKTS/PLUG 74-43/69-98 _ _ 3/28/2019

574-50 SPEC GSKTS/PLUG 5 BOX [74-5 _ _ 10/18/2023

574-96 PIPE PLUGS 5 BOX [74-96/74 _ _ 3/28/2019

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

574-97 SPEC GSKTS/PLUG 74-97 74-00 _ _ 3/28/2019

574-99 SPEC GSKTS/PLUG 74-99 _ _ 11/2/2021

577-16 PIPE PLUGS [77-16(5) + 75- _ _ 3/28/2019

577-38X OIL DRAIN PLUGS _ _ 3/28/2019

578-05M OIL DRAIN PLUGS [78-05M + 7 _ _ 10/18/2023

578-24 OIL DRAIN PLUGS 78-24/75-25 _ _ 3/28/2019

578-25KV OIL DRAIN PLUGS _ _ 3/28/2019

578-49 OIL DRAIN PLUGS [78-49 + 70 _ _ 12/8/2020

578-55 OIL DRAIN PLUGS _ _ 3/28/2019

578-62 OIL DRAIN PLUGS CHRYSLER/JE _ _ 3/28/2019

578-70 OIL DRAIN PLUGS 78-70/75-27 _ _ 3/22/2021

578-92 OIL DRAIN PLUGS [78-92+78-0 _ _ 3/28/2019

578-93 OIL DRAIN PLUGS [26MM-1.50 _ _ 3/28/2019

57846KV OIL DRAIN PLUGS [78-46(5) + _ _ 3/28/2019

579-15 PIPE PLUGS 79-15 DIFF PLUG _ _ 3/28/2019

579-21 PIPE PLUGS 79-21 5/BOX [1/ _ _ 8/5/2022

580-03 OIL DRAIN PLUGS 5 BOX [80-0 _ _ 3/28/2019

580-05 OIL DRAIN PLUGS 80-05 5/BOX _ _ 10/18/2023

580-07 OIL DRAIN PLUGS [80-07 5/BO _ _ 3/28/2019

580-17 OIL DRAIN PLUGS _ _ 3/28/2019

580-22 OIL DRAIN PLUGS _ _ 3/28/2019

580-23 OIL DRAIN PLUGS 80-23 5/BOX _ _ 3/28/2019

580-27 OIL DRAIN PLUGS 5 BOX [80-2 _ _ 10/18/2023

580-32 OIL DRAIN PLUGS 80-32 5/BOX _ _ 3/28/2019

580-39 11594-880151 _ _ 6/6/2022

580-51 891659 _ _ 6/6/2022

58045 OIL DRAIN PLUGS 80-45 5/BOX _ _ 3/28/2019



582-27S PIPE PLUGS 82-27S 5/BOX [8 _ _ 3/28/2019

5853 DISCONTINUED - PLASTIC STRA _ _ 5/4/2020

5879 PLASTIC STRAP _ _ 12/21/2023

5889 DISCONTINUED - UNIVERSAL
MO _ _ 3/4/2019

5905 DISCONTINUED
-DISCONTINUED _ _ 6/28/2011

6001 DISCONTINUED - SLOTTED PAN _ _ 2/6/2013

6003 PHILLIPS OVAL HEAD TAPPING _ _ 5/10/2023

6007 SPEED NUTS _ _ 10/24/2022

6011 SLTD RD.HD.MACH SC.W/HEX
NU _ _ 6/4/2023

6038 PHIL BINDING HEAD TAPPING S _ _ 10/13/2022

6049 DISCONTINUED - PHIL.SC.W/CO _ _ 1/29/2013

6051 HAMMER LOCK TYPE COTTER
PIN _ _ 9/2/2022

6060 DISCONTINUED - UNIVERSAL CL _ _ 4/10/2014

6065 WOODRUFF KEYS (385 PCS) _ _ 4/12/2023

6067 DISCONTINUED - CUP
EXPANSIO _ _ 5/8/2012

6073 SOCKET HEAD SET SCREWS _ _ 2/17/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

6085 RUBBER 'O' RINGS (300 PCS) _ _ 5/10/2023

6086 ROD END AND 'E' CLIPS (560 _ _ 9/25/2023

6112 HAMMER-LOCK COTTER
PINS(150 _ _ 10/17/2022

6113 DISCONTINUED -HAMMER-LOCK
C _ _ 6/6/2018

6124 SPRING PIN (1475 PCS) _ _ 6/21/2023

6133 INSULTD. CLOSED CLAMPS VINY _ _ 10/24/2022

6139 DISCONTINUED - CLEVIS PINS _ _ 5/8/2012

6144 TEKS SELF- DRILLING SCREW Z _ _ 1/25/2023

6158 METRIC COTTER PINS _ _ 10/17/2022

6162 XMAS TREE RETAINERS _ _ 2/17/2023

6164 PUSH NUT BOLT RETAINER _ _ 4/12/2023

6167 POLYETHYLENE TUBING HOSE
TE _ _ 5/8/2023

6168 POLYETHYLENE HOSE
CONNECTOR _ _ 10/17/2022

6172 METRIC PUSHNUT _ _ 9/25/2023

6173 NYLON INSULATED
SOLDERLESS _ _ 2/17/2023

6174 DISCONTINUED -INSULATED
SOL _ _ 6/28/2011

6175 INSULATED SOLDERLESS
TERMIN _ _ 5/10/2023

6176 MASTER THREAD REPAIR
INSERT _ _ 2/1/2023

6184 DISCONTINUED -STAINLESS
STE _ _ 6/6/2018

6186 OIL DRAIN PLUGS & GASKETS K _ _ 1/25/2023

DISCONTINUED -JIS CAP



6188 SCREW _ _ 12/5/2012

620 DISCONTINUED -NO.14
COUNTER _ _ 6/14/2011

6501 PHILLIPS OVAL HEAD TAPPING _ _ 1/25/2023

6502 TUBULAR FLAT U & J NUT KIT _ _ 2/17/2023

6503 SLOTTED ROUND HEAD
MACHINE _ _ 1/25/2023

6504 WOODRUFF KEY KIT _ _ 10/24/2022

6509 SPRING PIN KIT _ _ 1/25/2023

6510 SPRING PIN KIT _ _ 2/17/2023

6513 METRIC CAP SCREW AND NUT
KI _ _ 1/25/2023

6514 METRIC CAP SCREW AND NUT
KI _ _ 1/6/2023

6517 NYLON NUT KIT _ _ 1/25/2023

6524 WELL AND JACK NUT KIT _ _ 5/10/2023

6525 DISCONTINUED NYLON RIVET K _ _ 4/30/2021

6530 PHIL.FLAT TOP WASHER HEAD T _ _ 5/10/2023

6532 STAINLESS STEEL CAP
SCREWNU _ _ 1/25/2023

6533 STAINLESS STEEL TAPPING SCR _ _ 4/12/2023

6534 OIL DRAIN PLUG & GASKET KIT _ _ 10/24/2022

6537 DOOR HINGE PIN & BUSHING KI _ _ 5/10/2023

6538 CYLINDER HEAD & MANIFOLD
ST _ _ 10/24/2022

6541 LARGE DRAWER FIX-KIT CAP SC _ _ 1/25/2023

6545 GM MOULDING CLIP ASST _ _ 1/25/2023

6546 HYUNDAI & KIA MOULDING CLIP _ _ 10/24/2022

6550 NISSAN AND INFINITI RETAINE _ _ 10/24/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

6556 BMW CLIPS AND FASTENERS _ _ 9/25/2023

6558 CABLE TIES AND STRAPS _ _ 10/24/2022

6623BHM BHM HONDA AND ACURA
RETAINE _ _ 1/25/2023

6624BHM BHM HONDA AND ACURA
PUSH-TY _ _ 6/4/2023

6625BHM BHM NISSAN AND INFINITI RET _ _ 2/17/2023

6626BHM BHM TOYOTA AND LEXUS
RETAIN _ _ 10/24/2022

6627BHM BHM TOYOTA AND LEXUS
PUSH-T _ _ 10/24/2022

6634BHM BHM LARGE SIZE METRIC CAP S _ _ 1/25/2023

6635BHM BHM SMALL SIZE METRIC CAP S _ _ 1/25/2023

6637BHM BHM NYLON RIVETS _ _ 1/25/2023

6638BHM BHM GM MOULDING CLIPS _ _ 5/10/2023

6639BHM BHM HUNDAI AND KIA CLIPS AN _ _ 10/24/2022

6641BHM BHM CABLE TIES AND STRAPS _ _ 5/9/2023

6643BHM BHM HIGH PERFORMANCE
MINIAT _ _ 10/24/2022

BHM HIGH PERFORMANCE



6644BHM MINIAT _ _ 10/24/2022

6645BHM BHM HIGH PERFORMANCE
HALOGE _ _ 9/25/2023

6646BHM BHM SUBARU CLIPS &
FASTENER _ _ 10/24/2022

6649BHM BHM SMALL SIZE USS GRADE 5 _ _ 9/25/2023

6660BHM BHM LICENSE PLATE SCREWS & _ _ 10/24/2022

6675BHM BHM- BODY HARDWARE
MASTER A _ _ 10/17/2022

6699BHM BHM HIGH PERFORMANCE BULB
A _ _ 9/6/2022

67741801 RUBBER NUT 1/4-20 THREAD .7 _ _ 6/28/2021

67743682 FLAT NUT #6-32 SCREW SIZE 5 _ _ 9/10/2021

68-112 12 COMPARTMENT QUIK SELECT _ _ 10/2/2023

6809 REVEAL MOULDING CLIP QUIK-S _ _ 1/25/2023

6820 OIL DRAIN PLUG GASKET QUIK- _ _ 1/25/2023

6823 DISCONTINUED - PHIL. OVAL H _ _ 3/28/2013

6829 HONDA BODY HARDWARE
QUIK-SE _ _ 6/4/2023

6832 DISCONTINUED .-MAZDA BODY
H _ _ 2/15/2011

6837 HONDA BODY HARDWARE
QUIK-SE _ _ 2/17/2023

6843 VINYL INS. ELEC.TERMINAL QU _ _ 6/4/2023

6850 PHIL OVAL HD TS BLACK OXIDE _ _ 10/17/2022

6853 U.S. SPECIALTY SCREW QUIK-S _ _ 10/24/2022

6875 RETAINER QUIK-SELECT KIT _ _ 1/25/2023

6876 GM REVEAL MOULDING CLIPS
AN _ _ 6/21/2023

6878 COPPER SEALING WASHER
QUIK- _ _ 10/17/2022

69-03-50 COP CRUSH GSKT 50 BOX _ _ 4/24/2023

69-112 QUIK SELECT COMPARTMENT
BOX _ _ 5/1/2023

69-124 QUIK SELECT COMPARTMENT
BOX _ _ 11/2/2023

69-40-50 COP CRUSH GSKT 50 BOX _ _ 3/28/2019

6909 CHRYSLER NYLON NUTS
QUIK-SE _ _ 7/28/2021

6911 HONDA & ACURA RETAINERS &
R _ _ 1/31/2023

6922 TUBULAR FLAT "U" & "J" NUTS _ _ 9/8/2021

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

6925 DISCONTINUED - INTERNAL & E _ _ 8/2/2016

6926 DISCONTINUED - "E" TYPE RET _ _ 8/2/2016

6927 DISCONTINUED - COTTER PINS _ _ 8/2/2016

6929 VACUUM CAPS-KIT _ _ 6/30/2023

6932 DISCONTINUED - BLIND RIVETS _ _ 3/17/2021

6935 BMW CLIPS AND
FASTENERS-KIT _ _ 1/31/2023

6937 HYUNDIA & KIA CLIPS AND FAS _ _ 4/4/2023



6940 ASIAN BUMPER RETAINERS
QUIK _ _ 1/31/2023

6941 IMPORT FENDER RETAINERS
QUI _ _ 1/31/2023

70000 U.S.S. FASTENER CABINET ASS _ _ 9/18/2022

70000-E 5 SHELF CABINET (EMPTY) _ _ 9/28/2023

70100 1/4-20 X 1/2 CAP SCREW _ _ 7/13/2023

70101 1/4-20 X 3/4 CAP SCREW _ _ 7/13/2023

70102 1/4-20 X 1 CAP SCREW _ _ 7/13/2023

70103 1/4-20 X 1-1/4 CAP SCREW _ _ 7/13/2023

70104 1/4-20 X 1-1/2 CAP SCREW _ _ 7/13/2023

70105 1/4-20 X 2 CAP SCREW _ _ 7/13/2023

70106 5/16-18 X 3/4 CAP SCREW _ _ 7/15/2023

70107 5/16-18 X 1 CAP SCREW _ _ 7/14/2023

70108 5/16-18 X 1-1/4 CAP SCREW _ _ 7/15/2023

70109 5/16-18 X 1-1/2 CAP SCREW _ _ 7/14/2023

70110 5/16-18 X 1-3/4 CAP SCREW _ _ 7/13/2023

70111 5/16-18 X 2 CAP SCREW _ _ 7/15/2023

70112 5/16-18 X 2-1/2 CAP SCREW _ _ 7/13/2023

70113 5/16-18 X 3 CAP SCREW _ _ 7/13/2023

70114 3/8-16 X 3/4 CAP SCREW _ _ 7/13/2023

70115 3/8-16 X 1 CAP SCREW _ _ 7/14/2023

70116 3/8-16 X 1-1/4 CAP SCREW _ _ 7/15/2023

70117 3/8-16 X 1-1/2 CAP SCREW _ _ 7/15/2023

70118 3/8-16 X 1-3/4 CAP SCREW _ _ 7/13/2023

70119 3/8-16 X 2 CAP SCREW _ _ 7/15/2023

70120 3/8-16 X 2-1/4 CAP SCREW _ _ 7/13/2023

70121 3/8-16 X 2-1/2 CAP SCREW _ _ 7/15/2023

70122 3/8-16 X 3 CAP SCREW _ _ 7/15/2023

70123 7/16-14 X 1 CAP SCREW _ _ 7/13/2023

70124 7/16-14 X 1-1/4 CAP SCREW _ _ 7/13/2023

70125 7/16-14 X 1-1/2 CAP SCREW _ _ 7/13/2023

70126 7/16-14 X 2 CAP SCREW _ _ 7/13/2023

70127 7/16-14 X 2-1/2 CAP SCREW _ _ 7/13/2023

70128 1/2-13 X 1-1/2 CAP SCREW _ _ 7/13/2023

70129 1/2-13 X 2 CAP SCREW _ _ 7/13/2023

70130 1/2-13 X 2-1/2 CAP SCREW _ _ 7/13/2023

70131 1/2-13 X 3 CAP SCREW _ _ 7/13/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

70132 1/4-20 HEX NUT _ _ 7/15/2023

70133 5/16-18 HEX NUT _ _ 7/14/2023

70134 3/8-16 HEX NUT _ _ 7/15/2023

70135 7/16-14 HEX NUT _ _ 7/14/2023

70136 1/2-13 HEX NUT _ _ 7/15/2023

70137 1/4 LOCK WASHER _ _ 7/13/2023



70138 5/16 LOCK WASHER _ _ 7/13/2023

70139 3/8 LOCK WASHER _ _ 7/15/2023

70140 7/16 LOCK WASHER _ _ 7/13/2023

70141 1/2 LOCK WASHER _ _ 7/13/2023

70142 1/4 SAE WASHER _ _ 7/15/2023

70143 5/16 SAE WASHER _ _ 7/15/2023

70144 3/8 SAE WASHER _ _ 7/15/2023

70145 7/16 SAE WASHER _ _ 7/14/2023

70146 1/2 SAE WASHER _ _ 7/15/2023

70147 1/4 USS WASHER _ _ 7/13/2023

70148 5/16 USS WASHER _ _ 7/13/2023

70149 3/8 USS WASHER _ _ 7/14/2023

70150 7/16 USS WASHER _ _ 7/13/2023

70151 1/2 USS WASHER _ _ 7/13/2023

70152 1/16 X 1 COTTER PIN _ _ 7/13/2023

70153 3/32 X 1 COTTER PIN _ _ 7/13/2023

70154 3/32 X 1-1/2 COTTER PIN _ _ 7/13/2023

70155 1/8 X 1-1/2 COTTER PIN _ _ 7/15/2023

70156 1/8 X 2 COTTER PIN _ _ 7/13/2023

70157 5/32 X 1-1/2 COTTER PIN _ _ 7/13/2023

70158 5/32 X 2 COTTER PIN _ _ 7/13/2023

70159 3/16 X 2 COTTER PIN _ _ 7/13/2023

71-42-50 ALUM GASKETS 71-42 50 BOX _ _ 3/28/2019

71-61S-50 ALUM GASKETS 71-61S 50 BOX _ _ 6/24/2019

71000 METRIC FASTENER CABINET
ASS _ _ 10/17/2022

71101 M5-.80 X 12MM CAP SCREW _ _ 7/13/2023

71102 M5-.80 X 25MM CAP SCREW _ _ 7/13/2023

71103 M6-1.0 X 10MM CAP SCREW _ _ 7/15/2023

71104 M6-1.0 X 12MM CAP SCREW _ _ 7/15/2023

71105 M6-1.0 X 16MM CAP SCREW _ _ 7/15/2023

71106 M6-1.0 X 20MM CAP SCREW _ _ 7/14/2023

71107 M6-1.0 X 25MM CAP SCREW _ _ 7/14/2023

71108 M6-1.0 X 30MM CAP SCREW _ _ 7/15/2023

71109 M6-1.0 X 40MM CAP SCREW _ _ 7/13/2023

71110 M6-1.0 X 45MM CAP SCREW _ _ 7/13/2023

71111 M8-1.25 X 12MM CAP SCREW _ _ 7/13/2023

71112 M8-1.25 X 16MM CAP SCREW _ _ 7/15/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

71113 M8-1.25 X 20MM CAP SCREW _ _ 7/14/2023

71114 M8-1.25 X 25MM CAP SCREW _ _ 7/14/2023

71115 M8-1.25 X 30MM CAP SCREW _ _ 7/14/2023

71116 M8-1.25 X 35MM CAP SCREW _ _ 7/15/2023

71117 M8-1.25 X 40MM CAP SCREW _ _ 7/15/2023

71118 M8-1.25 X 45MM CAP SCREW _ _ 7/15/2023



71119 M8-1.25 X 50MM CAP SCREW _ _ 7/15/2023

71120 M8-1.25 X 60MM CAP SCREW _ _ 7/13/2023

71121 M8-1.25 X 75MM CAP SCREW _ _ 7/13/2023

71122 M10-1.5 X 20MM CAP SCREW _ _ 7/13/2023

71123 M10-1.5 X 25MM CAP SCREW _ _ 7/15/2023

71124 M10-1.5 X 30MM CAP SCREW _ _ 7/15/2023

71125 M10-1.5 X 35MM CAP SCREW _ _ 7/14/2023

71126 M10-1.5 X 40MM CAP SCREW _ _ 7/15/2023

71127 M10-1.5 X 50MM CAP SCREW _ _ 7/14/2023

71128 M10-1.5 X 60MM CAP SCREW _ _ 7/14/2023

71129 M10-1.5 X 70MM CAP SCREW _ _ 7/15/2023

71130 M5-.80 HEX NUT _ _ 7/13/2023

71131 M6-1.0 HEX NUT _ _ 7/15/2023

71132 M8-1.25 HEX NUT _ _ 7/14/2023

71133 M10-1.5 HEX NUT _ _ 7/15/2023

71134 5MM LOCK WASHER _ _ 7/13/2023

71135 6MM LOCK WASHER _ _ 7/13/2023

71136 8MM LOCK WASHER _ _ 7/15/2023

71137 10MM LOCK WASHER _ _ 7/14/2023

71138 5MM FLAT WASHER _ _ 7/13/2023

71139 6MM FLAT WASHER _ _ 7/15/2023

71140 8MM FLAT WASHER _ _ 7/14/2023

71141 10MM FLAT WASHER _ _ 7/15/2023

71142 DISCONTINUED - 2MM X 20MM
C _ _ 12/10/2018

71143 3MM X 25MM COTTER PIN _ _ 7/13/2023

71144 5MM X 45MM COTTER PIN _ _ 7/13/2023

71145 M8-1.25 X 35MM STUD _ _ 7/13/2023

71146 M8-1.25 X 45MM STUD _ _ 7/13/2023

71147 M8-1.0 X 40MM FINE CAP SCRE _ _ 7/13/2023

71148 M8-1.0 X 50MM FINE CAP SCRE _ _ 7/13/2023

71149 M10-1.0 X 30MM FINE CAP SCR _ _ 7/13/2023

71150 M10-1.0 X 50MM FINE CAP SCR _ _ 7/13/2023

71151 M10-1.25 X 20MM FINE CAP SC _ _ 7/13/2023

71152 M10-1.25 X 25MM FINE CAP SC _ _ 7/15/2023

71153 M10-1.25 X 30MM FINE CAP SC _ _ 7/15/2023

71154 M10-1.25 X 35MM FINE CAP SC _ _ 7/15/2023

71155 M10-1.25 X 40MM FINE CAP SC _ _ 7/15/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

71156 M10-1.25 X 50MM FINE CAP SC _ _ 7/15/2023

71157 M10-1.25 X 60MM FINE CAP SC _ _ 7/14/2023

71158 M8-1.00 FINE HEX NUT _ _ 7/13/2023

71159 M10-1.00 FINE HEX NUT _ _ 7/13/2023

71160 M10-1.25 FINE HEX NUT _ _ 7/15/2023

71161 2MM X 18MM COTTER PIN _ _ 7/13/2023



7185 DISCONTINUED -NO. 560 WELT _ _ 8/1/2011

72 BRASS UNION _ _ 6/1/2023

72-41BMM 14555C _ _ 1/28/2021

72-44BMM 14556 _ _ 6/1/2023

72B-9 72 COMPARTMENT BIN 9 DEEP ( _ _ 11/22/2021

73 BRASS UNION _ _ 8/1/2022

73-14BMM 11122 _ _ 1/28/2021

73257 22320-2E000 _ _ 10/2/2022

7340 DISCONTINUED - SIZE 1 GROM _ _ 11/16/2017

7341 DISCONTINUED - SIZE 2 GROM _ _ 6/29/2021

7342 SIZE 3 GROMMET SETTING DIE _ _ 9/1/2021

7343 SIZE 4 GROMMET SETTING DIE _ _ 12/1/2022

7344 SIZE 5 GROMMET SETTING DIE _ _ 8/1/2022

7350 DISCONTINUED - NO. 5 SIZE G _ _ 3/29/2021

74-24BMM 11564 _ _ 2/15/2022

74-25-500 SPEC GSKT/PLUGS 500/BAG _ _ 7/2/2019

74-26BMM 11566 _ _ 3/4/2021

74-44BMM 12502 _ _ 1/20/2024

74-44KNB SPEC GSKTS/PLUG 74-44 & 70- _ _ 1/20/2024

74-50BMM SPEC GSKT/PLUGS 3/BAG _ _ 3/28/2019

74-54BMM 80046 _ _ 1/28/2021

74-56BMM 80047 _ _ 1/28/2021

74-60BMM 80044 _ _ 1/28/2021

74-80BMM 80048 _ _ 1/28/2021

74-98BMM 18101 _ _ 1/28/2021

74-99BMM 18102 _ _ 11/2/2021

74-99KB SPEC GSKTS/PLUG 74-99/74-00 _ _ 7/3/2023

7417 DISCONTINUED - NO. 40 NICKE _ _ 2/19/2018

7423 DISCONTINUED -DIAC-NO. 46 F _ _ 6/30/2011

7432 NO. 450 EYELET PUNCH _ _ 10/2/2023

75-15GBMM FIBER GASKETS 25/BAG _ _ 3/28/2019

75-39BOX50 FIBER GASKETS 75-39 50 BOX _ _ 3/28/2019

75-40GBMM 16554 _ _ 1/28/2021

7530 DISCONTINUED - CUSHION
SPRI _ _ 2/23/2012

7681 DISCONTINUED - STUD
FASTENE _ _ 4/3/2017

7683 DISCONTINUED - SOCKET
FASTE _ _ 8/24/2016

7684 DISCONTINUED - CLINCH PLATE _ _ 5/5/2015

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

769-97 COP CRUSH GSKT [69-97 10/BO _ _ 3/28/2019

7690 DIE _ _ 9/1/2022

7691 SNAP FASTENER TOOL _ _ 10/2/2022

77-03M OIL DRAIN PLUG _ _ 3/28/2019

77-17K-P OIL DRAIN PLUG 77-17 AND 76 _ _ 12/8/2020



77-30SBMM 11509 _ _ 1/28/2021

77-37BMM 19517 _ _ 10/2/2022

77-37K-AB OIL DRAIN PLUG 12MM X 1.50 _ _ 5/31/2022

77-37KB OIL DRAIN PLUG 12MM X 1.50 _ _ 10/2/2022

77-39K-P OIL DRAIN PLUG 16.4MM X 1.3 _ _ 12/8/2020

77-39KN OIL DRAIN PLUG 77-39 (16.4M _ _ 3/28/2019

77-40K-P OIL DRAIN PLUG 20MM X 1.50 _ _ 12/8/2020

77-44BMM 19531 _ _ 1/28/2021

770-01S NYLON GASKETS [70-01S 10/BO _ _ 3/28/2019

770-15S NYLON GASKETS [70-15S 10/BO _ _ 3/28/2019

770-25S NYLON GASKETS [70-25S 10/BO _ _ 3/28/2019

771-25 ALUM GASKETS _ _ 6/24/2019

771-38 ALUM GASKETS [71-38 10/BOX] _ _ 3/28/2019

771-39 ALUM GASKETS [71-39 10/BOX] _ _ 3/28/2019

771-42 ALUM GASKETS [71-42 10/BOX] _ _ 1/11/2021

771-43 ALUM GASKETS [71-43 10/BOX] _ _ 3/28/2019

771-44 ALUM GASKETS [71-44 10/BOX] _ _ 3/28/2019

771-45 ALUM GASKETS [71-45 10/BOX] _ _ 3/28/2019

771-46 ALUM GASKETS [71-46 10/BOX] _ _ 3/28/2019

771-61S OIL DRAIN PLUGS [71-61S 10/ _ _ 3/28/2019

771-67 ALUM GASKETS [71-67 10/BOX] _ _ 3/28/2019

771-84 ALUM GASKETS [71-84 10/BOX] _ _ 3/28/2019

771-85 ALUM GASKETS [71-85 10/BOX] _ _ 3/28/2019

771-86 OIL DRAIN PLUGS [71-86 10/B _ _ 3/28/2019

771-87 ALUM GASKETS [71-87 10/BOX] _ _ 3/28/2019

771-88 ALUM GASKETS [71-88 10/BOX] _ _ 3/28/2019

771-92 ALUM GASKETS [71-92 10/BOX] _ _ 3/28/2019

771-96 OIL DRAIN PLUGS [71-96 10/B _ _ 3/28/2019

771-97 ALUM GASKETS [71-97 10/BOX] _ _ 3/28/2019

771-98 ALUM GASKETS [71-98 10/BOX] _ _ 5/4/2021

772-01 COP GSKTS (NC) [72-01 10/BO _ _ 3/28/2019

772-25 COP GSKTS (NC) [72-25 10/BO _ _ 6/24/2019

772-39X COP GSKTS (NC) [72-39X 10/B _ _ 3/28/2019

772-40 COP GSKTS (NC) [72-40 10/BO _ _ 3/28/2019

772-42 COP GSKTS (NC) [72-42 10/BO _ _ 3/28/2019

773-01 OIL DRAIN PLUGS _ _ 3/28/2019

773-10 PIPE PLUGS [73-10/10 BOX] _ _ 3/28/2019

773-12 PIPE PLUGS [1/2 DIFF PLUG] _ _ 3/28/2019

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

773-14 PIPE PLUGS [73-14 3/4 PP 1 _ _ 3/28/2019

773-16 PIPE PLUGS 3/8\ PIPE PLUG _ _ 3/28/2019

773-34 PIPE PLUGS 3/4 PIPE PLUG [ _ _ 9/8/2022

773-99S OIL DRAIN PLUGS _ _ 3/28/2019

7731 DISCONTINUED - WINDSHIELD
R _ _ 6/13/2018



774-06 SPEC GSKT/PLUGS [74-06 10/B _ _ 3/28/2019

774-10S SPEC GSKT/PLUGS [74-10S 10/ _ _ 3/28/2019

774-13 SPEC GSKT/PLUGS [74-13 10/B _ _ 3/28/2019

774-14 SPEC GSKT/PLUGS [74-14 10/B _ _ 3/28/2019

774-15 SPEC GSKT/PLUGS [74-15 10/B _ _ 3/28/2019

774-25 SPEC GSKT/PLUGS TOYOTA [74- _ _ 7/2/2019

774-98 OIL DRAIN PLUGS _ _ 3/28/2019

775-01G FIBER GASKETS [75-01G 10/BO _ _ 3/28/2019

775-15G FIBER GASKETS [75-15G 10/BO _ _ 3/28/2019

775-25G FIBER GASKETS [75-25G 10/BO _ _ 3/28/2019

775-42G FIBER GASKETS [75-42G 10/BO _ _ 3/28/2019

7767 MAGNETIC CHUCK FOR 1/4 HEX _ _ 1/2/2023

777-16M OIL DRAIN PLUG 1/2-20 MAGNR _ _ 3/28/2019

777-17 OIL DRAIN PLUG [77-17 + 75- _ _ 3/28/2019

777-29S OIL DRAIN PLUG [77-29S/10 + _ _ 3/28/2019

777-30S OIL DRAIN PLUG 77-30S / 75- _ _ 3/28/2019

777-41 OIL DRAIN PLUG 77-41 10 BOX _ _ 10/18/2023

777-44 OIL DRAIN PLUGS _ _ 3/28/2019

77731S OIL DRAIN PLUG 77-31S 10/BO _ _ 3/28/2019

778-01 OIL DRAIN PLUG [78-01 + 75- _ _ 3/28/2019

778-04 OIL DRAIN PLUG [14MM-1.50 D _ _ 3/28/2019

778-15 OIL DRAIN PLUG [78-15 + 75- _ _ 3/28/2019

778-15KV OIL DRAIN PLUGS _ _ 3/28/2019

778-17 OIL DRAIN PLUG [78-17 + 75- _ _ 3/28/2019

778-25KN OIL DRAIN PLUG 78-25 70-25 _ _ 6/28/2019

778-25KV OIL DRAIN PLUGS _ _ 6/28/2019

778-26 OIL DRAIN PLUG _ _ 10/18/2023

778-27 OIL DRAIN PLUG 10 BOX [78-2 _ _ 10/18/2023

778-49 OIL DRAIN PLUG 58-55/70-25 _ _ 3/28/2019

778-53 OIL DRAIN PLUG 78-53/75-53 _ _ 3/28/2019

778-54 OIL DRAIN PLUGS _ _ 3/28/2019

778-55KA OIL DRAIN PLUG [78-55 + 71- _ _ 6/28/2019

778-57 OIL DRAIN PLUG 10 BOX [78-5 _ _ 3/28/2019

778-68 OIL DRAIN PLUG [12MM-1.75 G _ _ 10/18/2023

778-69 OIL DRAIN PLUG [78-69 10/B0 _ _ 10/18/2023

778-70 OIL DRAIN PLUG 10 BOX [78-7 _ _ 10/18/2023

778-71 OIL DRAIN PLUG 10 BOX [78-7 _ _ 3/28/2019

778-72 OIL DRAIN PLUG 10 BOX [78-7 _ _ 3/28/2019

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

778-80 OIL DRAIN PLUG [78-80/78-00 _ _ 10/18/2023

778-81 OIL DRAIN PLUG 78-81/78-00/ _ _ 3/28/2019

778-82 OIL DRAIN PLUG [78-82/78-00 _ _ 3/28/2019

78-01MK OIL DRAIN PLUG 14MM X 1.50 _ _ 12/8/2020

78-38M OIL DRAIN PLUG 78-38/MA8031 _ _ 12/8/2020



78-80KS OIL DRAIN PLUG 78-80/78-00 _ _ 12/8/2020

780-02 OIL DRAIN PLUG [78-17/10 + _ _ 3/28/2019

780-06 OIL DRAIN PLUG F6TZ-6730BA _ _ 10/18/2023

780-08K OIL DRAIN PLUGS 80-08 74-05 _ _ 6/28/2019

780-26 OIL DRAIN PLUG 80-26 10 BO _ _ 3/28/2019

780-38 OIL DRAIN PLUG [80-38 + 69- _ _ 10/18/2023

780-39 OIL DRAIN PLUGS _ _ 6/6/2022

780-45 OIL DRAIN PLUGS _ _ 3/28/2019

78039 OIL DRAIN PLUGS 80-39 10 BO _ _ 6/6/2022

782-25S OIL DRAIN PLUG _ _ 3/28/2019

782-28S FORGN PIPE PLUG _ _ 3/28/2019

79 DISCONTINUED
-DISCONTINUED _ _ 11/18/2008

79-15BMM 11504 _ _ 1/28/2021

79-21BMM 11505 _ _ 8/5/2022

7909 CONVERTIBLE PLIERS _ _ 10/7/2021

7955 DISCONTINUED - METRIC
GAUGE _ _ 9/18/2013

7976 FOLD UP HEX KEY SETS _ _ 8/1/2022

7977 FOLD UP HEX KEY SETS _ _ 8/1/2022

7982 DISCONTINUED - NOSE PIECE F _ _ 3/13/2017

7986 DISCONTINUED - RIVET GUN
NO _ _ 6/29/2021

7996 DISCONTINUED - KRIMPING TO _ _ 7/20/2020

7997 DISCONTINUED -KRIMPING
TOOL _ _ 7/5/2011

80-19BMM 11604 _ _ 1/28/2021

80-30BMM 11682 _ _ 1/28/2021

80-39BMM 11594C _ _ 6/6/2022

80-41KB OIL DRAIN PLUG [80-41 + 74- _ _ 9/28/2023

8011 DISCONTINUED - 10 X 1/2 IND _ _ 7/22/2016

8030 SLOTTED ROUND HEAD
MACHINE _ _ 8/1/2023

8036 DISCONTINUED - 1/4-20 X 2 _ _ 7/6/2021

8049 DISCONTINUED - 12 X 3/4 PHI _ _ 1/21/2015

8055 DISCONTINUED -12 X 1 PHIL _ _ 10/14/2011

8057 DISCONTINUED - 12 X 1 1/4 P _ _ 12/7/2012

8061 DISCONTINUED - 12 X 1 1/2 P _ _ 6/29/2021

8264 DISCONTINUED .-7/16 X 3 UNI _ _ 7/5/2011

8265 DISCONTINUED - 1/2 X 3 UNIV _ _ 12/20/2013

8334 DISCONTINUED - TUBULAR NUT _ _ 3/28/2013

8385 UNIVERSAL MOULDING
FASTENER _ _ 11/2/2023

8399 UNIVERSAL MOULDING
FASTENER _ _ 5/12/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

8445 SHIM 1/8 THK 1-3/4 X 1-1/4 _ _ 7/21/2021

8447 UNIVERSAL MOULDING _ _ 8/1/2023



FASTENER

8448 UNIVERSAL MOULDING
FASTENER _ _ 7/1/2023

8498 1/4 X 1 1/2 HAMMER LOCK COT _ _ 10/2/2022

8511 5/32 X 2 1/2 HAMMER LOCK CO _ _ 12/1/2022

8570 DISCONTINUED -BUMPER BOLT
& 3102 Discontinued 2/5/2024

8581 MOULDING FASTENER _ _ 7/1/2023

8586 DISCONTINUED -FLAT NUT 3/16 2426 REPLACEMENT FOR DISC
ITEM 12/23/2010

8589 8/32 X 1 1/2 SLTD RD HD MAC _ _ 4/1/2023

8621 7/8 X 15/16 X 1-3/4 SAE FLA _ _ 11/2/2022

8662 5/8 - 18 SAE FINISHED HEX N _ _ 5/2/2022

8679 DISCONTINUED - EXTERNAL
GRI _ _ 11/2/2018

8682 DISCONTINUED - EXTERNAL GR _ _ 6/29/2021

869-40 COP CRUSH GSKT 20MM
COPPER _ _ 3/28/2019

869-42 COP CRUSH GSKT 18MM
COPPER _ _ 10/18/2023

869-93 COP CRUSH GSKT 69-93
25/BOX _ _ 3/28/2019

869-96 COP CRUSH GSKT 69-96
25/BOX _ _ 3/28/2019

869-97 COP CRUSH GSKT 69-97
25/BAG _ _ 3/28/2019

8700 DISCONTINUED - EXTERNAL RE _ _ 6/29/2021

874-07 SPEC GSKTS/PLUG 74-07 25BAG _ _ 3/28/2019

874-08 SPEC GSKTS/PLUG 74-08 25/BO _ _ 10/18/2023

874-09 SPEC GSKTS/PLUG 74-09 25/BO _ _ 3/28/2019

874-12 SPEC GSKTS/PLUG [74-12/25 B _ _ 10/18/2023

874-40 SPEC GSKTS/PLUG [74-40/25 + _ _ 3/28/2019

874-54 SPEC GSKTS/PLUG [74-54/25 B _ _ 10/18/2023

874-56 SPEC GSKTS/PLUG [74-56 25/B _ _ 3/28/2019

874-60 SPEC GSKTS/PLUG 74-60 25/B _ _ 3/28/2019

874-80 SPEC GSKTS/PLUG 25 BOX [74- _ _ 3/28/2019

877-03 OIL DRAIN PLUG [77-03 / 75- _ _ 3/28/2019

877-15 OIL DRAIN PLUG 77-15/75-15 _ _ 10/18/2023

877-16 OIL DRAIN PLUG [1/2-20 D/P _ _ 3/28/2019

877-17 OIL DRAIN PLUG [77-17/25 + _ _ 10/18/2023

877-26SK OIL DRAIN PLUG [80-33/25 + _ _ 3/28/2019

877-39 OIL DRAIN PLUG [16.4MM-1.33 _ _ 3/28/2019

878-01 OIL DRAIN PLUG [78-01 + 75- _ _ 3/28/2019

878-02 OIL DRAIN PLUG 78-02 25/BOX _ _ 3/28/2019

878-05 OIL DRAIN PLUG 25 BOX [14MM _ _ 3/28/2019

878-15 OIL DRAIN PLUG [78-15 / 75- _ _ 3/28/2019

878-17-O OIL DRAIN PLUG _ _ 3/28/2019

878-26 OIL DRAIN PLUG [78-00/78-26 _ _ 3/28/2019

880-34 OIL DRAIN PLUG 80-34/75-27 _ _ 3/28/2019

8866 DISCONTINUED -PUSH-ON
RETAI _ _ 7/8/2011



8870 DISCONTINUED - 5/16-18 X 1- _ _ 5/5/2015

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

8871 DISCONTINUED -PAN-L-RIVETS 5749 100-Pack Substitute 6/29/2021

8871 DISCONTINUED -PAN-L-RIVETS 5748 500-Pack Substitute 6/29/2021

8875 PAN-L-RIVETS _ _ 6/16/2021

8884 PAN-L-RIVETS _ _ 6/4/2021

8896 PAN-L-RIVETS 8895 100-Pack Substitute 6/4/2021

8896 PAN-L-RIVETS 8897 1000-Pack Substitute 6/4/2021

8906 DISCONTINUED -PAN-L-RIVETS 8905 100-Pack Substitute 6/29/2021

8907 DISCONTINUED - PAN-L-RIVETS 8905 100-Pack Substitute 6/29/2021

8908 DISCONTINUED - PAN-L-RIVETS _ _ 6/29/2021

8909 DISCONTINUED - PAN-L-RIVETS _ _ 6/29/2021

8923 PAN-L-RIVETS 8922 100-Pack Substitute 7/5/2022

8924 PAN-L-RIVETS 8922 100-Pack Substitute 7/5/2022

8930 PAN-L-RIVETS 8929 500-Pack Substitute 6/4/2021

8930 PAN-L-RIVETS 8928 100-Pack Substitute 6/4/2021

8964 DISCONTINUED - 5/16-18 X 10 _ _ 3/23/2018

8999 DISCONTINUED - SPRING PINS _ _ 6/29/2021

9-D 9 DRAWER STORAGE CABINET _ _ 12/4/2023

90 DISCONTINUED - BRASS MALE E _ _ 7/19/2016

9003 SPRING PINS 1/8 X 3/8 ZINC _ _ 6/4/2021

9027 SPRING PINS 7/32 X 5/8 ZINC _ _ 2/16/2022

9030 SPRING PINS 1/4 X 5/8 ZINC _ _ 8/1/2023

9047 DISCONTINUED -SPRING PINS _ _ 9/12/2011

9091 5/16 X 2 1/2 HEX HD LAG SCR _ _ 3/1/2023

9100 DISCONTINUED ONTINUED 3/8 _ _ 6/29/2021

9111 DISCONTINUED - HAIR PIN RET _ _ 5/5/2015

9113 DISCONTINUED - HAIR PIN RET _ _ 3/12/2013

9229 DISCONTINUED ONTINUED 8/18 _ _ 6/5/2020

9252 NYLON TUBE CLAMP _ _ 3/4/2022

9288WCA SUPERSEDED BY 9288 PLASTI _ _ 5/18/2021

9316 DISCONTINUED -PAN-L-DRILLS 13041 REPLACEMENT FOR DISC
ITEM 12/15/2008

9322 DISCONTINUED -EXPANSION
PLU _ _ 12/7/2010

94-10X WASHERS/MISC 13-10X 1 15-1 _ _ 1/31/2022

9426 DISCONTINUED - WIRE CLIP _ _ 9/18/2013

9434 DISCONTINUED -1/4 X 1 X 1 1 9433 REPLACEMENT FOR DISC
ITEM 11/1/2010

9436 DISCONTINUED - 5/16 X 1 X 1 _ _ 6/29/2021

9439 DISCONTINUED -5/16 X 1 5/8 _ _ 11/1/2010

9442 DISCONTINUED - 3/8 X 1 1/16 _ _ 9/21/2022

9445 DISCONTINUED - 3/8 X 1 5/8 _ _ 10/22/2012

9463 DISCONTINUED - DRIVE RIVETS _ _ 8/5/2015

9469 DISCONTINUED - NYLON
BUSHIN _ _ 1/3/2018



9477 MOULDING FASTENER _ _ 7/1/2023

9503 DISCONTINUED - 3/8 X 5 CARR _ _ 3/2/2016

9521 5/8-11 X 1 1/2 GA. 5 CAP SC _ _ 7/5/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

9523 5/8-11 X 2 1/2 GR. 5 CAP SC _ _ 3/1/2023

9529 DISCONTINUED - 5/8-18 X 2 G _ _ 6/29/2021

9578 12 X 2 PHIL FLAT HD WOOD SC _ _ 8/1/2022

9581 14 X 1 1/2 PHIL FLAT HD WOO _ _ 8/2/2021

96 BRASS MALE BRANCH _ _ 8/1/2022

9636 DISCONTINUED - NYLON
STRAPS _ _ 5/4/2020

9678 DISCONTINUED - 5/16-1/2 SAE _ _ 4/5/2018

9685 DISCONTINUED - 3/8-3/4 SAE _ _ 6/29/2021

9694 DISCONTINUED - 3/8-1 SAE X _ _ 6/29/2021

9696 DISCONTINUED - 3/8-1 7/8 SA _ _ 6/29/2021

9697 DISCONTINUED - 7/16-3/4 SAE _ _ 12/20/2013

9709 DISCONTINUED - 7/16-7/8 SAE _ _ 6/29/2021

9732 1/2-2 SAE X 1/2-3/4 USS X 3 _ _ 4/4/2023

9743 DISCONTINUED - 5/8-1 SAE X _ _ 10/6/2014

9746 DISCONTINUED - 5/8-1 1/2 SA _ _ 3/12/2013

9748 DISCONTINUED - 3/4-1 9/16 U _ _ 11/10/2015

9759 DISCONTINUED - 1/4 X 1/4 X _ _ 6/29/2021

9774 DISCONTINUED - 5/16 X 5/16 _ _ 3/6/2017

9865 DISCONTINUED -WIRE LOOM
CLI _ _ 3/5/2009

9866 DISCONTINUED - BALL JOINT A _ _ 3/1/2017

9867 DISCONTINUED -BALL JOINT AS 13582 REPLACEMENT FOR DISC
ITEM 4/16/2012

9868 DISCONTINUED -BALL JOINT AS _ _ 8/4/2005

9872 DISCONTINUED -BALL JOINT AS _ _ 3/22/2005

9873 DISCONTINUED -BALL JOINT AS _ _ 9/9/2004

9884 LAMP ASSEMBLY _ _ 10/2/2023

9885 LAMP ASSEMBLY _ _ 11/2/2023

9892 HAIR PIN COTTERS _ _ 4/4/2023

9894 HAIR PIN COTTERS _ _ 5/1/2023

9900L2 SUPERSEDED BY 9900 (LA)SN _ _ 8/25/2016

9901L2 SUPERSEDED BY 9901 (LA)SN _ _ 1/23/2017

9921 DISCONTINUED - SEAT BACK
BU _ _ 11/6/2013

9986 DISCONTINUED - PLASTIC SCRE _ _ 1/8/2016

9994 LAG SCREW SHIELDS _ _ 9/1/2021

9999 DISCONTINUED - MACHINE
SCRE _ _ 1/8/2016

AIG-2 DISCONTINUED -AUVECOPAK
IDE _ _ 11/5/2020

AP-A128 AUVECOPAK ASSORTMENT (128
I _ _ 9/29/2023

AP-AB256S AUVECOPAK ASSORTMENT (256 _ _ 9/29/2023



I

AP10047 DISCONTINUED -AUVECOPAK
8-3 _ _ 4/25/2023

AP11848 DISCONTINUED - CHRYSLER
HEA _ _ 3/20/2013

AP12660 DISCONTINUED - BUMPER BOLT _ _ 9/21/2022

AP16247 DISCONTINUED - WELL NUTS, M _ _ 1/14/2013

AP448L AUVECOPAK MERCHANDISER
(672 _ _ 10/13/2022

AP448L-AFG-LABOR/MATERIALS DISCONTINUED - AFG LABOR/D _ _ 4/25/2020

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

AP448S AUVECOPAK MERCHANDISER
(448 _ _ 2/1/2022

ATHD0101 ATHLETIX DISINFECTANT WIPES _ _ 7/7/2022

ATHD0201 ATHLETIX DISINFECTANT WIPES _ _ 7/7/2022

AV-200-2 DISCONTINUED -PULL RODS _ _ 2/9/2009

B24A Auveco Pk Ind Bulb # 24A ( _ _ 6/1/2023

B3893 MINIATURE BULB NO. 3893 _ _ 9/1/2022

B64113 MINIATURE BULB NO. 64113 _ _ 10/2/2022

B64150ULT HALOGEN BULB NO. 64150ULT _ _ 10/2/2022

B64193ULT HALOGEN BULB NO. 64193ULT _ _ 9/1/2022

B64210ULT HALOGEN BULB NO. 64210ULT _ _ 10/2/2022

B6438 MINIATURE BULB NO. 6438 _ _ 9/1/2022

B6461 MINIATURE BULB NO. 6461 _ _ 9/1/2022

B7515 MINIATURE BULB NO. 7515 _ _ 2/1/2023

B885 Auveco Pk # 885 Bulb 50 Wat _ _ 5/5/2023

BAG01 POLYBAG 5" W x 10" L x �" H _ _ 5/2/2022

BAG02 POLYBAG 4" W x 16" L x 1" H _ _ 5/2/2022

BHM-FLYER BODY HARDWARE FLYER _ _ 9/26/2023

BUSINESS CARDS CUSTOM PRINTED BUSINESS
CAR _ _ 9/28/2023

C69-40 COP CRUSH GSKT 100 BAG
[20M _ _ 3/28/2019

C69-93 COP CRUSH GSKT [69-93/100 B _ _ 3/28/2019

C69-98 COP CRUSH GSKT [69-98 100/B _ _ 3/28/2019

C70-15 NYLON GASKETS [70-15/100 BO _ _ 3/28/2019

C70-15S NYLON GASKETS [70-15S 100/B _ _ 3/28/2019

C70-25S NYLON GASKETS [12MM
DOUBLE _ _ 3/28/2019

C70-39 NYLON GASKETS [70-39/100 BO _ _ 3/28/2019

C70-39X NYLON GASKETS [NYLON
GASKET _ _ 3/28/2019

C70-40 NYLON GASKETS [70-40/100 BO _ _ 3/28/2019

C70-49 NYLON GASKETS [7/16 NYLON
G _ _ 3/28/2019

C71-38 ALUM GASKETS [71-38/100 BOX _ _ 11/5/2020

C71-39 ALUM GASKETS [71-39/100 BOX _ _ 3/28/2019

C71-40 ALUM GASKETS [71-40 100/BOX _ _ 3/28/2019

C71-42 ALUM GASKETS 18MM _ _ 3/28/2019



ALUMINUM

C71-50 ALUM GASKETS [71-50 100/BOX _ _ 3/28/2019

C72-15 COP GSKTS (NC) [1/2 COPPER _ _ 3/28/2019

C72-39X COP GSKTS (NC) [72-39X 100/ _ _ 3/28/2019

C72-40 COP GSKTS (NC) [72-40/100 B _ _ 3/28/2019

C72-42 COP GSKTS (NC) [72-42/100 B _ _ 3/28/2019

C72-54 COP GSKTS (NC) [72-54/100 B _ _ 3/28/2019

C73-69S PIPE PLUGS 1/4 PIPE PLUG 1 _ _ 3/28/2019

C74-00 SPEC GSKTS/PLUG 100 BOX [74 _ _ 3/28/2019

C74-06 SPEC GSKTS/PLUG 74-06 100/C _ _ 3/28/2019

C74-15 SPEC GSKTS/PLUG _ _ 3/28/2019

C75-01G FIBER GASKETS [75-01G/100 B _ _ 3/28/2019

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

C75-25S FIBER GASKETS [75-25S/100 B _ _ 3/28/2019

C75-26 FIBER GASKETS [1/2 SINGLE O _ _ 3/28/2019

C75-27 FIBER GASKETS [75-27 100/BO _ _ 3/28/2019

C75-30 FIBER GASKETS 75-30 100/BOX _ _ 3/28/2019

C75-32 FIBER GASKETS [75-32 100/BO _ _ 3/28/2019

C75-40 FIBER GASKETS [20MM FIBER G _ _ 3/28/2019

C75-40G FIBER GASKETS [75-40G/100 B _ _ 3/28/2019

C75-41 FIBER GASKETS [75-41/100 BO _ _ 3/28/2019

C75-42 FIBER GASKETS [75-42 100/BO _ _ 3/28/2019

C75-42G FIBER GASKETS [18MM
SYNTHET _ _ 3/28/2019

C75-42S FIBER GASKETS [75-42S/100 B _ _ 3/28/2019

C75-44 FIBER GASKETS [75-44 100/BO _ _ 3/28/2019

C75-98 FIBER GASKETS 75-98 100/BOX _ _ 3/28/2019

C76-25 POLY GASKETS 76-25 100 BOX _ _ 6/28/2019

C76-42 POLY GASKETS 76-42 100/BOX _ _ 3/28/2019

C77-03 OIL DRAIN PLUG _ _ 3/28/2019

C7703 OIL DRAIN PLUG _ _ 1/26/2021

C7716 OIL DRAIN PLUG 77-16 1/2 X _ _ 3/28/2019

C78-17 OIL DRAIN PLUG [78-17 + 75- _ _ 3/28/2019

C7802 OIL DRAIN PLUG 78-02 14MM X _ _ 3/28/2019

CALENDAR AUVECO WALL CALENDAR _ _ 9/26/2023

CFC-1 DISCONTINUED - CARQUEST
BOD _ _ 9/21/2022

COMP-SUP COMPLETE SUPPLEMENTS-ALL
NE _ _ 9/26/2023

CQ17098 CQ 2500 pc PHIL TRUSS HD LI _ _ 2/16/2023

CQ192 CARQUEST AUVECOPAK
MERCHAND _ _ 9/7/2023

CQ192-AFG-LABOR/MATERIALS DISCONTINUED -AFG
LABOR/DIS _ _ 9/18/2008

CQ96 DISCONTINUED -CARQUEST
CANA _ _ 5/4/2020

CTN265 24.375x9.25x3.375 RSC KRAFT _ _ 9/26/2023

CTN652 #652 CARTON _ _ 9/26/2023



CTN652-LINER LINER FOR 652 _ _ 9/26/2023

CTNFASTENALKIT FASTENAL KIT OVERPAK 29-1/8 _ _ 8/19/2022

CTNLKIT-LINER LARGE KIT LINER _ _ 8/19/2022

CTNMKIT-LINER MEDIUM KIT LINER _ _ 8/19/2022

CTNSKIT-LINER SMALL KIT LINER _ _ 9/26/2023

DB-0 DISCONTINUED -DISPLAY
BOARD _ _ 11/5/2020

DB-420-0 DISPLAY BOARD BINDER FOR
#D _ _ 10/15/2021

DB-420-9 DISCONTINUED - DISPLAY
BOAR _ _ 9/19/2012

DB-425-1 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-2 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-3 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-4 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-5 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-6 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

DB-425-7 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-8 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425-9 DISCONTINUED - DISPLAY
BOAR _ _ 12/4/2015

DB-425L DISCONTINUED - BODY SHOP
BI _ _ 12/28/2016

DB-428-1 DISPLAY BOARD-BODY
HARDWARE _ _ 3/10/2022

DB-428-2 DISPLAY BOARD-BODY
HARDWARE _ _ 3/24/2022

DB-428-3 DISPLAY BOARD-BODY
HARDWARE _ _ 3/10/2022

DB-428-4 DISPLAY BOARD-BODY
HARDWARE _ _ 3/10/2022

DB-428-5 DISPLAY BOARD-BODY
HARDWARE _ _ 3/10/2022

DB-428-6 DISPLAY BOARD-BODY
HARDWARE _ _ 3/10/2022

DB-428-7 DISPLAY BOARD-BODY
HARDWARE _ _ 3/10/2022

DB-428-8 DISPLAY BOARDS DB-428-1 THR _ _ 3/10/2022

DB-428-9 DISPLAY BOARD DB-428-1
THRU _ _ 5/2/2022

DB-428L BODY SHOP BIN LABEL
ASSORTM _ _ 1/10/2024

DBLUEC-1CASE DISCONTINUED -DEEP BLUE
CON _ _ 7/16/2019

DFK-1 DEFROSTER-PRO REPAIR KIT _ _ 10/2/2023

DFK-2 DEFROSTER-PRO TAB BONDING
K _ _ 10/17/2022



DFK-3 DEFROSTER-PRO TAB AND
CONNE _ _ 2/1/2023

DFT-1 DEFROSTER-PRO REPLACEMENT
T _ _ 7/10/2023

DFT-2 DEFROSTER-PRO REPLACEMENT
T _ _ 4/1/2022

DFT-4 DEFROSTER-PRO REPLACEMENT
T _ _ 4/4/2022

DFT-5 DEFROSTER-PRO REPLACEMENT
T _ _ 7/1/2023

DFT-6 DEFROSTER-PRO REPLACEMENT
T _ _ 7/10/2023

DRAIN PLUG ASST DRAIN PLUG ASSORTMENT _ _ 11/5/2020

ECAT AUVECO ELECTRONIC CATALOG
O _ _ 9/26/2023

FAX FORM CUSTOMER FAX ORDER FORM _ _ 9/26/2023

FC-1 DISCONTINUED -BODY
HARDWARE _ _ 8/4/2015

FDB-8 DISCONTINUED - FASTENAL DI _ _ 6/4/2020

FLATBAG-10X20 FLAY POLY BAG 10x20 4MIL EL _ _ 9/26/2023

FLATBAG-12X20 FLAY POLY BAG 12X20 2MIL EL _ _ 9/26/2023

FLATBAG-20X20 FLAY POLY BAG 20X20 4MIL EL _ _ 9/26/2023

FLATBAG-20X30 FLAY POLY BAG 20X30 4MIL EL _ _ 9/26/2023

FLATBAG-6X20 FLAY POLY BAG 6x20 4MIL ELK _ _ 9/26/2023

FP-103 DISCONTINUED - PHIL OVAL HD _ _ 4/23/2013

FP-130 DISCONTINUED -SLOTTED HEX
W _ _ 2/27/2017

FP-169 J TYPE CAGE NUTS (28 PCS) _ _ 11/17/2023

FP-171 FLAT WASHER PLATED (200 PCS _ _ 4/20/2023

FP-177 DISCONTINUED .-DRAIN PLUG
W _ _ 2/15/2011

FP-178 SHIMS PLATED (75 PCS) _ _ 1/9/2023

FP-179 CASTER & CAMBER SHIMS (65 P _ _ 1/6/2023

FP-185 DISCONTINUED -HAMMER LOCK
C _ _ 2/27/2017

FP-190 DISCONTINUED - RETAINER PIN _ _ 3/28/2013

FP-194 GREASE FITTINGS-BALL CHECK _ _ 6/24/2022

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

FP-206 DISCONTINUED -WINDOW
REVEAL _ _ 2/27/2017

FP-226 DISCONTINUED - PHILLIPS PAN _ _ 5/8/2012

FP-228 DISCONTINUED -PHIL.OV.HD.SE _ _ 2/27/2017

FP-229 DISCONTINUED - PHIL OV.HD.S _ _ 5/8/2012

FP-236 DISCONTINUED - 4-PAK HEX
WA _ _ 8/23/2012

FP-239 DISCONTINUED - 4-PAK US FRE _ _ 5/8/2012

FP-245 DISCONTINUED - 4 PAK METRI _ _ 5/8/2012

FT-QS2500 DISCONTINUED - FT-QS2500 S _ _ 9/1/2011

FT-SCAN DISCONTINUED -Symbol SPT-15 _ _ 2/25/2011

G-ASST GASKET ASSORTMENT _ _ 4/9/2021

G-KIT GASKET ASSORTMENT _ _ 11/5/2020



G-KIT-II GASKET ASSORTMENT (25) _ _ 11/5/2020

GENO-CAT GENO CATALOGS CATALOGS SAME ITEM/QTY UNDER ALT
NUMBER 9/26/2023

GR-CAT NEW AUVECO "GREEN
CATALOG" _ _ 5/2/2022

GR-CAT-SUPP DISCONTINUED -GREEN
CATALOG _ _ 6/17/2020

GREEN-PL COMPLETE SUGGESTED NET
PRIC _ _ 9/26/2023

IMP7737K OIL DRAIN PLUG 77-37/74-08/ _ _ 10/2/2022

INDEX NEW ITEM BULLETIN INDEX _ _ 9/26/2023

INSTRUCTION SHEET INSTRUCTION SHEET _ _ 9/26/2023

KN95 KN95 PROTECTIVE MASK - NON- _ _ 5/1/2023

L-KT-LAB LARGE BLANK KIT LABELS-24 S _ _ 9/26/2023

L71-01S ALUM GASKETS 50/BOX [71-01S _ _ 3/28/2019

LAB-3/8X1-3/4 BLANK WHITE DIRECT THERMAL _ _ 9/26/2023

LAST-SUP LATEST SUPPLEMENT-PAGES
FRO _ _ 9/26/2023

LBWURTHMAST WURTH MASTER PACKAGE _ _ 9/26/2023

LITERATR LITERATURE _ _ 9/26/2023

M-KIT DRAIN PLUG & GASKET
ASSORTM _ _ 5/31/2022

M-KIT-IV OIL DRAIN PLUG ASSORTMENT _ _ 11/5/2020

M-KIT-OS OVERSIZE DRAIN PLUG KIT _ _ 11/5/2020

M-KITIII DRAIN PLUG AND GASKET
ASSOR _ _ 11/5/2020

M71-61S ALUM GASKETS 71-61S 1000
BO _ _ 3/28/2019

MISC-AUVECOTAPE 72MMx450 REINFORCED KRAFT
T _ _ 9/26/2023

MISC-MARLITAPE 72MMx450 REINFORCED KRAFT
T _ _ 9/26/2023

MM18017 OIL DRAIN PLUGS 80-17 1 BOX _ _ 3/28/2019

MM305 hb129 _ _ 1/13/2021

MM306 HEAD BOLT KIT 53-08(2), 53- _ _ 1/26/2021

MM319 HEAD BOLT KIT _ _ 3/28/2019

MM325 HEAD BOLT KIT _ _ 5/2/2023

MM327 HEAD BOLT KIT 53-27/10 + 13 _ _ 3/28/2019

MM331 HEAD BOLT KIT _ _ 3/28/2019

MM347 hb262 _ _ 1/13/2021

MM349 hb194 _ _ 1/13/2021

MM356K7 HEAD BOLT KIT _ _ 3/28/2019

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

MM359 HEAD BOLT KIT _ _ 6/1/2023

MM360 hb222 _ _ 1/13/2021

MM362 HEAD BOLT KIT _ _ 3/28/2019

MM363 HEAD BOLT KIT [53-62(10)+ 5 _ _ 3/28/2019

MM365 HEAD BOLT KIT _ _ 10/2/2022

MM366 hb182 _ _ 1/13/2021



MM370 hb191 _ _ 1/13/2021

MM371 hb212 _ _ 1/13/2021

MM372 hb192 _ _ 1/13/2021

MM373 hb193 _ _ 1/13/2021

MM374 HEAD BOLT KIT 53-74/10 PER _ _ 3/28/2019

MM386 hb243 _ _ 1/13/2021

MM396 hb206 _ _ 1/13/2021

MM404 HEAD BOLT KIT [54-04 (10) + _ _ 3/28/2019

MM407 hb224 _ _ 1/13/2021

MM409 hb236 _ _ 1/13/2021

MM412 hb148 _ _ 1/13/2021

MM448 hb256 _ _ 9/1/2021

MM453 hb284 _ _ 1/13/2021

MM546 HEAD BOLT KIT [55-45/4 + 55 _ _ 3/28/2019

MM550 HEAD BOLTS 55-50/5 + 55-51/ _ _ 3/28/2019

MM568 hb100 _ _ 1/31/2022

MM570 HEAD BOLTS 55-70/1, 55-73/3 _ _ 8/2/2021

MM581 HEAD BOLT KIT GM HEAD BOLT _ _ 3/28/2019

MM582 HEAD BOLTS 55-82/4 + 55-83/ _ _ 3/28/2019

MOBX0001 MAX-OFF WIPES DISPENSING
BO _ _ 7/7/2022

MOPP0002 MAX-OFF WIPES - 85%
ALCOHOL _ _ 7/7/2022

MOPP0003 MAX-OFF WIPES - VOC COMPLIA _ _ 7/7/2022

MOPP0004 MAX-OFF WIPES - 50%
ALCOHOL _ _ 7/7/2022

NIB-0215 DISCONTINUED -NEW ITEM
BULL _ _ 1/28/2015

PACKLISTPAPER AUVECO WAREHOUSE FORM
8.5" _ _ 9/26/2023

PRICEDSK DIST PRICE LIST ON DISK _ _ 9/26/2023

PROMOFLY PROMOTIONAL ITEMS AND
APPAR _ _ 9/26/2023

PROSPECT KIT PROSPECT KIT/SALES LITERATU _ _ 9/26/2023

QSII-FLYER QUIK-SELECT II FLYER _ _ 9/26/2023

RWM-6700BHM R.W. MALLON ASSORTMENTS _ _ 7/25/2023

RWM-6701BHM BHM ELECTRICAL TERMINALS _ _ 7/25/2023

RWM-6702BHM BHM WEATHERSTRIP
RETAINERS _ _ 7/25/2023

RWM-6703BHM BHM METRIC FASTENERS _ _ 7/25/2023

RWM-6704BHM BHM METRIC FASTENERS _ _ 7/25/2023

RWM-6705BHM BHM RIVETS _ _ 7/25/2023

RWM-6706BHM BHM RIVETS _ _ 7/25/2023

RWM-6707BHM BHM RIVETS _ _ 7/25/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

RWM-6708BHM BHM HOOD INS. RETAINERS _ _ 7/25/2023

RWM-6709BHM BHM PUSH-TYPE RETAINERS _ _ 7/25/2023

RWM-6710BHM BHM PUSH-TYPE RETAINERS _ _ 7/25/2023



RWM-6711BHM BHM PUSH-TYPE RETAINERS _ _ 7/25/2023

RWM-6712BHM BHM TRIM RETAINERS _ _ 7/25/2023

RWM-6713BHM BHM TAPPING SCREWS & "U"
NU _ _ 7/25/2023

RWM-6714BHM BHM FUSES _ _ 7/25/2023

RWM-6715BHM BHM LOOM CLIPS & SHRINK
TUB _ _ 7/25/2023

RWM-6716BHM BHM NYLON NUTS _ _ 7/25/2023

RWM-6717BHM BHM BOLT RET. & THREAD CUT _ _ 7/25/2023

RWM-6718BHM BHM SHIMS & COTTER PINS _ _ 7/25/2023

RWM-6719BHM BHM TAPPING SCREWS _ _ 7/25/2023

RWM-6720BHM BHM HOSE CLAMPS _ _ 7/25/2023

RWM-6721BHM BHM MINATURE BULBS _ _ 7/25/2023

RWM-6722BHM BHM MINATURE BULBS _ _ 7/25/2023

RWM-6723BHM BHM NUTSERTS _ _ 7/25/2023

RWM-6724BHM BHM RET. & MOULDING CLIPS _ _ 7/25/2023

RWM-6725BHM BHM FENDER CLIPS _ _ 7/25/2023

RWM-6726BHM BHM GRILLE CLIPS _ _ 7/25/2023

RWM-6727BHM BHM WIRE TIES _ _ 7/25/2023

RWM-6728BHM BHM HALOGEN BULBS _ _ 7/25/2023

RWM-B-4 BASE FOR 4-96 _ _ 7/25/2023

S-KT-LAB SMALL BLANK KIT LABELS-24 S _ _ 9/28/2023

S80000 SPLY PAT AMMONIA - BLUE RIB _ _ 9/26/2023

S80001 SPLY PUR BAB-O (24/CS) _ _ 9/26/2023

S80002 SPLY 5X20X002 CLEAR BAGS - _ _ 9/26/2023

S80003 SPLY 5 X 11 LIGHT DUTY BAG _ _ 9/26/2023

S80005 SPLY 5 X 5 STANDARD DUTY BA _ _ 9/26/2023

S80006 SPLY BLACKOUT - TAN SPRAY - _ _ 9/26/2023

S80007 SPLY 2-3/8 X 2-3/8 T.T. LAB _ _ 9/26/2023

S80008 SPLY 2-3/8 X 1-1/2 T.T. LAB _ _ 9/26/2023

S80009 SPLY SPEEDY DEGREASER 1 GAL _ _ 9/26/2023

S80010 SPLY BAGS - 6 X 6 .002 - ZI _ _ 9/26/2023

S80011 SPLY CAN LINER - 24 X 33 CL _ _ 9/26/2023

S80012 SPLY CAN LINER 40 X 48 - CL _ _ 9/26/2023

S80013 SPLY REGENCY TILE CLEANER 2 _ _ 9/26/2023

S80014 SPLY CONQ-R-DUST MOP
TREATM _ _ 9/26/2023

S80015 SPLY COPIER PAPER - 8-1/2 X _ _ 9/26/2023

S80016 SPLY COZY CUPS - PLASTIC - _ _ 9/26/2023

S80017 SPLY PADDED SELF SEAL ENV. _ _ 9/26/2023

S80018 SPLY PADDED SELF SEAL ENV. _ _ 9/26/2023

S80019 SPLY PADDED SELF SEAL ENV. _ _ 9/26/2023

S80020 SPLY REGENCY GLASS CLEANER _ _ 9/26/2023

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

S80021 SPLY TRUMP TOWEL MULTIFOLD _ _ 9/26/2023

S80022 SPLY LYSOL ORIGINAL SCENT - _ _ 9/26/2023



S80023 SPLY KRAFT PAPER _ _ 9/26/2023

S80024 SPLY BRILLO SCRUBBING PAD G _ _ 9/26/2023

S80025 SPLY 2.83 X 1.5 LASER LABEL _ _ 9/26/2023

S80026 SPLY 2.83 X 1 LASER LABEL ( _ _ 9/26/2023

S80027 SPLY 8.5 X 1 LASER LABEL (T _ _ 9/26/2023

S80028 SPLY LAVA SOAP _ _ 9/26/2023

S80029 SPLY MOP HEAD - WEB FOOT - _ _ 9/26/2023

S80030 SPLY 1199 DEXTRIN ADHESIVE _ _ 9/26/2023

S80031 SPLY 6 X 10-7/16 CHIPBOARD _ _ 9/26/2023

S80032 SPLY 9-1/4 X 13-7/16 CHIPBO _ _ 9/26/2023

S80033 SPLY 40 X 48 - 4 WAY RECON _ _ 9/26/2023

S80034 SPLY 25# - BROWN PAPER
BAGS _ _ 9/26/2023

S80035 SPLY RIBBONS - PRINTEK _ _ 9/26/2023

S80036 SPLY 4224 RIBBONS _ _ 9/26/2023

S80037 SPLY 5262 RIBBONS _ _ 9/26/2023

S80038 SPLY RIBBONS - SHEILA _ _ 9/26/2023

S80039 SPLY 12-1/16 X 18-3/16 CHIP _ _ 9/26/2023

S80040 SPLY ANTIBACTERIAL LOTION H _ _ 9/26/2023

S80041 SPLY RAGS - WASHRAGS (PRICE _ _ 9/26/2023

S80042 SPLY C-58 STAPLES _ _ 9/26/2023

S80043 SPLY GR158 STAPLES _ _ 9/26/2023

S80044 SPLY 18 X 1500 80 GA. STRET _ _ 9/26/2023

S80045 SPLY RAGS - MIXED (PRICE PE _ _ 9/26/2023

S80046 SPLY CENTRAL REINFORCED
TAP _ _ 9/26/2023

S80047 SPLY PREFERENCE TISSUE - WH _ _ 9/26/2023

S80048 SPLY BAGS - 8 X 8 .002 ZIP _ _ 9/26/2023

S80049 SPLY BAGS - 4 X 6 .002 ZIP _ _ 9/26/2023

S80050 SPLY URINAL BLOCK _ _ 9/26/2023

S80051 SPLY REGENCY TOILET BOWL CL _ _ 9/26/2023

S80052 SPLY HP SERIES II TONER _ _ 9/26/2023

S80053 SPLY H.P. SERIES 4 TONER _ _ 9/26/2023

S80054 SPLY DUST MOP TREATMENT - 1 _ _ 9/26/2023

S80055 SPLY CHICKEN BAG 8 X 4 X 18 _ _ 9/26/2023

S80056 SPLY TRIGGER SPRAYER 6 PK _ _ 9/26/2023

S80057 SPLY LABELS - 2-3/4X1-15/16 _ _ 9/26/2023

SDB-1 DISCONTINUED - SPANISH DIS _ _ 2/13/2014

SDB-10 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-11 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-12 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-13 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-2 DISCONTINUED - SPANISH DIS _ _ 2/13/2014

Auveco Discontinued Items
Item # Description Rpl Item Disc. Notes Date

SDB-3 DISCONTINUED - SPANISH DIS _ _ 2/13/2014



SDB-4 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-5 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-6 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-7 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-8 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SDB-9 DISCONTINUED - SPANISH DIS _ _ 2/14/2014

SPCL105 BULK ROUTING CLIP-1/4 _ _ 2/24/2023

SRK SEAL RITE KIT 2 TAPS TO 14M _ _ 12/1/2021

SRK12 1/2 SEAL RITE SYSTEM _ _ 5/21/2023

SUPP-GRN GREEN PRICE SHEETS FOR SUPP _ _ 9/26/2023

SUPP-WHT WHITE PRICE SHEETS FOR SUPP _ _ 9/26/2023

TEST12345 tesrtgh _ _ 7/25/2023

UNTPK-1145 GREEN CHIP BOARD CARTON _ _ 9/28/2022

V-875 DISCONTINUED - FENDER WELT _ _ 7/20/2020

XWEW0009 ATHLETIX CLEANER WIPES REFI _ _ 7/7/2022

XWEW0010 ATHLETIX CLEANER WIPES
BUCK _ _ 7/7/2022


